GJW - reviewed 11/22/2019

Estimate Documentation



Design ID(s) 1146-75-00 Construction ID(s) 1146-75-73 Est. Doc. Prepared for Draft PS&E Plans Est. Doc. Prepared By: Alan Farrell Preparer's Email: alan.farrell@dot.wi.gov Report finished on 10/28/2019

EXECUTIVE SUMMARY

Description of Proposed Work

Project 1146-75-73 is part of the STH 15 Majors Reconstruction project. This contract consists of grading, base, HMA pavement, concrete pavement, structures, culvert pipes, storm sewer, concrete curb and gutter, pavement marking, finishing, lighting and other work needed to complete the project. This portion of the STH 15 corridor will be constructed on alignment, so a detour and lane closures are expected for STH 15 and USH 45.

Type of Work -See FDM 3-5-2 for definitions. Select all that apply.

□ Resurfacing	⊠ Roadway Reconstruction	□ Bridge Rehabilitation
Reconditioning	🛛 Roadway Expansion	Bridge Replacement
Pavement Replacement	Bridge Reconstruction	\Box Other (Please explain)
	□ Bridge Expansion	

Comments: The project consists of expanding STH 15 from 2-lanes to 4-lanes. This portion consists of 2.95 miles of grading, aggregate placement, concrete pavement, HMA pavement, signing, pavement marking, structures C-44-0121, C-44-0122 and C44-0123, culvert pipes, storm sewer, concrete curb and gutter, lighting and all incidentials of the expansion project.

Similar Projects or Proposals – List similar project/proposal IDs and how they were referenced

Click here to enter text.

What comparable projects were used? Seems like the WIS 23 expansion projects in Sheboygan/Fond du Lac Counties are comparable.

Similar projects are probably the best source for Lump Sum and some EACH items (with QTY of 1) that are based on project type, scope, size, etc. and don't translate well in BidX (Field Office, Construction Staking, Traffic Control (Project), etc.).

General Comments:

-Significant Items are defined as the top 20% of items, so you should be listing about 50 significant items (20% of appx 250 items total). -This project will need an update when pulled off shelf for current prices/trends at that time. (Estimate still needs to be updated every 6 months while on shelf.) Also, keep an eye on the upcoming WIS 23 bid letting information to further refine unit prices. -Overall project estimate seems low/aggressive. May want to retain some amount of "uncertainty" as this could be shelved for a number of years (changes in specifications, materials, etc.).

Try to include more project-specific reasons in the individual item justification if possible - things such as length, width, county, source/ availability of materials, type of work, accessibility, etc. This shows (and documents) the engineering judgment beyond raw software data.

PROJECT CHARACTERISTICS

Schedule and Road User Costs

Let Date Anticipated Start Date Completion Date Working Days Calendar Days □ Interim completion date(s)	11/14/2023 3/18/2024 11/1/2024 121 229	 □ Lane rental □ Enhanced liquidated damages □ Interim liquidated damages □ Accelerated schedule □ Extraordinary forces expected
1 ()		Other (Please explain)

Comments: This project is expected to begin in early spring. The project will be broken into 2 stages, with stage 1 occurring on STH 15 under detour with local access maintained. Stage 2 will occur on USH 45 with a portion at the railroad crossing closed and under detour and a portion with lane closures.

Traffic Control		really in 2 stages? Doesn't work on WIS hile the US 45 detour is in place? I think
Primary Closure Type: Mainlin	ne Closure WIS 15 work of	continues throughout the entire project
Other Closures and Traffic Cont	rol Characteristics: overall project	5 closure occurs for a month within the
⊠ Mainline Closure	□ Complex/Unusual staging	Temp bike/pedestrian access
Shoulder or No Closure	Detour required	Temp concrete barrier
🛛 Continuous Lane Closure	Night work expected	used
Daily/Nightly Lane Closure	Peak hour restrictions	Temp/Crossover roadways
Moving Lane Closure	Limited work zone access	Temp structures

□ Temp traffic control signals

 \Box Other (Please Explain)

Number of stages: 2

□ Flagging Operation

Comments: The project will be broken into 2 stages, with stage 1 occurring on alignment and ending around mid-October. Stage 2 will occur under a full detour and lane closures until the project is finished

Construction Conflicts

	Aboveground utilities (existing to remain) Underground utilities (existing to remain)	 □ Hazardous materials ☑ Railroad coordination
□ Utility work concurrent with construction □ Archeological Monitor	Jtility work concurrent with construction	□ Archeological Monitor
□ Environmentally sensitive areas □ Other (Please explain)	Environmentally sensitive areas	□ Other (Please explain)

Comments: All Utilities are to be moved 1 year prior to LET.

Competition of Contractors

Expected Comp	petition	High (5 or n	more bidders)	
Comments: This is	a Majors project in NE Wis	consin. When this iot	b is LET no oth	ner maior grading iobs

are expected in this area, with that we expect to have a competitive bidding.

Other Considerations

Multiple mobilizations		Remote location
□ Multiple, dispersed work locations	coordination with other	□ Haul distance
□ Urban or ⊠ Rural	concurrent	☑ Current bid item trends
Constrained work environment	construction?	□ Material shortages
Adjacent projects		□ Other (Please explain)

Comments: This job is on alignment in a rural setting. Access to the job site is not expected to be difficult. Majority of work is earthwork, culverts, concrete paving, HMA paving and storm sewer. This project will a large quantity of borrow associated with it, so we are expecting the prices for Embankment and Excavation Common will be competitive.

ITEM LEVEL DOCUMENTATION

Significant Items List - Top 20% of items out of total contract costs and lump sum items

- 415.0090 Concrete Pavement 9-Inch.
- 205.0100 Excavation Common.
- 312.0110 Select Crushed Material.
- SPV.0035.01 Roadway Embankment.
- o 305.0120 Base Aggregate Dense 1 ¼-Inch.
- o 460.5224 HMA Pavement 4 LT 58-28 S.
- o 619.1000 Mobilization.
- o 205.0200 Excavation Rock.
- o 625.0500 Salvaged Topsoil.
- 305.0110 Base Aggregate Dense ³/₄-Inch.
- 628.2002 Erosion Mat Class I Type A.
- o 465.0120 Asphaltic Surface Driveways and Field Entrances

Non-Significant Item Summary – Summary of estimating methodology

Estimator was used for non-significant items that quantities fell between the 25th and 75th percentiles. Bidx.com was used if the quantities did not fall between these values.

Estimate Review Summary

Consultant Reviewer(s):

Region Reviewer(s):

Significant Items are determined by 20% of total items, not 80% of total cost. With about 250 items, you should be listing/justifying the top 50 items (only 12 listed here).

All Significant Items require a second source, so there will likely be additional BidX searches needed when this list is updated.

ESTIMATING TOOL PARAMETERS

Estimator Parameters

Source Catalog	2019
Work type	General Construction
Highway Type	EP - Expressway, Principal Arterial
Urban/Rural type	Rural November letting is actually defined as "Fall" in
Season	Winter the Estimator instructions
County	Outagamie
Region	NE

Comments: Click here to enter text.

Bid Express and Other Tool Parame	eters	2 years should be the maximum time for searching cost data -
Tool(s) Used: Bid Express		too much has changed to look any further back than that

County(s): Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac Date Range: 3-year Other Parameters: The typical quantity range was 50% to 150% of the plan quantity

Comments: The above parameters were the initial search parameters. Sometimes they had to be adjusted to get enough projects to populate. In that event, the search parameters used will be mentioned on the bid item. A few items like concrete, asphalt and

A few items like concrete, asphalt and pavement marking should be using only current calendar year if possible.

ATTACHMENTS

Attachments are optional and may be referenced in the above documentation.

☑ Unit Price Documentation printout with notes (Estimator, Q2P, Excel spreadsheets)

 \boxtimes Other Attachment(s)

Bidx.com search parameters and Estimator printout from Bureau of Structures (BOS)

Project Information

1146-75-73 STH 76 – New London CTH T / Givens Road – USH 45 Outagamie County

Project Manager: William Bertrand Designer: Alan Farrell PS&E date: 05/1/2023 Bid letting date: 11/14/2023

Executive Summary

Project 1146-75-73 is part of the STH 15 Majors Reconstruction project. This contract consists of grading, base, HMA pavement, concrete pavement, structures C-44-121, C-44-122 and C-44-123, culvert pipes, storm sewer, concrete curb and gutter, pavement marking, finishing, lighting and other incidental work needed to complete the project. This project is expected to begin in early spring. The project will be broken into 2 stages, with stage 1 occurring on STH 15 under detour with local access maintained. Stage 2 will occur on USH 45 with a portion at the railroad crossing closed and under detour and a portion with lane closures. There are concrete plants and quarries located close to the project site, so we expect competitive bid pricing for base aggregate and concrete. All structure bid items were estimated by the Wisconsin Department of Transportation, Bureau of Structures (BOS). The explanation from BOS is located under the Estimator printout from BOS.

Estimator Parameters

Work Type: General Construction Highway Type: Expressway, Principal Arterial Urban/ Rural Type: Rural Season: Winter Fall County: Outagamie District: Northeast Region

Unit Price Documentation

Below is a summary of the items that needed further bid price justification. All prices in estimator were rounded to reflect actual bid prices. All bidx.com searches were based off of 3-years of searches unless otherwise noted.

- Items outside of confidence range of regression curve The following Items had regression data in estimator, but the quantity range was outside of the 25th and the 75th percentiles. Prices for these items were obtained from Bidx.com, see Appendix B for the search criteria.
 - 201.0105 Clearing. Project quantity is 192 STA. I did a statewide search for projects that had similar quantities. The average unit cost after removing outlier bids was \$312.59 which I rounded to \$315.

Wrong item, should be 201.0205 - Unit price should be about \$200-\$215/STA. 201.0120 – Grubbing. Project quantity is 192 STA. I searched the surrounding counties. The average unit cost after removing outlier bids was \$17.61 which I rounded to \$20.

Why? Please

depending on

quantity. Keep

an eye on future

bid results from

complexity/

WIS 23 for

better info.

- 203.0100 Removing Small Pipe Culverts. Project quantity is 44 each. I searched the 0 surrounding counties for projects that used similar quantities and limited it to the low describe. bidder. The average low price was \$150.61 which I rounded to \$150.
- 0 204.0150 – Removing Curb & Gutter. Project quantity is 2843 LF. I searched the surrounding counties for projects that used similar quantities. I took the average of proposal averages for the projects and removed one outlier. The average price was \$2.79 which I rounded to \$2.80.
- 204.0155 Removing Concrete Sidewalk. Project quantity is 77 SY. I searched the \cap surrounding counties for projects that used similar quantities. I took the average of proposal averages for the projects. The average price was \$13.36 which I rounded to \$13.40.
- Wrong qty per 204.0170 – Removing Fence. Project quantity is 1393 LF. I did a statewide search for 0 estimator projects that had similar quantities. The average unit cost after removing outlier bids (guardrail?) was \$2.55 which I rounded to \$2.60.

price seems high.

204.0195 – Removing Concrete Bases. Project quantity is 3 each. I did a statewide search for projects that had similar quantities. The average unit cost was \$296.20 which WIS 23 projects I rounded to \$300. using combined price of \$8-\$9

204.0210 – Removing Manholes. Project quantity is 1 each. I searched the surrounding counties for projects that used similar quantities. I took the average of proposal averages for the projects. The average price was \$455.66 which I rounded to \$460. 205.0100 – Excavation Common. Project quantity is 241,799 CY. I combined the Excavation Common and Roadway Embankment quantities in BidEx for Outagamie County and surrounding counties. With the project quantity range, one project met the

parameters. The average price was \$8.31 which I rounded to \$8.50. I looked at project May be low when compared to WIS 1440-13-76 (STH 23) which had the Roadway Embankment item. The winning bid prices 23 project by combining the Excavation Common and Roadway Embankment was about 60% for

quantities (\$10 Excavation Common and 40% for Roadway Embankment. I used \$5.10 per cubic yard for combined?) Excavation Common and \$3.40 per cubic yard for Roadway Embankment. List as Similar Project

205.0200 – Excavation Rock. Project quantity is 45,581 CY. I did a statewide search for Seems low, projects with higher qty had projects of similar quantity. There was one project with a similar quantity. I removed higher price (\$8.50?) \$0.01 bids and one bid was \$7.50. I used \$7.50.

305.0110 – Base Aggregate Dense ¾-Inch. Project quantity is 11,775 Tons. I searched the surrounding counties for projects that used similar quantities and removed one outlier project. I took the average of proposal averages for the projects. The average price was \$16.36 which I rounded to \$13.50. Do you mean \$16.50/TON?

305.0120 – Base Aggregate Dense 1 ¼-Inch. Project quantity is 95,618 Tons. I searched the surrounding counties from projects that had similar quantities. I took the average of the two low bidders after removing the \$0.01 bid. The average price was \$8.09 which I rounded to \$8.10.

312.0110 – Select Crushed Material. Project quantity is 90,364 Tons. I did a statewide search for projects of similar quantity. I took the average of the bids after removing the outlier bids. The average price was \$10.49 which I rounded to \$10.50.)

460.5223 – HMA Pavement 3 LT 58-28 S. Project quantity is 1300 Tons. I searched the surrounding counties for projects that used similar quantities and limited the search to the two low bidders. The average was \$72.70 which I rounded to \$73.

460.5224 – HMA Pavement 4 LT 58-28 S. Project guantity is 9680 Tons. I searched the

surrounding counties for projects that used similar quantities within a one-year time

\$73 seems high, but \$63 might be too far on the low end.

Explanation doesn't correspond with what you did for common excav. Your search just for common excav shows \$8.31/CY but you say this is for common and embankment. Your range for common excav doesn't match the range for common excav on this project. What was the combined price for common and embankment on WIS 23? That might be a basis for your combined total on this project.

1 project is not enough to make a comparison. Look at my search with 13 comparable bids on 7 projects. \$7.50/CY looks okay but need a better search.

0

Only 2 projects used and one was from 2016. This is outdated. Statewide search gave 10 projects over last 2 years with unit price of \$9.00/TON.

Your search only used 2 projects. I found 10 projects and avg price of \$10.57/TON. I suggest rounding up to \$10.75/TON.

You searched 3 years back which is outdated for asphalt. I restricted search to 2 years and still found 5 comparable projects with price rounded to \$63/TON.

I would suggest only using data from 2019 for asphalt items. It seems like most of your asphalt prices are on the low end of the average, if there is a project-related reason, please document here.

This explanation doesn't match what you actually did. Your search was statewide, your avg price was \$105/ TON and you added \$20/TON because you couldn't find recent bids, and your unit price in the estimate is \$125/TON.

0

Your BidX data appears to be skewed by a project with 5 bidders. I would expect \$43-\$45. period and limited the search to the two low bidders. The average was \$61.55 which I rounded to \$62.

465.0120 – Asphaltic Driveways and Field Entrances. Project quantity is 1146 Tons. I searched the surrounding counties for projects that used similar quantities and limited the search to the two low bidders. The average was \$121.10 which I rounded to \$121.

- 465.0315 Asphaltic Flumes. Project quantity is 183 SY. I searched the surrounding counties from projects that had similar quantities. I took the average of the bids. The average price was \$37.62 which I rounded to \$38.
- 520.1018 Apron Endwalls for Culvert Pipe 18-Inch. Project quantity is 20 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$303.55 which I rounded to \$305.
 - 520.3318 Culvert Pipe Class III-A 18-Inch. Project quantity is 642 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$50.30 which I rounded to \$50.
- 522.0418 Culvert Pipe Reinforced Concrete Class IV 18-Inch. Project quantity is 656 LF.
 I did a statewide search for projects that had similar quantities. The average unit cost was \$39.96 which I rounded to \$40.
- 522.0424 Culvert Pipe Reinforced Concrete Class IV 24-Inch. Project quantity is 102 LF.
 I searched the surrounding counties for projects that used similar quantities and removed one outlier project. The average unit cost was \$74.54 which I rounded to \$75.
- 522.0436 Culvert Pipe Reinforced Concrete Class IV 36-Inch. Project quantity is 64 LF. I did a statewide search for projects that had similar quantities and removed one outlier bid. The average unit cost was \$135.03 which I rounded to \$135.
- 522.1012 Apron Endwalls for Culvert Pipe Reinforced Concrete 12-Inch. Project quantity is 9 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$803.30 which I rounded to \$805.
- 522.1042 Apron Endwalls for Culvert Pipe Reinforced Concrete 42-Inch. Project quantity is 2 Each. I searched the surrounding counties for projects that used similar quantities and removed a project with one outlier bid. The average unit cost of the proposal averages was \$1399.12 which I rounded to \$1400.
- 522.2629 Apron Endwalls for Culvert Pipe Reinforced Concrete Horizontal Elliptical 29x45-Inch. Project quantity is 3 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1696.12 which I rounded to \$1,700.
- 601.0553 Concrete Curb & Gutter 4-Inch Sloped 36-Inch Type D. Project quantity is 565 LF. I searched the surrounding counties for projects that used similar quantities and removed a project with an outlier bid. The average unit cost of the proposal averages was \$29.64 which I rounded to \$30.
- 601.0557 Concrete Curb & Gutter 6-Inch Sloped 36-Inch Type D. Project quantity is 1,844 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$17.20 which I used.
- 606.0100 Riprap Light. Project quantity is 731 CY. I did a statewide search for projects that had similar quantities and removed a project with outlier bids. The average unit cost of the proposal averages was \$42.17 which I rounded to \$42.
- 606.0200 Riprap Medium. Project quantity is 1053 CY. I did a statewide search for projects that had similar quantities and removed three projects with outlier bids. I also limited the search to the low 2 bidders. The average unit cost of the proposal averages was \$54.75 which I rounded to \$55.

Your data from prior to Fall 2017 showed very low prices and skewed your unit price. Limiting the search to the last 2 years increases this price to \$57/LF.

You only used 2 projects and one was from 2016. I used statewide search and found a larger group of projects in last two years showing an average price of \$0.75/SY.

WIS 23 using \$.65-\$.75. Add more discussion about production rates, etc.

Seems low, more recent projects listed have higher

value (avg \$65?).

- 608.0418 Storm Sewer Pipe Reinforced Concrete Class IV 18-Inch. Project quantity is 2062 LF. I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost was \$53.88 which I rounded to \$54.
- 611.0642 Inlet Covers Type MS. Project quantity is 20 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$379.11 which I rounded to \$380.
- 611.3003 Inlets 3-FT Diameter. Project quantity is 1 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1324.48 which I rounded to \$1325.
- 620.0300 Concrete Median Sloped Nose. Project quantity is 1070 SF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$8.51 which I rounded to \$8.50.
- 624.0100 Water. Project quantity is 1,503 MGAL. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$22.34 which I rounded to \$22.
- 625.0500 Salvaged Topsoil. Project quantity is 298,326 SY. I searched the surrounding counties for projects that used similar quantities and removed two outlier bids. The average unit cost was \$0.71 which I rounded to \$0.70.
- 628.1504 Silt Fence. Project quantity is 13,630 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1.95 which I rounded to \$2.00.
- 628.1905 Mobilizations Erosion Control. Project quantity is 15 Each. I searched the surrounding counties for projects that used similar quantities. I also limited the search to the low 2 bidders. The average unit cost of the proposal averages was \$227.15 which I rounded to \$230.
- 628.5505 Polyethylene Sheeting. Project quantity is 2192 SY. I did a statewide search for projects that had similar quantities. The average unit cost was \$2.91 which I rounded to \$2.90.
- 628.7504 Temporary Ditch Checks. Project quantity is 2250 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$7.24 which I rounded to \$7.20.

628.7515.S – Stone or Rock Ditch Checks. Project quantity is 495 CY. I did a statewide search for projects that had similar quantities. The average unit cost was \$48.66 which I rounded to \$49.

- 628.7555 Culvert Pipe Checks. Project quantity is 225 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$16.36 which I rounded to \$16.40.
- 628.7570 Rock Bags. Project quantity is 200 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$11 which I used.
- 629.0210 Fertilizer Type B. Project quantity is 188 CWT. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$49.71 which I rounded to \$50.
- 630.0120 Seeding Mixture No. 20. Project quantity is 7610 LB. I did a statewide search for projects that had similar quantities. The average unit cost was \$4.88 which I rounded to \$4.90.
- 630.0140 Seeding Mixture No. 40. Project quantity is 445 LB. I searched the surrounding counties for projects that used similar quantities and limited the search to the low 2 bidders. The average unit cost was \$9.61 which I rounded to \$9.60.

- 630.0200 Seeding Temporary. Project quantity is 1000 LB. I searched the surrounding counties for projects that used similar quantities and limited the search to the low 2 bidders. The average unit cost was \$2.30 which I used.
- 630.0300 Seeding Borrow Pit. Project quantity is 200 LB. I searched the surrounding counties for projects that used similar quantities and limited the search to the low 2 bidders. I also removed three projects with outlier bids. The average unit cost was \$5.30 which I used.

2016 and 2017 data skewing results (\$47?).

surrounding counties for \$16.13 which I rounded 643.0420 – Traffic Cont

previous item, estimator value of \$0.60 is ok.

- 633.5200 Markers Culvert End. Project quantity is 53 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$42.48 which I rounded to \$42.
- 637.2210 Signs Type II Reflective H. Project quantity is 987.57 SF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$16.13 which I rounded to \$16.10.

643.0420 – Traffic Control Barricades Type III. Project quantity is $\frac{10.1777}{17,767}$ Days. I searched the surrounding counties for projects that used similar quantities. The average unit cost was $\frac{16.13}{1000}$ which I rounded to $\frac{16.10}{1000}$.

- 643.0500 Traffic Control Flexible Tubular Marker Posts. Project quantity is 10 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$26.33 which I rounded to \$26.
- 643.0600 Traffic Control Flexible Tubular Marker Bases. Project quantity is 10 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$6.34 which I rounded to \$6.30.
- 643.0705 Traffic Control Warning Lights Type A. Project quantity is 26,688 Days. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$0.14 which I rounded to \$0.15.
- 643.0900 Traffic Control Signs. Project quantity is 44,139 Days. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$0.55 which I used.
- 645.0120 Geotextile Type HR. Project quantity is 2106 SY. I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost was \$2.95 which I rounded to \$3.
- 646.3020 Marking Line Epoxy 8-Inch. Project quantity is 207 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$2.06 which I rounded to \$2.10.
- 646.3545 Marking Line Grooved Wet Ref Contrast Epoxy 8-Inch. Project quantity is 9533 LF. I did a statewide search for projects that had similar quantities and I removed one outlier project. The average unit cost of the proposal averages was \$4.25 which I rounded to \$4.20.
- 646.5020 Marking Arrow Epoxy. Project quantity is 30 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$229.53 which I rounded to \$230.
- 646.5120 Marking Word Epoxy. Project quantity is 12 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$272.58 which I rounded to \$270.

2019 data suggests average price over \$10.00 646.7120 – Marking Diagonal Epoxy 12-Inch. Project quantity is 960 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$8.6 which I used.

- 646.8120 Marking Curb Epoxy. Project quantity is 770 LF. I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost was \$7.00 which I used.
- 646.8220 Marking Island Nose Epoxy. Project quantity is 22 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$181.73 which I rounded to \$180.
- 649.0150 Temporary Marking Line Removable Tape 4-Inch. Project quantity is 1365 LF.
 I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost was \$0.99 which I rounded to \$1.
- 650.4500 Construction Staking Subgrade. Project quantity is 30,812 LF. I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. I also removed two outlier projects. The average unit cost of the proposal averages was \$0.01 which I used.
- 650.5000 Construction Staking Base. Project quantity is 4,131 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost of the proposal averages was \$0.39 which I rounded to \$0.40.
- 650.5500 Construction Staking Curb Gutter and Curb & Gutter. Project quantity is
 5,762 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost of the proposal averages was \$0.69 which I rounded to \$0.70.

650.5500 – Construction Staking Concrete Pavement. Project quantity is 34,943 LF. I did

- ⁷⁰⁰⁰ a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost of the proposal averages was \$0.83 which I rounded to \$0.80.
 - 654.0101 Concrete Bases Type 2. Project quantity is 1 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$808.34 which I rounded to \$810.

Recent data suggests average price over \$750 654.0105 – Concrete Bases Type 5. Project quantity is 2 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$669.44 which I rounded to \$670.

- 655.0610 Electrical Wire Lighting 12 AWG. Project quantity is 1050 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$0.55 which I rounded to \$0.60.
- 655.0615 Electrical Wire Lighting 10 AWG. Project quantity is 830 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$0.79 which I rounded to \$0.80.
- 657.0255 Transformer Bases Breakaway 11 ½-Inch Bolt Circle. Project quantity is 3 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$314.81 which I rounded to \$315.
- 657.0315 Poles Type 4. Project quantity is 1 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1231.11 which I rounded to \$1,230.
- 657.0322 Poles Type 5-Aluminum. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$1097.49 which I rounded to \$1,100.
- 657.0710 Luminaire Arms Truss Type 4 1_2-Inch Clamp 12-FT. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$315.53 which I rounded to \$320.

 659.1115 – Luminaires Utility LED A. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$354.15 which I rounded to \$350.

690.0250 – Sawing Concrete. Project quantity is 11 LF. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1231.11 which I rounded to \$1,230. does not match estimator sheet at \$7.30.

Lump Sum Items

Your BidX data has one bid

•

that is skewing higher, should be \$3-\$4.

Finding and listing similar

projects is a better source

than a generic BidX search for most Lump Sum items.

- 650.8500 Construction Staking Electrical Installations (01. 1146-75-73). I searched the surrounding counties. The average unit cost was \$1378.72. Because this project is below average in the amount of staking required (1 intersection), I used \$900.
- 650.9910 Construction Staking Supplemental Control (01. 1146-75-73). I compared this item to another Major project in the region with large grading items, Project 1440-13-71. For their contract the winning bid was \$3,000, so I will use this in my estimate.
- 656.0200 Electrical Service Meter Breaker Pedestal (01. USH 45 & STH 15/BUS 45 (S44-0859)). I searched the surrounding counties. The average unit cost was \$1028.29 which I rounded to \$1,030.
- 658.5069 Signal Mounting Hardware (01. USH 45 & STH 15/BUS 45 (S44-0859)). I searched the surrounding counties. The average unit cost was \$2333.96 which I rounded to \$2,300.
- Items without bid regressions The following items did not have a regression curve associated with the bid items. Estimated prices were based off of bidx.com and past projects of similar size and location.
 - 204.0245 Removing Storm Sewer (01. 12-Inch). Project quantity is 285 LF. I searched the surrounding counties for projects that used similar quantities. I removed any descriptions that did not pertain to 12-inch pipes or were outliers and took the average of the averages. The average price was \$19.36 which I rounded to \$19.50.
 - 204.0245 Removing Storm Sewer (01. 24-Inch). Project quantity is 344 LF. I searched the surrounding counties for projects that used similar quantities. I removed any descriptions that did not pertain to 24-inch pipes or were outliers and took the average of the averages. The average price was \$21.88 which I rounded to \$22.
 - 213.0100 Finishing Roadway. Project quantity is 1 Each. I searched Outagamie County generic BidX and removed projects with outlier bids. The average of the averages was \$4021.76 which I rounded to \$4050.
 - 9-inch will be used extensively on WIS 23. \$41 might be low, but is about what they are using. See what the bids (Jan/Mar) come in at and update if needed.
 - 415.0090 Concrete Pavement 9-Inch. Project quantity is 90,328 SY. I did a statewide extensively on WIS search for projects that had similar quantities and took the average of the low bids of the three projects. The average was \$40.55 which I rounded to \$41.
 - 520.1036 Apron Endwalls for Culvert Pipe 36-Inch. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$835.72 which I rounded to \$840.
 - 520.3330 Culvert Pipe Class III-A 30-Inch. Project quantity is 78 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$78.05 which I rounded to \$78.
 - 520.3336 Culvert Pipe Class III-A 36-Inch. Project quantity is 72 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$92.42 which I rounded to \$92.

You only used 3 projects and 1 of them was from 2016. I found 3 projects with 9" item within last two years and 6 projects within last 18 months that used the 8.5" item. Don't be afraid to check prices for similar item to build a better history for unit price. Unit price is okay but make sure you have enough data.

- 522.0412 Culvert Pipe Reinforced Concrete Class IV 12-Inch. Project quantity is 114 LF.
 I did a statewide search for projects that had similar quantities and removed the outlier bids. The average unit cost was \$69.68 which I rounded to \$70.
- 522.1018 Apron Endwalls for Culvert Pipe Reinforced Concrete 18-Inch. Project quantity is 48 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$757.87 which I rounded to \$760.
- 522.2329 Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE-III 29x45-Inch. Project quantity is 12 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$167.95 which I rounded to \$168 and added \$12 due to the our project having a less quantity. I used \$180.
- 522.2338 Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE-III 38x60-Inch.
 Project quantity is 42 LF. I did a statewide search for projects that had similar quantities.
 The average unit cost was \$280.21 which I rounded to \$280.
- <u>522.2348 Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE-III 48x76-Inch.</u>
 Project quantity is <u>182 LF. I did a statewide search for projects that had similar</u>
 quantities. The average unit cost was \$353.48 which I rounded to \$355.
- 522.2638 Apron Endwalls for Culvert Pipe Reinforced Concrete Horizontal Elliptical 38x60-Inch. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$2410.50 which I rounded to \$2,410.
- 522.2643 Apron Endwalls for Culvert Pipe Reinforced Concrete Horizontal Elliptical 43x68-Inch. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$3810.86 which I rounded to \$3820.
- 522.2648 Apron Endwalls for Culvert Pipe Reinforced Concrete Horizontal Elliptical 48x76-Inch. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$4958.33 which I rounded to \$5,000.
- 524.0636 Apron Endwalls for Culvert Salvaged 36-Inch. Project quantity is 5 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$668.59 which I rounded to \$670.
- 611.0609-Inlet Covers Type B-A. Project quantity is 1 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$689.37 which I rounded to \$690.
- 611.0630-Inlet Covers Type HM-GJ. Project quantity is 4 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$635 which I rounded to \$640.
- 611.0636 Inlet Covers Type HM S. Project quantity is 5 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$635 which I rounded to \$640. Duplicate
- 611.0636 Inlet Covers Type HM-S. Project quantity is 5 Each. I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost was \$577.46 which I rounded to \$580.
- 611.2006 Manholes 6-FT Diameter. Project quantity is 1 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$3633.88 which I rounded to \$3,635.
- 611.3901 Inlets Median 1 Grate. Project quantity is 18 Each. I did a statewide search for projects that had similar quantities and limited the search to the low 2 bidders. The average unit cost was \$1631.39 which I rounded to \$1,630.

By restricting the BidX search to the low 2 bidders, the average unit price decreases to \$315/LF. Recent data suggests average price over \$2,000

Your methodology for mobilization should be to establish a mobilization % from other projects and then apply to your project. Based on expansion projects in this cost range, the mid value is 5% and would suggest going a little above that, maybe 5.5-6%.

You only used 1 project and that was from 2016. By slightly expanding the search, I found 3 projects within the last 18 months. Unit price still looks to be okay but you need to get broader data base for comparison. 0

Find similar project(s), not generic BidX search.

Find similar project(s), not generic BidX search.

0
These two
prices seem
backwards
based on size
and quantity,
re-evaluate?

3902 611.3901 – Inlets Median 2 Grate. Project guantity is 18 Each. I searched the surrounding counties for projects that used similar quantities and limited the search to the low 2 bidders. The average unit cost was \$1755.40 which I rounded to \$1,760. 618.0100 – Maintenance and Repair of Haul Roads (01. 1146-75-73). Project quantity is 1 Each. Due to the amount of hauling that could occur on the project and potential for some damage to occur, I chose \$10,000.

2

619.1000 – Mobilization. Project quantity is 1 Each. The unit cost was based on trying to higher % than match the price close to other costs for mobilization being used for projects on STH 15. The unit cost used was \$520,000

628.2002 – Erosion Mat Class I Type A. Project quantity is 223,881 SY. I did a statewide search for projects that had similar quantities. The average unit cost was \$0.89 which I rounded to \$0.90.)

628.2002 – Erosion Mat Class III Type C. Project quantity is 826 SY. I did a statewide 0 sear²⁰³⁷ projects that had similar quantities. The average unit cost was \$7.80 which I used.

628.6005 - Turbidity Barriers. Project quantity is 45 SY. I did a statewide search for projects that had similar quantities. The average unit cost was \$41.50 which I rounded to \$42.

642.5401 – Field Office Type D. Project quantity is 1 Each. I did a statewide search for projects. The average unit cost was \$13790.07 which I rounded to \$13,800.

643.5000 – Traffic Control. Project quantity is 1 Each. I did a statewide search for projects. The average unit cost was \$15284.35 which I rounded to \$16,000.

646.9010 – Marking Removal Line Water Blasting 4-Inch. Project quantity is 482 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$6.10 which I used.

646.9110 – Marking Removal Line Water Blasting 8-Inch. Project quantity is 166 LF. I did a statewide search for projects that had similar quantities. The average unit cost was \$5.29 which I rounded to \$5.30.

- 646.9210 Marking Removal Line Water Blasting Wide. Project quantity is 24 LF. I did a 0 statewide search for projects that had similar quantities. The average unit cost was \$10 which I used.
- 646.9310 Marking Removal Special Marking Water Blasting. Project quantity is 6 Each. Ο I did a statewide search for projects that had similar quantities and limited the search to the 2 low bidders. I also removed an outlier project. The average unit cost pf the proposal averages was \$168.66 which I rounded to \$170.
- 650.9920 Construction Staking Slope Stakes. Project quantity is 35,643 LF. I searched 0 the surrounding counties for projects that used similar quantities. The average unit cost was \$0.51 which I rounded to \$0.50.
- 654.0217 Concrete Control Cabinet Bases Type 9 Special. Project quantity is 1 Each. I 0 searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1259.79 which I rounded to \$1,260.
- 654.0224 Concrete Control Cabinet Bases Type L24. Project quantity is 1 Each. I 0 searched the surrounding counties for projects that used similar quantities. The average unit cost was \$1351.48 which I rounded to \$1,350.
- 655.0305 Cable Type UF 2-12 AWG Grounded. Project quantity is 1670 LF. I searched 0 the surrounding counties for projects that used similar quantities. The average unit cost was \$0.95 which I rounded to \$1.

 657.0100 – Pedestal Bases. Project quantity is 8 Each. I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$170.06 which I rounded to \$170.

657.0351 – Poles Type 10-Over Height. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities for items that had "Over Height" in the name. Two lines used the item. The average unit cost of the averages was \$1166.80 which I rounded to \$1,200.

657.0361 – Poles Type 13-Over Height. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities for items that had "Over Height" in the name. Two lines used the item and I removed one outlier line. The average unit cost was \$1497.41 which I rounded to \$1,500.

- 657.0420 Traffic Signal Standards Aluminum 13-FT. Project quantity is 5 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$426.64 which I rounded to \$430.
- 657.0520 Monotube Arms 20-FT. Project quantity is 1 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$3549.60 which I rounded to \$3,550.
- 657.0530 Monotube Arms 30-FT. Project quantity is 1 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$3248.05 which I rounded to \$3,250.
- 657.0555 Monotube Arms 55-FT. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$10,880.45 which I rounded to \$10,880.
- 657.0812 Luminaire Arms Steel 12-FT. Project quantity is 5 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$908.36 which I rounded to \$910.
- 658.0173 Traffic Signal Face 3S 12-Inch. Project quantity is 21 Each. I did a statewide search for projects that had similar quantities. The average unit cost was \$491.97 which I rounded to \$500.
- SPV's

Using a search for

"height" I found that there is a significant

the poles themselves (\$5,000-\$15,000) and

the installation of the

Please update these items accordingly.

poles (\$1,200-\$1,500).

price difference between

- SPV.0060.01 Reconnect Pipe Underdrain. Project quantity is 2 Each. I did a statewide search for projects that had similar quantities. There was one project with this item within the search parameters. The unit cost for the item was \$750 which I used.
- SPV.0060.02 Connect Storm Sewer Pipe to Existing Inlet. Project quantity is 1 Each. I did a statewide search for projects that had similar items. There were 2 lines that were connecting storm sewer pipe to manholes which would be like the item. The average unit cost for averages for the item was \$828.34 which I rounded to \$830.
- SPV.0060.03 Connect Storm Sewer Pipe to Existing Culvert. Project quantity is 1 Each. I did a statewide search for projects that had similar items. There were 2 lines that were connecting storm sewer pipe to manholes which would be like the item. The average unit cost for averages for the item was \$828.34 which I rounded to \$830.
- SPV.0035.01 Roadway Embankment. Project quantity is 244,855 CY. See explanation for Excavation Common.
- or to ont item? O SPV.0090.01 – CPRCHE Class HE-IV 43X68-Inch. Project quantity is 76 LF. I did a statewide search for projects that had similar items. There was one project with the

You need a better explanation under the excavation common item. Did you also look at projects with borrow and then apply conversion factor to reflect the embankment item? item within the search parameters. The average unit cost for the item was \$310.42 which I rounded to \$320.

SPV.0105.01 – Remove Traffic Signal (USH 45 & STH 15/BUS 15). Project quantity is 1 LS.
 I searched the surrounding counties for projects that used similar quantities. The average unit cost was \$2417.49 which I rounded to \$2400.

Your search results are in CY but your item is in TON. Please re-evaluate. SPV.0195 – Shot Rock. Project quantity is 1260 Tons. I did a statewide search for projects that had similar quantities. The average unit cost was \$12.15 which I rounded to \$13.

- Significant Items. These are the items that when the sum of their prices are combined total 80% of the estimate price. The estimated roadway price for this project is \$12,556,989.85 so the sum of the significant items will be \$10,045,591.88 some of these items were already justified above. The significant items are shown below:
 - 415.0090 Concrete Pavement 9-Inch (\$3,703,448.00). See justification above.
 - 205.0100 Excavation Common (\$1,233,174.90). See justification above.
 - o 312.0110 Select Crushed Material (\$948,822.00). See justification above.
 - SPV.0035.01 Roadway Embankment (\$832,507.00). See justification above.
 - o 305.0120 Base Aggregate Dense 1 ¼-Inch (\$744,505.80). See justification above.
 - o 460.5224 HMA Pavement 4 LT 58-28 S (\$600,160.00). See justification above.
 - o 619.1000 Mobilization (\$520,000.00). See justification above.
 - o 205.0200 Excavation Rock (\$341,857.50). See justification above.
 - 625.0500 Salvaged Topsoil (\$208,828.20). See justification above.
 - o 305.0110 Base Aggregate Dense ¾-Inch (\$194,287.50). See justification above.
 - 628.2002 Erosion Mat Class I Type A (\$201,492.90). See justification above.
 - o 460.5224 HMA Pavement 4 LT 58-28 S (\$600,160.00). See justification above.
 - 465.0120 Asphaltic Surface Driveways and Field Entrances (\$143,250.00). Project quantity is 1,146 Tons. I did a statewide search for projects that had similar quantities and limited the search to the 2 low bidders. The average unit cost was \$104.57 which I rounded to \$105 and then added \$20 because there were no bids in 2019. I used \$125 in the estimate.

You have a totally different explanation for this item within your earlier narrative. This explanation should be duplicated in the earlier narrative.

defined as 20% of total number of items. The list should be about 50 items, all with more than one source. May want to list these first to reduce/ eliminate duplication.

Significant Items are

Estimate 1146-75-73

Estimated Cost:\$12,556,989.85 Contingency: 0.00% Estimated Total: \$12,556,989.85

Base Date: 05/17/19

Spec Year: 03

Unit System: E

Work Type: General Constr - No Dominate Work Type

Highway Type: Expressway, Principal Arterial

Urban/Rural Type: Rural

Season: Winter Fall

County: Outagamie

Latitude of Midpoint: 0

Longitude of Midpoint: 0

District: NE

Federal Project Number:

State Project Number:

Prepared by user

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
Group 0010: Roadway Items				
0002 201.0105 Clearing	192.00	STA	\$315.000 okay	\$60,480.00
0004 201.0120 Clearing	219.00	ID	\$20.000	\$4,380.00
0006 201.0205 Grubbing	192.00	STA	\$20.000	\$3,840.00
0008 201.0220 Grubbing	219.00	ID	\$10.000	\$2,190.00
0010 203.0100 Removing Small Pipe Culverts	44.00	EACH	\$150.000	\$6,600.00
0012 204.0180 Removing Delineators and Markers	12.00	EACH	\$20.000	\$240.00
0014 204.0100 Removing Pavement	14,678.00	SY	\$2.300	\$33,759.40
0016 204.0110 Removing Asphaltic Surface	946.00	SY	\$3.500	\$3,311.00
0018 204.0150 Removing Curb & Gutter	2,843.00	LF	\$2.800	\$7,960.40
0020 204.0155 Removing Concrete Sidewalk	77.00	SY	\$13.400	\$1,031.80
0022 204.0165 Removing Guardrail	1,393.00	LF	\$2.800	\$3,900.40
0024 204.0170 Removing Fence	3,958.00	LF	\$2.600	\$10,290.80
0026 204.0195 Removing Concrete Bases	3.00	EACH	\$300.000	\$900.00
0030 204.0210 Removing Manholes	1.00	EACH	\$460.000	\$460.00
0032 204.0220 Removing Inlets	11.00	EACH	\$300.000	\$3,300.00

ESIIIIale. 1140-70-70	Estimate:	1146-75-73
-----------------------	-----------	------------

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0034 204.0245 Removing Storm Sewer (size) 01. 12-INCH	285.00	LF	\$18.000 Should be \$19.50 based on text?	\$5,130.00
0036 204.0245 Removing Storm Sewer (size) 02. 24-INCH	344.00	LF	\$22.000	\$7,568.00
0037 205.0100 Excavation Common	241,799.00	CY	(\$5.100 increase to \$5.25/TON; see ear comments and earthwork sheet	
0039 205.0200 Excavation Rock	45,581.00	CY	\$7.500 okay	\$341,857.50
0040 205.0400 Excavation Marsh	3,761.00	CY	\$8.000	\$30,088.00
0041 213.0100 Finishing Roadway (project) 01. 1146-75-73	1.00	EACH	\$4,050.000	\$4,050.00
0042 208.1100 Select Borrow	3,317.00	CY	\$10.900 Seems low, check BidX if Significant Item (\$13-\$15?)	\$36,155.30
0044 305.0110 Base Aggregate Dense 3/4-Inch	11,775.00	TON	\$16.500 okay	\$194,287.50
0046 305.0120 Base Aggregate Dense 1 1/4-Inch	95,618.00	TON	(\$8.100 increase to \$9.00/TON; see earlier comments and BidX PD	\$774,505.80
0048 311.0110 Breaker Run	1,178.00	TON	\$12.300	\$14,489.40
0050 312.0110 Select Crushed Material	90,364.00	TON	\$10.500 increase to \$11.50/TON; see earlier comments and BidX P	\$948,822.00 DF
0056 415.0090 Concrete Pavement 9-Inch	90,328.00	SY	\$41.000 okay	\$3,703,448.00
0058 455.0605 Tack Coat	3,258.00	GAL	\$2.700	\$8,796.60
0059 460.2000 Incentive Density HMA Pavement	8,490.00	DOL	\$1.000	\$8,490.00
0060 460.5223 HMA Pavement 3 LT 58-28 S	1,300.00	TON	(\$73.000 decrease to \$63.00/TON; see comments and BidX PDF	earlier \$94,900.00
0062 460.5224 HMA Pavement 4 LT 58-28 S	9,680.00	TON	(\$62.000 okay	\$600,160.00
0064 460.6223 HMA Pavement 3 MT 58-28 S	1,359.00	TON	\$81.000 decrease to \$76.00/TON; see comments and BidX PDF	earlier \$110,079.00

Estimate: 1146-75-73				WisDOT
<u>Line #</u> <u>Item Number</u> <u>Description</u> <u>Supplemental Description</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0066 460.6224 HMA Pavement 4 MT 58-28 S	923.00	TON	(\$88.500) decrease to \$84.00/TON; see earlier comments and BidX PDF	\$81,685.50
0068 465.0105 Asphaltic Surface	374.00	TON	\$107.000	\$40,018.00
0070 465.0120 Asphaltic Surface Driveways and Field Entranc	1,146.00 ces	TON	\$125.000 okay	\$143,250.00
0072 465.0315 Asphaltic Flumes	183.00	SY	\$38.000	\$6,954.00
0074 465.0400 Asphaltic Shoulder Rumble Strips	42,962.00	LF	\$0.300	\$12,888.60
0076 520.1018 Apron Endwalls for Culvert Pipe 18-Inch	20.00	EACH	\$305.000	\$6,100.00
0078 520.1024 Apron Endwalls for Culvert Pipe 24-Inch	4.00	EACH	\$360.000	\$1,440.00
0079 520.1030 Apron Endwalls for Culvert Pipe 30-Inch	2.00	EACH	\$440.000	\$880.00
0081 520.1036 Apron Endwalls for Culvert Pipe 36-Inch	2.00	EACH	\$840.000	\$1,680.00
0083 520.3318 Culvert Pipe Class III-A 18-Inch	642.00	LF	\$50.000	\$32,100.00
0084 520.3324 Culvert Pipe Class III-A 24-Inch	160.00	LF	\$42.000	\$6,720.00
0085 520.3330 Culvert Pipe Class III-A 30-Inch	68.00	LF	\$78.000	\$5,304.00
0086 520.3336 Culvert Pipe Class III-A 36-Inch BidEx	72.00	LF	\$92.000	\$6,624.00
0087 520.8000 Concrete Collars for Pipe	8.00	EACH	\$520.000	\$4,160.00
0088 521.1518 Apron Endwalls for Culvert Pipe Sloped Side I	4.00 Drains Steel 18-	EACH Inch 6 to	\$600.000 1	\$2,400.00
0090 521.1524 Apron Endwalls for Culvert Pipe Sloped Side D	2.00 Prains Steel 24-	EACH Inch 6 to 1	\$850.000	\$1,700.00
0091 522.0130 Culvert Pipe Reinforced Concrete Class III 30	220.00 -Inch	LF	\$70.000	\$15,400.00
0092 522.0136 12:31:30PM	216.00	LF	\$100.000	\$21,600.00
Monday, October 28, 2019				Page 4 of 19

<u>Line #</u> <u>Item Number</u> <u>Description</u> <u>Supplemental Description</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>		<u>Extensio</u>
Culvert Pipe Reinforced Concrete Class III	36-Inch				
0093 522.0142 Culvert Pipe Reinforced Concrete Class III	184.00 42-Inch	LF	\$165.000		\$30,360.0
0094 522.0412 Culvert Pipe Reinforced Concrete Class IV	114.00 12-Inch	LF	\$70.000		\$7,980.0
BidEx 0095 522.0418 Culvert Pipe Reinforced Concrete Class IV	656.00 18-Inch	LF	\$40.000		\$26,240.0
096 522.0424 Culvert Pipe Reinforced Concrete Class IV	102.00 24-Inch	LF	\$75.000		\$7,650.0
0097 522.0436 Culvert Pipe Reinforced Concrete Class IV	64.00 36-Inch	LF	\$135.000		\$8,640.0
0098 522.1012 Apron Endwalls for Culvert Pipe Reinforced	9.00 Concrete 12-Inch	EACH 12-Inch	\$805.000		\$7,245.0
0100 522.1018 Apron Endwalls for Culvert Pipe Reinforced	48.00 Concrete 18-Inch	EACH 18-Inch	\$760.000		\$36,480.0
0102 522.1024 Apron Endwalls for Culvert Pipe Reinforced		EACH 24-Inch	\$940.000		\$2,820.0
0103 522.1030 Apron Endwalls for Culvert Pipe Reinforced	2.00 d Concrete 30-Inch	EACH 30-Inch	\$1,100.000		\$2,200.0
0105 522.1036 Apron Endwalls for Culvert Pipe Reinforced		EACH 36-Inch	\$1,420.000	this price should fall between the other sizes - \$1300 in BidX?	\$2,840.0
0106 522.1042 Apron Endwalls for Culvert Pipe Reinforced	2.00 Concrete 42-Inch	EACH 42-Inch	\$1,400.000		\$2,800.0
0107 522.2329 Culvert Pipe Reinforced Concrete Horizonta	12.00 Il Elliptical Class H		\$180.000 5-Inch		\$2,160.0
0108 522.2338 Culvert Pipe Reinforced Concrete Horizonta	42.00 Il Elliptical Class H		\$280.000 D-Inch		\$11,760.0
0110 522.2348 Culvert Pipe Reinforced Concrete Horizonta	182.00 Il Elliptical Class H			ecrease to \$250.00/LF; see earlier omments and BidX PDF	\$64,610.0
0111 522.2629 Apron Endwalls for Culvert Pipe Reinforced	3.00 Concrete Horizont	EACH al Elliptica	\$1,700.000 al 29x45-Inch		\$5,100.0
0112 522.2638 Apron Endwalls for Culvert Pipe Reinforced	2.00 Concrete Horizont	EACH al Elliptica	\$2,410.000 al 38x60-Inch		\$4,820.0

Estimate: 1146-75-73

WisDOT

Extension

0113 522.2643 2.00 EACH \$3,820.000 Apron Endwalls for Culvert Pipe Reinforced Concrete Horizont al Elliptical 43x68-Inch	\$7,640.00
0114 522.2648 2.00 EACH \$5,000.000 Apron Endwalls for Culvert Pipe Reinforced Concrete Horizont al Elliptical 48x76-Inch	\$10,000.00
0115 524.0636 5.00 EACH \$670.000 Apron Endwalls for Culvert Pipe Salvaged 36-Inch	\$3,350.00
0116 601.0411 251.00 LF \$23.000 Concrete Curb & Gutter 30-Inch Type D	\$5,773.00
0117 601.0415 1,442.00 LF \$14.000 Concrete Curb & Gutter 6-Inch Sloped 30-Inch Type J	\$20,188.00
0118 601.0553 565.00 LF \$30.000 Concrete Curb & Gutter 4-Inch Sloped 36-Inch Type D	\$16,950.00
0119 601.0555 1,911.00 LF \$21.000 Concrete Curb & Gutter 6-Inch Sloped 36-Inch Type A	\$40,131.00
0120 601.0557 1,844.00 \$17.200 Concrete Curb & Gutter 6-Inch Sloped 36-Inch Type D	\$31,716.80
0122 602.0405 4,110.00 SF \$4.600 Concrete Sidewalk 4-Inch	\$18,906.00
0123 606.0100 731.00 CY \$42.000 Riprap Light	\$30,702.00
0124 606.0200 1,053.00 CY \$55.000 Riprap Medium	\$57,915.00
0125 608.0412 400.00 LF \$47.000 Storm Sewer Pipe Reinforced Concrete Class IV 12-Inch	\$18,800.00
0126 608.0418 2,062.00 LF \$54.000 decrease to \$57.00/LF; see earlier comments and BidX PDF	\$111,348.00
0127 608.0424 238.00 LF \$68.000 Storm Sewer Pipe Reinforced Concrete Class IV 24-Inch	\$16,184.00
0128 608.0436 172.00 LF \$120.000 Storm Sewer Pipe Reinforced Concrete Class IV 36-Inch	\$20,640.00
0129 602.0505 80.00 SF \$32.000 Curb Ramp Detectable Warning Field Yellow	\$2,560.00

Quantity Units Unit Price

Line # Item Number Description Supplemental Description

Extension

0130 608.2429 Storm Sewer Pipe Reinforced Concrete Hori:	136.00 zontal Elliptical C		\$135.000 V 29x45-Inch	\$18,360.00
0131 611.0535 Manhole Covers Type J-Special	3.00	EACH	\$440.000	\$1,320.00
0132 611.0606 Inlet Covers Type B	1.00	EACH	\$550.000	\$550.00
0133 611.0609 Inlet Covers Type B-A	1.00	EACH	\$690.000	\$690.00
0134 611.0627 Inlet Covers Type HM	8.00	EACH	\$610.000	\$4,880.00
0135 611.0630 Inlet Covers Type HM-GJ	4.00	EACH	\$640.000	\$2,560.00
0136 611.0636 Inlet Covers Type HM-S	5.00	EACH	\$580.000	\$2,900.00
0137 611.0642 Inlet Covers Type MS	20.00	EACH	\$380.000	\$7,600.00
0138 611.0654 Inlet Covers Type V	3.00	EACH	\$530.000	\$1,590.00
0139 611.1005 Catch Basins 5-FT Diameter	2.00	EACH	\$3,000.000	\$6,000.00
0140 611.2005 Manholes 5-FT Diameter	2.00	EACH	\$3,300.000	\$6,600.00
0141 611.2006 Manholes 6-FT Diameter	1.00	EACH	\$3,635.000	\$3,635.00
0142 611.3003 Inlets 3-FT Diameter	1.00	EACH	\$1,325.000	\$1,325.00
0143 611.3004 Inlets 4-FT Diameter	6.00	EACH	\$1,700.000	\$10,200.00
0144 611.3230 Inlets 2x3-FT	13.00	EACH	\$1,390.000	\$18,070.00
0145 611.3901	18.00	EACH	\$1,630.000	\$29,340.00

Quantity Units Unit Price

Estimate: 1146-75-73				WisDOT
Line # Item Number Description	<u>Quantity</u>	<u>Units</u>	Unit Price	Extension
Supplemental Description				
Inlets Median 1 Grate				
0146 611.3902 Inlets Median 2 Grate	1.00	EACH	\$1,760.000	\$1,760.00
0147 618.0100 Maintenance And Repair of Haul Roads (pro 01. 1146-75-73	1.00 nject)	EACH	\$10,000.000	\$10,000.00
0148 619.1000 Mobilization	1.00	EACH	\$520,000.000 use between 5.5-6% of estimate and recompute; I came up with \$700,000	\$520,000.00
0149 620.0300 Concrete Median Sloped Nose	1,070.00	SF	\$8.500	\$9,095.00
0150 624.0100 Water	1,503.00	MGAL	\$22.000	\$33,066.00
0151 625.0500 Salvaged Topsoil	298,326.00	SY	\$0.700 increase to \$0.75/SY; see earlier comments and BidX PDF	\$208,828.20
0152 627.0200 Mulching	15,279.00	SY	\$0.300	\$4,583.70
0153 628.1504 Silt Fence	13,630.00	LF	\$2.000	\$27,260.00
0154 628.1520 Silt Fence Maintenance	2,726.00	LF	\$0.100	\$272.60
0155 628.1905 Mobilizations Erosion Control	15.00	EACH	\$230.000	\$3,450.00
0156 628.1910 Mobilizations Emergency Erosion Control	10.00	EACH	\$60.000 Unit price very low?	\$600.00
0157 628.2002 Erosion Mat Class I Type A	223,881.00	SY	\$0.900 okay	\$201,492.90
0158 628.2037 Erosion Mat Class III Type C	826.00	SY	\$7.800	\$6,442.80
0159 628.5505 Polyethylene Sheeting	2,192.00	SY	\$2.900	\$6,356.80
0160 628.6005 Turbidity Barriers	45.00	SY	\$42.000	\$1,890.00

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0161 628.7005 Inlet Protection Type A	42.00	EACH	\$105.000	\$4,410.00
0162 628.7010 Inlet Protection Type B	3.00	EACH	\$51.000	\$153.00
0163 628.7015 Inlet Protection Type C	32.00	EACH	\$53.000	\$1,696.00
0164 628.7504 Temporary Ditch Checks	2,250.00	LF	\$7.200	\$16,200.00
0165 628.7515.S Stone or Rock Ditch Checks	495.00	CY	\$49.000	\$24,255.00
0166 628.7555 Culvert Pipe Checks	225.00	EACH	\$16.400	\$3,690.00
0167 628.7560 Tracking Pads	4.00	EACH	\$1,025.000	\$4,100.00
0168 628.7570 Rock Bags	200.00	EACH	\$11.000	\$2,200.00
0169 629.0210 Fertilizer Type B	188.00	CWT	\$50.000	\$9,400.00
0170 630.0120 Seeding Mixture No. 20	7,610.00	LB	\$4.900	\$37,289.00
0171 630.0140 Seeding Mixture No. 40	445.00	LB	\$9.600	\$4,272.00
0172 630.0200 Seeding Temporary	1,000.00	LB	\$2.300	\$2,300.00
0173 630.0300 Seeding Borrow Pit	200.00	LB	\$5.300	\$1,060.00
0174 633.5200 Markers Culvert End	53.00	EACH	\$42.000	\$2,226.00
0175 634.0614 Posts Wood 4x6-Inch X 14-FT	56.00	EACH	\$60.400	\$3,382.40
0176 634.0616	35.00	EACH	\$63.900	\$2,236.50

stimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
Posts Wood 4x6-Inch X 16-FT				
0177 634.0618 Posts Wood 4x6-Inch X 18-FT	9.00	EACH	\$69.400	\$624.60
0178 637.2210 Signs Type II Reflective H	987.57	SF	\$16.100	\$15,899.88
0179 637.2215 Signs Type II Reflective H Folding	29.84	SF	\$23.900	\$713.18
0180 637.2230 Signs Type II Reflective F	53.21	SF	\$20.900	\$1,112.09
0181 638.2602 Removing Signs Type II	50.00	EACH	\$19.200	\$960.00
0182 638.3000 Removing Small Sign Supports	50.00	EACH	\$19.000	\$950.00
0183 642.5401 Field Office Type D	1.00	EACH	\$13,800.000	\$13,800.00
0184 643.0300 Traffic Control Drums	9,327.00	DAY	\$0.430	\$4,010.61
0185 643.0420 Traffic Control Barricades Type III	13,767.00	DAY	\$0.600	\$8,260.20
0186 643.0500 Traffic Control Flexible Tubular Marker Posts	10.00	EACH	\$26.000	\$260.00
0187 643.0600 Traffic Control Flexible Tubular Marker Bases	10.00	EACH	\$6.300	\$63.00
0188 643.0705 Traffic Control Warning Lights Type A	26,688.00	DAY	\$0.150	\$4,003.20
0189 643.0715 Traffic Control Warning Lights Type C	3,999.00	DAY	\$0.230	\$919.77
0190 643.0800 Traffic Control Arrow Boards	243.00	DAY	\$19.500	\$4,738.50
0191 643.0900 Traffic Control Signs	44,139.00	DAY	\$0.550	\$24,276.45
2:31:30PM Jonday, October 28, 2019				Page 10 of 19

Monday, October 28, 2019

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0192 643.0910 Traffic Control Covering Signs Type I	2.00	EACH	\$454.000	\$908.00
0193 643.0920 Traffic Control Covering Signs Type II	20.00	EACH	\$43.300	\$866.00
0194 643.1050 Traffic Control Signs PCMS	42.00	DAY	\$84.000	\$3,528.00
0195 643.5000 Traffic Control	1.00	EACH	\$16,000.000	\$16,000.00
0196 645.0120 Geotextile Type HR	2,106.00	SY	\$3.000	\$6,318.00
0197 646.1040 Marking Line Grooved Wet Ref Epoxy 4-Inch	64,120.00	LF	\$1.110 increase to \$1.35/LF; see BidX PDF	\$71,173.20
0198 646.1545 Marking Line Grooved Wet Ref Contrast Epoxy	8,601.00 y 4-Inch	LF	\$2.850 Low (\$3.50?)	\$24,512.85
0200 646.3020 Marking Line Epoxy 8-Inch	207.00	LF	\$2.100	\$434.70
0201 646.3545 Marking Line Grooved Wet Ref Contrast Epoxy	9,533.00 8-Inch	LF	\$4.200	\$40,038.60
0202 646.5020 Marking Arrow Epoxy	30.00	EACH	\$230.000	\$6,900.00
0203 646.5120 Marking Word Epoxy	12.00	EACH	\$270.000	\$3,240.00
0204 646.5320 Marking Railroad Crossing Epoxy	4.00	EACH	\$815.000	\$3,260.00
0205 646.6120 Marking Stop Line Epoxy 18-Inch	231.00	LF	\$10.500	\$2,425.50
0206 646.7120 Marking Diagonal Epoxy 12-Inch	960.00	LF	\$8.600	\$8,256.00
0207 646.8120 Marking Curb Epoxy	770.00	LF	\$7.000	\$5,390.00

Estimate: 1146-	75-73				WisDOT
<u>Line #</u> <u>Item</u> Descriptic		<u>Quantity</u>	<u>Units</u>	Unit Price	Extension
	ntal Description				
0208 646.8	3220	22.00	EACH	\$180.000	\$3,960.00
Marking Isla	and Nose Epoxy				
0209 646.9		482.00	LF	\$6.100	\$2,940.20
Marking Ren	noval Line Water Blasting 4-Inch				
0210 646.9 Marking Ren	110 noval Line Water Blasting 8-Inch	166.00	LF	\$5.300	\$879.80
_	-	24.00	LF	¢10.000	¢040.00
	noval Line Water Blasting Wide	24.00	LF	\$10.000	\$240.00
0212 646.9 Marking Ren	1310 noval Special Marking Water Blasti	6.00	EACH	\$170.000	\$1,020.00
_	· ·				
0213 649.0 Temporary N	1150 Aarking Line Removable Tape 4-Ind	1,365.00 ch	LF	\$1.000	\$1,365.00
0214 650.4	.000	71.00	EACH	\$44.000	\$3,124.00
Constructio	n Staking Storm Sewer				
0215 650.4	500	30,812.00	LF	\$0.010	\$308.12
	n Staking Subgrade	00,012.00	L ,	\$0.010	¢000.12
0216 650.5	:000	4 121 00	16	¢0.400	¢1.650.40
	n Staking Base	4,131.00	LF	\$0.400	\$1,652.40
0217 650.5 Constructio	500 n Staking Curb Gutter and Curb & 0	5,762.00 Gutter	LF	\$0.700	\$4,033.40
0218 650.6 Construction	000 n Staking Pipe Culverts	12.00	EACH	\$92.000	\$1,104.00
Construction					
0219 650.7		34,943.00	LF	\$0.800	\$27,954.40
Constructio	n Staking Concrete Pavement				
0220 650.8		1.00	LS	\$900.000	\$900.00
01. 1146-7	Staking Electrical Installations (pro 5-73	oject) (project)			
0222 650.9		1.00	LS	\$3,000.000	\$3,000.00
Construction 01. 1146-7	n Staking Supplemental Control (pr 5-73	oject)			
0223 650.9 Construction	920 Staking Slope Stakes	35,643.00	LF	\$0.500	\$17,821.50
Construction	Claring Clope Clares				
0224 652.0		1,235.00	LF	\$5.100	\$6,298.50
Conduit Rig	id Nonmetallic Schedule 40 2-Inch				

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0225 652.0235 Conduit Rigid Nonmetallic Schedule 40 3-Inch	940.00	LF	\$5.700	\$5,358.00
0226 652.0615 Conduit Special 3-Inch	440.00	LF	\$15.700	\$6,908.00
0227 652.0800 Conduit Loop Detector	1,170.00	LF	\$3.900	\$4,563.00
0228 653.0105 Pull Boxes Steel 12x24-Inch	10.00	EACH	\$357.000	\$3,570.00
0229 653.0140 Pull Boxes Steel 24x42-Inch	13.00	EACH	\$677.000	\$8,801.00
0230 653.0905 Removing Pull Boxes	3.00	EACH	\$57.000	\$171.00
0231 654.0101 Concrete Bases Type 1	4.00	EACH	\$590.000	\$2,360.00
0232 654.0102 Concrete Bases Type 2	1.00	EACH	\$810.000	\$810.00
0233 654.0105 Concrete Bases Type 5	2.00	EACH	\$670.000	\$1,340.00
0234 654.0110 Concrete Bases Type 10	2.00	EACH	\$3,870.000	\$7,740.00
0235 654.0113 Concrete Bases Type 13	2.00	EACH	\$7,680.000	\$15,360.00
0236 654.0217 Concrete Control Cabinet Bases Type 9 Special	1.00	EACH	\$1,260.000	\$1,260.00
0237 654.0224 Concrete Control Cabinet Bases Type L24	1.00	EACH	\$1,350.000	\$1,350.00
0238 655.0230 Cable Traffic Signal 5-14 AWG	1,900.00	LF	\$1.000	\$1,900.00
0239 655.0240 Cable Traffic Signal 7-14 AWG	410.00	LF	\$1.100	\$451.00
0240 655.0260	2,740.00	LF	\$2.000	\$5,480.00

Estimate: 1146-75-73				WisDOT
<u>Line #</u> <u>Item Number</u> <u>Q</u> <u>Description</u> <u>Supplemental Description</u>	<u>uantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
Cable Traffic Signal 12-14 AWG				
0241 655.0305 1, Cable Type UF 2-12 AWG Grounded	,670.00	LF	\$1.000	\$1,670.00
0242 655.0515 2, Electrical Wire Traffic Signals 10 AWG	,600.00	LF	\$0.600	\$1,560.00
0243 655.0610 1, Electrical Wire Lighting 12 AWG	,050.00	LF	\$0.600	\$630.00
0244 655.0615 Electrical Wire Lighting 10 AWG	830.00	LF	\$0.800	\$664.00
0245 655.0700 6, Loop Detector Lead In Cable	,875.00	LF	\$1.400	\$9,625.00
0246 655.0800 2, Loop Detector Wire	,820.00	LF	\$0.500	\$1,410.00
0247 656.0200 Electrical Service Meter Breaker Pedestal (location) USH 45 & STH 15/BUS 45 (S44-0859)	2.00	LS	\$1,030.000	\$2,060.00
0248 657.0100 Pedestal Bases	8.00	EACH	\$170.000	\$1,360.00
0249 657.0255 Transformer Bases Breakaway 11 1/2-Inch Bolt Circl		EACH	\$315.000	\$945.00
0250 657.0315 Poles Type 4	1.00	EACH	\$1,230.000	\$1,230.00
0251 657.0322 Poles Type 5-Aluminum	2.00	EACH	\$1,100.000	\$2,200.00
0252 657.0351 Poles Type 10-Over Height	2.00	EACH	\$1,200.000	\$2,400.00
0253 657.0361 Poles Type 13-Over Height	2.00	EACH	\$1,500.000	\$3,000.00
0254 657.0420 Traffic Signal Standards Aluminum 13-FT	5.00	EACH	\$430.000	\$2,150.00
0255 657.0425 Traffic Signal Standards Aluminum 15-FT	3.00	EACH	\$390.000	\$1,170.00
0256 657.0520 12:31:30PM	1.00	EACH	\$3,550.000	\$3,550.00

Estimate: 1146-75-73	•			WisDOT
Line # <u>Item Number</u> <u>Description</u> <u>Supplemental Description</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
Monotube Arms 20-FT				
0257 657.0530 Monotube Arms 30-FT	1.00	EACH	\$3,250.000	\$3,250.00
0258 657.0555 Monotube Arms 55-FT	2.00	EACH	\$10,880.000	\$21,760.00
0259 657.0710 Luminaire Arms Truss Type 4 1/2-Inch Clamp	2.00 o 12-FT	EACH	\$320.000	\$640.00
0260 657.0812 Luminaire Arms Steel 12-FT	5.00	EACH	\$910.000	\$4,550.00
0261 658.0173 Traffic Signal Face 3S 12-Inch	21.00	EACH	\$500.000	\$10,500.00
0262 658.0174 Traffic Signal Face 4S 12-Inch	6.00	EACH	\$430.000	\$2,580.00
0263 658.5069 Signal Mounting Hardware (location) 01_USH 45 & STH 15/BUS 45 (S44-0) BidEx	1.00 859)	LS	\$2,300.000	\$2,300.00
0264 659.1115 Luminaires Utility LED A	2.00	EACH	\$350.000	\$700.00
0265 659.1120 Luminaires Utility LED B	5.00	EACH	\$460.000	\$2,300.00
0266 690.0150 Sawing Asphalt	1,856.00	LF	\$1.500	\$2,784.00
0267 690.0250 Sawing Concrete	11.00	LF	\$7.300	\$80.30
0268 715.0415 Incentive Strength Concrete Pavement	27,098.00	DOL	\$1.000	\$27,098.00
0269 740.0440 Incentive IRI Ride	23,411.00	DOL	\$1.000	\$23,411.00
0270 715.0502 Incentive Strength Concrete Structures 01. CATEGORY 0020; STRUCTURE (1,206.00 C-44-121	DOL	\$1.000	\$1,206.00
0271 715.0502 Incentive Strength Concrete Structures 02. CATEGORY 0030; STRUCTURE (744.00 C-44-122	DOL	\$1.000	\$744.00
0272 715.0502 12:31:30PM Manday October 28, 2010	684.00	DOL	\$1.000	\$684.00

Estimate: 1146-75-73 <u>Line #</u> <u>Item Number</u> <u>Description</u> <u>Supplemental Description</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	2	WisDOT <u>Extension</u>
Incentive Strength Concrete Structures 03. CATEGORY 0040; STRUCTURE C	-44-123				
0273 SPV.0060 Special 01. RECONNECT PIPE UNDERDRAIN		EACH	\$750.000		\$1,500.00
0274 SPV.0060 Special 02. CONNECT STORM SEWER PIPE	1.00 TO EXISTING	EACH	\$830.000		\$830.00
0275 SPV.0060 Special 03. CONNECT STORM SEWER PIPE		EACH CULVE	\$830.000 RT		\$830.00
0276 SPV.0035 Special 01. ROADWAY EMBANKMENT	244,855.00	CY	\$3.400	need additional research/ discussion	\$832,507.00
0277 SPV.0090 Special 01. CPRCHE CLASS HE-IV 43X68-INC	76.00 CH	LF	\$320.000		\$24,320.00
0278 SPV.0105 Special 01. REMOVE TRAFFIC SIGNAL (USH	1.00 45 & STH 15/		\$2,400.00	0	\$2,400.00
0279 SPV.0195 Special 01. SHOT ROCK Group 0020: c-44-121	1,260.00	ΤΟΝ	\$13.000 To	otal for Group 0010:	\$16,380.00 \$11,992,490.55
0281 203.0200 Removing Old Structure (station) 01. STA 141 'EB'+42.35	1.00	LS	\$5,000.00	0	\$5,000.00
0282 206.2000 Excavation for Structures Culverts (structure) 01. C-44-121	1.00	LS	\$10,000.0	00	\$10,000.00
0283 210.2500 Backfill Structure Type B	3,020.00	TON	\$21.500 \$17.00	seems a little high based on Bi review, use \$17.00/TON	\$64,930.00
0284 311.0115 Breaker Run	150.00	CY	\$23.000	I know BOS provided the estimat seems low based on BidX review search of last 2 years shows \$57	r; statewide
0285 504.0100 Concrete Masonry Culverts	201.00	CY \$57(\$502.300 0.00	one BOS comment indicates the on regression analysis and the of categories says the avg price for for 1000-1500 CY quantity is \$51	price is based \$100,962.30 ther two last two years 7/CY; our total
0286 505.0400 Bar Steel Reinforcement HS Structures	33,160.00	LB	\$0.800	quantity is 439 CY so why are the a larger quantity? We need to qu	
0287 505.0600 Bar Steel Reinforcement HS Coated Structure	1,910.00 es	LB	\$1.150		\$2,196.50

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0288 516.0500 Rubberized Membrane Waterproofing	100.00	SY	\$24.000	\$2,400.00
0289 606.0100	75.00	CY	\$56.220	\$4,216.50
Riprap Light				
0290 606.0300	55.00	CY	\$58.600	\$3,223.00
Riprap Heavy				
0292 645.0105	465.00	SY	\$2.450	\$1,139.25
Geotextile Type C				
0294 645.0120	130.00	SY	\$3.000	\$390.00
Geotextile Type HR				
0350 SPV.0195 Special	60.00	TON	\$60.000	\$3,600.00
02 COARSE AGGREGATE SIZE NO. 1		OX CUL		
0352	0.00		\$0.000	\$0.00

Total for Group 0020:\$228,035.55

Group 0030: c-44-122

	4.00	10 #5.000		#F 000 00
0298 203.0200	1.00	LS \$5,000	.000	\$5,000.00
Removing Old Structure (station)				
01. STA 228 'EB'+69				
0300 206.2000	1.00	LS \$10,00	0.000	\$10,000.00
Excavation for Structures Culverts (structure)				
01. C-44-122				
0302 210.2500	1,724.00	TON \$21.50	0 see comments under category 020	\$37,066.00
Backfill Structure Type B		\$17.00		
0304 311.0115	106.00	CY \$23.00	0	\$2,438.00
Breaker Run				
0308 504.0100	124.00	CY \$502.3	00 see comments under category 020	\$62,285.20
Concrete Masonry Culverts		\$570.00		
		•••••		
0310 505.0400	31,500.00	LB \$0.800		\$25,200.00
Bar Steel Reinforcement HS Structures	_ ,			+,
0312 505.0600	800.00	LB \$1.150		\$920.00
Bar Steel Reinforcement HS Coated Structure		μο φτ.100		ψυ20.00
	3			

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0314 516.0500 Rubberized Membrane Waterproofing	23.00	SY	\$24.000	\$552.00
0316 606.0300 Riprap Heavy	18.00	CY	\$58.600	\$1,054.80
0318 606.0400 Riprap Extra-Heavy	425.00	CY	\$60.000	\$25,500.00
0320 645.0105 Geotextile Type C	365.00	SY	\$2.450	\$894.25
0322 645.0120 Geotextile Type HR	485.00	SY	\$3.000	\$1,455.00

Total for Group 0030:\$172,365.25

Group 0040: c-44-123

0324 203.0200 Removing Old Structure (station) 01. STA 243 'EB' +32.26	1.00	LS	\$5,000.000	\$5,000.00
0326 206.2000 Excavation for Structures Culverts (structure) 01. C-44-123	1.00	LS	\$10,000.000	\$10,000.00
0328 210.2500 Backfill Structure Type B	1,696.00	TON	\$21.500 seems a little high based on BidX review but I am okay with this price	\$36,464.00
0330 311.0115 Breaker Run	200.00	CY	\$23.000	\$4,600.00
0332 504.0100 Concrete Masonry Culverts	114.00	CY	\$502.300 see comments under category 020\$570.00	\$57,262.20
0334 505.0400 Bar Steel Reinforcement HS Structures	400.00	LB	\$0.800	\$320.00
0336 505.0600 Bar Steel Reinforcement HS Coated Structures	22,055.00	LB	\$1.150	\$25,363.25
0338 516.0500 Rubberized Membrane Waterproofing	27.00	SY	\$24.000	\$648.00
0340 606.0300 Riprap Heavy	33.00	CY	\$58.600	\$1,933.80
12:31:30PM Monday, October 28, 2019				Page 18 of 19

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
0342 606.0400 Riprap Extra-Heavy	327.00	CY	\$60.000	\$19,620.00
0344 611.0642 Inlet Covers Type MS	2.00	EACH	\$370.000	\$740.00
0346 645.0105 Geotextile Type C	405.00	SY	\$2.450	\$992.25
0348 645.0120 Geotextile Type HR	385.00	SY	\$3.000	\$1,155.00

Total for Group 0040:\$164,098.50

Item Bid History

Bid X searches for all items need to be limited to the low 2-3 bidders. You are inconsistent throughout your data. Some searches only use the low bidder, some use the low two bidders, and some use all bidders.

Also, you should restrict your search to the most recent two years. Any data from 2016 is outdated at this point.

Statewide Search

Welcome alan.farrell@dot.wi.gov! Logout



Item Bid History for 201.0105

Clearing

Proposal				
Bidder	Unit	Quantity	Unit Price	Tota
20180109001				
HOFFMAN CONSTRUCTION COMPANY	STA	110.00000	\$369.25000	\$40,617.50
MASHUDA CONTRACTORS, INC.	STA	110.00000	\$369,25000	\$40,617.50
ZIGNEGO COMPANY, INC.	STA	110.00000	\$369.25000	\$40,617.50
JAMES PETERSON SONS, INC.	STA	110.00000	\$369.26000	\$40,618.60
20161213041				
-MONARCH PAVING COMPANY	STA-		\$1.00000	\$111.00
20170808004				
EDGERTON CONTRACTORS, INC.	STA	238.00000	\$358,70000	\$85,370.60
HOFFMAN CONSTRUCTION COMPANY	STA	238.00000	\$358,70000	\$85,370.60
INTEGRITY GRADING AND EXCAVATING, INC.	STA	238.00000	\$358,70000	\$85,370.60
SUPER WESTERN, INC.	STA	238.00000	\$358.70000	\$85,370.60
JAMES PETERSON SONS, INC.	STA	238.00000	\$359.00000	\$85,442.00
20180508013				
MUSSON BROS., INC.	STA	231.00000	\$425.00000	\$98,175.00
SUPER WESTERN, INC.	STA	231,00000	\$425,00000	\$98,175.00
EDGERTON CONTRACTORS, INC.	STA	231.00000	\$428.57000	\$98,999.67
JAMES PETERSON SONS, INC.	STA	231.00000	\$429,25000	\$99,156.75
MASHUDA CONTRACTORS, INC.	STA	231.00000	\$448.00000	\$103,488.00
20180612001				
JAMES PETERSON SONS, INC.	STA	124.00000	\$209,95000	\$26,033.80
ROCK ROAD COMPANIES, INC.	STA	124.00000	\$209,95000	\$26,033.80
ZIGNEGO COMPANY, INC.	STA	124.00000	\$209.95000	\$26,033.80
WILLIAM CHARLES CONSTRUCTION, LLC	STA	124.00000	\$399.99000	\$49,598.76
20170411037				
JAMES PETERSON SONS, INC.		-160.00000	-\$146.00000-	-\$23,360.00
MUSSON BROS., INC.	STA	160.00000	\$295.40000	\$47,264.00
A-I EXCAVATING INC.	STA	160.00000	\$300.00000	\$48,000.00
20170711001				
HOFFMAN CONSTRUCTION COMPANY	STA	172.00000	\$369.25000	\$63,511.00
ROCK ROAD COMPANIES, INC.	STA	172.00000	\$369.25000	\$63,511.00
ZENITH TECH., INC WAUKESHA	STA	172.00000	\$369.25000	\$63,511.00
JAMES PETERSON SONS, INC.	STA	172.00000	\$390,00000	\$67,080.00
20190409017	0111	172.00000	\$370.00000	\$07,000.00
*MASHUDA CONTRACTORS, INC.	STA	-119:00000-		\$1.19
RELYCO, INC.	STA	119.00000	\$395.00000	\$47,005.00
20171212010	om	119.00000	\$575.00000	φ+ <i>1</i> ,005.00
HOFFMAN CONSTRUCTION COMPANY	STA	165.00000	\$315,30000	\$52,024.50
SUPER WESTERN, INC.	STA	165.00000		\$52,024.50
WALSH CONSTRUCTION COMPANY II, LLC	STA	165.00000	\$315.30000 \$315.30000	
ZIGNEGO COMPANY, INC.		165.00000		\$52,024.50
PAYNE AND DOLAN, INC	STA		\$315.30000	\$52,024.50
	STA	165.00000	\$318.45000	\$52,544.25
JAMES PETERSON SONS, INC.	STA	165.00000	\$320.00000	\$52,800.00
MUSSON BROS., INC. 20170808001	STA	165.00000	\$357.00000	\$58,905.00

Search Parameters		
Item:	201.0105	
Unit:	STA	
Start Date:	10/17/2016	
End Date:	10/17/2019	
Minimum Quantity:	96	
Maximum Quantity:	288	

Bidders All None
A-1 EXCAVATING INC.
EARTH, INC.
DEDGERTON CONTRACTORS, INC.
GERKE EXCAVATING INC
HOFFMAN CONSTRUCTION COMPANY
☑ I-39 CONSTRUCTORS, LLC
☑ INTEGRITY GRADING AND EXCAVATING, INC.
JAMES PETERSON SONS, INC.
KRAEMER NORTH AMERICA, LLC
LUNDA CONSTRUCTION COMPANY
🗹 MASHUDA CONTRACTORS, INC.
MICHELS CORPORATION
MONARCH PAVING COMPANY
MUSSON BROS., INC.
PAYNE AND DOLAN, INC
Z RELYCO, INC.
ROCK ROAD COMPANIES, INC.
S & N INCORPORATED
SUPER WESTERN, INC.
VINTON CONSTRUCTION COMPANY
☑ WALSH CONSTRUCTION COMPANY II, LLC
WILLIAM CHARLES CONSTRUCTION, LLC
WISCON VALLEY CONSTRUCTORS, LLC
🗹 ZENITH TECH., INC WAUKESHA
ZIGNEGO COMPANY, INC.

Proposal				
Bidder	Unit	Quantity	Unit Price	Total
HOFFMAN CONSTRUCTION COMPANY	STA	120.00000	\$369.25000	\$44,310.00
ROCK ROAD COMPANIES, INC.	STA	120.00000	\$369,25000	\$44,310.00
JAMES PETERSON SONS, INC.	STA	120,00000	\$390.00000	\$46,800.00
20171114031				
LUNDA CONSTRUCTION COMPANY	STA	99.00000	\$250.00000	\$24,750.00
ZENITH TECH., INC WAUKESHA	STA	99.00000	\$250.00000	\$24,750.00
KRAEMER NORTH AMERICA, LLC	STA	99.00000	\$430.00000	\$42,570.00
20180313029				
MICHELS CORPORATION	STA	156.00000	\$399.00000	\$62,244.00
VINTON CONSTRUCTION COMPANY	STA	156.00000	\$399.00000	\$62,244.00
20181113001				
HOFFMAN CONSTRUCTION COMPANY	STA	128.00000	\$174.08000	\$22,282.24
MASHUDA CONTRACTORS, INC.	STA	128.00000	\$174.08000	\$22,282.24
JAMES PETERSON SONS, INC.	STA	128.00000	\$176.00000	\$22,528.00
20181211001				
I-39 CONSTRUCTORS, LLC	STA	163,00000	\$269.03000	\$43,851.89
20180710010				
MASHUDA CONTRACTORS, INC.	STA	242.00000	\$252.24000	\$61,042.08
ZIGNEGO COMPANY, INC.	STA	242.00000	\$252.24000	\$61,042.08
20190709002				
MASHUDA CONTRACTORS, INC.	STA	100.00000	\$263.75000	\$26,375.00
ROCK ROAD COMPANIES, INC.	STA	100.00000	\$520,00000	\$52,000.00
HOFFMAN CONSTRUCTION COMPANY	STA	-100:00000-	\$601:00000	\$60,100.00
-MICHELS-CORPORATION	STA	-100.00000-	-\$601.00000-	-\$60;100:00
-ZIGNEGO COMPANY, INC.	STA	-100.00000-	\$601:00000	\$60,100.00
20161108001				
EDGERTON CONTRACTORS, INC.	STA	176.00000	\$200,00000	\$35,200.00
HOFFMAN CONSTRUCTION COMPANY	STA	176.00000	\$200.00000	\$35,200.00
ZIGNEGO COMPANY, INC.	STA	176.00000	\$200.00000	\$35,200.00
INTEGRITY GRADING AND EXCAVATING, INC.	STA	176.00000	\$250.00000	\$44,000.00
MICHELS CORPORATION	STA	176.00000	\$250.00000	\$44,000.00
JAMES PETERSON SONS, INC.	STA	176.00000	\$250,00000	\$44,000.00
ROCK ROAD COMPANIES, INC.	STA	176.00000	\$250,00000	\$44,000.00
WALSH CONSTRUCTION COMPANY II, LLC	STA	176.00000	\$250,00000	\$44,000.00
MASHUDA CONTRACTORS, INC.	STA	176.00000	\$325,00000	\$57,200.00
20190709001	5171	170.00000	\$525.00000	\$57,200.00
I-39 CONSTRUCTORS, LLC	STA	109.00000	\$314.39000	\$34,268.51
	STA	109.00000	\$314.39000	\$34,268.51
LUNDA CONSTRUCTION COMPANY				
WALSH CONSTRUCTION COMPANY II, LLC	STA	109.00000	\$345.83000	\$37,695.47
MASHUDA CONTRACTORS, INC.	STA	109.00000	\$350.00000	\$38,150.00
-ZENITH TECH., INC WAUKESHA	STA	-109:00000-	\$651:00000	\$70,959:00
20180410015				
-MASHUDA-CONTRACTORS, INC.	STA	-155,00000-	\$0:01000	\$1.55
-S & N INCORPORATED	STA	155:00000	\$1.00000	\$155.00
EARTH, INC.	STA	-1-55:00000-	\$20:00000	\$3,100.00
JAMES PETERSON SONS, INC.	STA	155.00000	\$275,00000	\$42,625.00
INTEGRITY GRADING AND EXCAVATING, INC.	STA	155.00000	\$316,50000	\$49,057.50
20170509001				
EDGERTON CONTRACTORS, INC.	STA	112.00000	\$321.00000	\$35,952.00
HOFFMAN CONSTRUCTION COMPANY	STA	112.00000	\$321.00000	\$35,952.00
ROCK ROAD COMPANIES, INC.	STA	112.00000	\$400.00000	\$44,800.00
20170110012				
EARTH, INC.	STA	-109:00000-	-\$100.00000-	\$10,900.00
MICHELS CORPORATION	STA	109.00000	\$194.63000	\$21,214.67
MASHUDA CONTRACTORS, INC.	STA	109.00000	\$200,00000	\$21,800.00
MUCCON DROG DIG	STA	109.00000	\$213.00000	\$23,217.00
MUSSON BROS., INC.				
Proposal				
--	------	-----------	-------------	-------------
Bidder	Unit	Quantity	Unit Price	Total
INTEGRITY GRADING AND EXCAVATING, INC.	STA	109.00000	\$250.00000	\$27,250.00
JAMES PETERSON SONS, INC.	STA	109.00000	\$250.00000	\$27,250.00
RELYCO, INC.	STA	109.00000	\$250.00000	\$27,250.00
A-1 EXCAVATING INC.	STA	109.00000	\$260.00000	\$28,340.00
20180522001				
MICHELS CORPORATION	STA	135.00000	\$295.40000	\$39,879.00
WISCON VALLEY CONSTRUCTORS, LLC	STA	135,00000	\$298.38000	\$40,281.30
WALSH CONSTRUCTION COMPANY II, LLC	STA	135.00000	\$335,38000	\$45,276.30

Copyright © 2019, Info Tech, Inc. All rights reserved.

Removed Outlier Bids

Ave =
$$\frac{$14069.09}{88-11} = $312.59$$

Used = \$315

Ś

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

Bid Express

Item Bid History for 201.0120

Clearing

Proposal					Search Parameters
Bidder	Unit	Quantity	Unit	Total	Item: 201.0120
	•	Q	Price		Counties: Outagamie, Brown, Winnebago, Sheboygan, C
20161213028					Unit: ID
PETERS CONCRETE COMPANY	ID	-140.00000	\$0.01000	\$1.40	Start 10/17/2016
· PTASCHINSKI CONSTRUCTION, INC.	-IÐ	-140:00000-	\$0:010 00-	\$1.40	Date:
MICHELS CORPORATION	ID	140.00000	\$14.57000	\$2,039.80	End Date: 10/17/2019
VINTON CONSTRUCTION COMPANY	ID	140.00000	\$15.00000	\$2,100.00	Minimum 96 Quantity:
MUSSON BROS., INC.	ID	140.00000	\$20.00000	\$2,800.00	Western
JAMES PETERSON SONS, INC.	ID	140.00000	\$20.00000	\$2,800.00	Quantity: 288
20171212001					
MICHELS CORPORATION	ID	160.00000	\$17.15000	\$2,744.00	Bidders All None
JAMES PETERSON SONS, INC.	ID	160.00000	\$17.15000	\$2,744.00	HOFFMAN CONSTRUCTION COMPANY
VINTON CONSTRUCTION COMPANY	ID	160.00000	\$17.15000	\$2,744.00	3. Construction of the
20190312036					☑ INTEGRITY GRADING AND EXCAVATING, INC.
MCC, INC.	ID	250.00000	\$20.00000	\$5,000.00	
MICHELS CORPORATION	ID	250.00000	\$25.00000	\$6,250.00	JAMES PETERSON SONS, INC.
JAMES PETERSON SONS, INC.	ID	250.00000	\$25.00000	\$6,250.00	MASHUDA CONTRACTORS, INC.
RELYCO, INC.	ID	250.00000	\$25.00000	\$6,250.00	MCC, INC.
RC EXCAVATING, INC.	ID	250.00000	\$25.50000	\$6,375.00	MICHELS CORPORATION
20161213027					MUSSON BROS., INC.
	IĐ	-286.00000-		\$1,155.44	☑ PETERS CONCRETE COMPANY
MASHUDA CONTRACTORS, INC.	ID	-286:00000	\$6:50000-	\$1,859.00	✓ PTASCHINSKI CONSTRUCTION, INC.
HOFFMAN CONSTRUCTION COMPANY	ID	286.00000	\$12.00000	\$3,432.00	RC EXCAVATING, INC.
INTEGRITY GRADING AND EXCAVATING, INC.	ID	286.00000	\$12.00000	\$3,432.00	 ✓ RC EXCAVATING, INC. ✓ RELYCO, INC.
MICHELS CORPORATION	ID	286.00000	\$12.00000	\$3,432.00	STARK PAVEMENT CORPORATION
RELYCO, INC.	ID	286.00000	\$12.00000	\$3,432.00	VINTON CONSTRUCTION COMPANY
JAMES PETERSON SONS, INC.	ID	286.00000	\$13.00000	\$3,718.00	
MUSSON BROS., INC.	ID	286.00000	\$14.50000	\$4,147.00	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Remo

Used = \$20.00



MyBidx Messages Help

Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	203.0100 ☑ Smart Item Search	Date From:	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items	Any	22	66
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond d ι		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	1	· · · · · · · · · · · · · · · · · · ·	L
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
203.0100	Removing Small Pipe Culverts	\$150.61	\$300.00	\$100.00	EACH	7 Bids





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

Item:	204.0150 Ø Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quanti From:	ty Range: To:
Proposal Items	Any	1422	4265
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Description		Average	High	Low	Unit	Bid Count
204.0150	Removing Curb	& Gutter	\$2.88	\$15.00	\$1.00	LF	39 Bids
Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantit	Proposal y Bid Count
04/09/2019	016 - 20190409016	Fond Du Lac	\$3.75	\$4.50	\$3.00	1,508.000	00 LF 2 Bids
01/15/2019	018 - 20190115018	Winnebago	\$1.67	\$2.00	\$1.00	3,500.000	00 LF 3 Bids
-06/12/2018-	-01320180612013-	-Calumet	\$15.00 -	\$15.00	\$15.00 -		90-LF1-Bid-
03/13/2018	034 - 20180313034	Outagamie Waupaca	\$2.86	\$3.98	\$2.00	1,719.000	00 LF 6 Bids
12/12/2017	014 - 20171212014	Brown, Oconto	\$2.42	\$3.90	\$1.50	2,575.0000	00 LF 4 Bids
08/08/2017	010 - 20170808010	Winnebago	\$2.90	\$3.00	\$2.50	3,295.000	00 LF 5 Bids
05/09/2017	021 - 20170509021	Outagamie	\$3.78	\$5.00	\$2.84	1,900.0000	00 LF 3 Bids
01/10/2017	008 - 20170110008	Fond Du Lac	\$2.15	\$3.00	\$1.00	1,700.000	00 LF 15 Bids
					Total Quantity:	17,621.0000	0 LF

ontlier Kemoved

Copyright © 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/btasearch

Ave

10/17/2019

9



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	204.0155 ☑ Smart Item Search	Date From: 10/17/2016	Range: ^{To:} 10/17/2019
Description:	Any	Quanti From:	t y Range: To:
Proposal Items	Any	39	116
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond dl		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any	J	L
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Description		Average	High	Low	Unit Bid	Count
204.0155	Removing Conc	rete Sidewalk	\$10.63	\$25.00	\$3.03	SY 17	' Bids
Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
05/14/2019	028 - 20190514028	Winnebago	\$20.00	\$25.00	\$15.00	75.00000 SY	2 Bids
11/13/2018	023 - 20181113023	Calumet	\$10.96	\$23.23	\$5.25	106.00000 SY	6 Bids
05/08/2018	015 - 20180508015	Fond Du Lac	\$15.00	\$15.00	\$15.00	94.00000 SY	1 Bid
12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$7.49	\$10.00	\$3.03	85.00000 SY	8 Bids
				1	Total Quantity:	360.00000 SY	



Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

Bid Express

Item Bid History for 204.0170

Removing Fence

Statewide Search

KENNY CONSTRUCTION COMPANY ROCK ROAD COMPANIES, INC.ZENITH TECH., INC WAUKESHADUNNET BAY CONSTRUCTION OMPANYKRAEMER NORTH AMERICA, LLCLUNDA CONSTRUCTION COMPANYD170314016MICHELS CORPORATION MUSSON BROS., INC.JAMES PETERSON SONS, INC.VINTON CONSTRUCTION COMPANYC.W. PURPERO, INC.LALONDE CONTRACTORS ICORPORATEDD190813003INTEGRITY GRADING AND XCAVATING, INC.LALONDE CONTRACTORS ICORPORATEDMICHELS CORPORATIONJAMES PETERSON SONS, INC.LALONDE CONTRACTORS ICORPORATEDJINTEGRITY GRADING AND XCAVATING, INC.LALONDE CONTRACTORS ICORPORATEDMICHELS CORPORATIONJAMES PETERSON SONS, INC.JAMES	LF LF LF LF LF LF LF LF LF LF LF	817.00000 817.00000 817.00000 817.00000 817.00000 817.00000 817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000 1,020.00000	\$1.00000 \$1.00000 \$1.00000 \$1.65000 \$1.65000 \$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$817.00 \$817.00 \$817.00 \$1,348.05 \$1,348.05 \$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,212.125.41 \$2,040.00
KENNY CONSTRUCTION COMPANY ROCK ROAD COMPANIES, INC.ZENITH TECH., INC WAUKESHADUNNET BAY CONSTRUCTION OMPANYKRAEMER NORTH AMERICA, LLCLUNDA CONSTRUCTION COMPANYD170314016MICHELS CORPORATION MUSSON BROS., INC.JAMES PETERSON SONS, INC.VINTON CONSTRUCTION COMPANYC.W. PURPERO, INC.LALONDE CONTRACTORS ICORPORATEDD190813003INTEGRITY GRADING AND XCAVATING, INC.LALONDE CONTRACTORS ICORPORATEDMICHELS CORPORATIONJAMES PETERSON SONS, INC.LALONDE CONTRACTORS ICORPORATEDD190813003INTEGRITY GRADING AND XCAVATING, INC.LALONDE CONTRACTORS ICORPORATEDMICHELS CORPORATIONJAMES PETERSON SONS, INC.JAMES PETERSON SONS, I	LF LF LF LF LF LF LF LF LF LF	 817.00000 817.00000 817.00000 817.00000 817.00000 817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 	\$1.00000 \$1.00000 \$1.65000 \$1.65000 \$1.65000 \$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$817.00 \$817.00 \$817.00 \$1,348.05 \$1,348.05 \$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
ROCK ROAD COMPANIES, INC.ZENITH TECH., INC WAUKESHADUNNET BAY CONSTRUCTION OMPANYKRAEMER NORTH AMERICA, LLCLUNDA CONSTRUCTION COMPANYD170314016MICHELS CORPORATIONMUSSON BROS., INC.JAMES PETERSON SONS, INC.VINTON CONSTRUCTION COMPANYC.W. PURPERO, INC.LALONDE CONTRACTORS (CORPORATEDD190813003INTEGRITY GRADING AND (CAVATING, INC.LALONDE CONTRACTORS (CORPORATEDMICHELS CORPORATIONJAMES PETERSON SONS, INC.LALONDE CONTRACTORS (CORPORATEDD190813003INTEGRITY GRADING AND (CAVATING, INC.LALONDE CONTRACTORS (CORPORATEDMICHELS CORPORATIONJAMES PETERSON SONS, INC.JAMES PETERSON SONS, INC.<	LF LF LF LF LF LF LF LF LF LF	 817.00000 817.00000 817.00000 817.00000 817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,040000 	\$1.00000 \$1.00000 \$1.65000 \$1.65000 \$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$817.00 \$817.00 \$1,348.05 \$1,348.05 \$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
ZENITH TECH., INC WAUKESHA DUNNET BAY CONSTRUCTION OMPANY KRAEMER NORTH AMERICA, LLC LUNDA CONSTRUCTION COMPANY D170314016 MICHELS CORPORATION MUSSON BROS., INC. JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED D190813003 INTEGRITY GRADING AND KCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC.	LF LF LF LF LF LF LF LF LF	 817.00000 817.00000 817.00000 817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000 1,020.00000 	\$1.00000 \$1.65000 \$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000	\$817.00 \$1,348.05 \$1,348.05 \$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
DUNNET BAY CONSTRUCTION OMPANY KRAEMER NORTH AMERICA, LLC LUNDA CONSTRUCTION COMPANY D170314016 MICHELS CORPORATION MUSSON BROS., INC. JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED D190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. D171114038 HOFFMAN CONSTRUCTION COMPANY	LF LF LF LF LF LF LF LF LF	817.00000 817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000	\$1.65000 \$1.65000 \$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,348.05 \$1,348.05 \$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
OMPANY KRAEMER NORTH AMERICA, LLC LUNDA CONSTRUCTION COMPANY D170314016 MICHELS CORPORATION MUSSON BROS., INC. JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED 190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. JAMES PETERSON SONS, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 171114038 HOFFMAN CONSTRUCTION COMPANY	LF LF LF LF LF LF LF LF	817.00000 817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000	\$1.65000 \$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,348.05 \$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040,00
LUNDA CONSTRUCTION COMPANY D170314016 MICHELS CORPORATION MUSSON BROS., INC. JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED 190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 171114038	LF LF LF LF LF LF LF	817.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000	\$1.65000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,348.05 \$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
D170314016 MICHELS CORPORATION MUSSON BROS., INC. JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED D190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 171114038 HOFFMAN CONSTRUCTION COMPANY	LF LF LF LF LF LF	1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000	\$1.30000 \$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,361.10 \$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
MICHELS CORPORATION MUSSON BROS., INC. JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED 190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 1711114038 HOFFMAN CONSTRUCTION COMPANY	LF LF LF LF LF LF	1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000	\$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
MUSSON BROS., INC. I JAMES PETERSON SONS, INC. I VINTON CONSTRUCTION COMPANY I C.W. PURPERO, INC. I LALONDE CONTRACTORS I ICORPORATED I 190813003 I INTEGRITY GRADING AND I XCAVATING, INC. I LALONDE CONTRACTORS I ICORPORATED I MICHELS CORPORATION I JAMES PETERSON SONS, INC. I ZIGNEGO COMPANY, INC. I EDGERTON CONTRACTORS, INC. I 171114038 HOFFMAN CONSTRUCTION COMPANY I	LF LF LF LF LF LF	1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000	\$1.30000 \$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,361.10 \$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
JAMES PETERSON SONS, INC. VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS (CORPORATED DI90813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS (CORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. DI71114038 HOFFMAN CONSTRUCTION COMPANY	LF LF LF LF LF	1,047.00000 1,047.00000 1,047.00000 1,047.00000 1,020.00000 1,020.00000	\$1.30000 \$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,361.10 \$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
VINTON CONSTRUCTION COMPANY C.W. PURPERO, INC. LALONDE CONTRACTORS ICORPORATED 190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC.	LF LF LF LF LF	1,047.00000 1,047.00000 1,047.00000 1,020.00000 1,020.00000	\$1.30000 \$1.45000 \$2.03000 \$2.00000	\$1,361.10 \$1,518.15 \$2,125.41 \$2,040.00
C.W. PURPERO, INC.	LF LF LF LF	1,047.00000 1,047.00000 1,020.00000 1,020.00000	\$1.45000 \$2.03000 \$2.00000	\$1,518.15 \$2,125.41 \$2,040.00
LALONDE CONTRACTORS Integrity GRADING AND NTEGRITY GRADING AND Integrity GRADING AND KCAVATING, INC. Integrity GRADING AND LALONDE CONTRACTORS Integrity GRADING AND MICHELS CORPORATED Integrity GRADING AND MICHELS CORPORATION Integrity GRADING AND JAMES PETERSON SONS, INC. Integrity GRADING AND ZIGNEGO COMPANY, INC. Integrity GRADING AND HOFFMAN CONSTRUCTION COMPANY Integrity GRADING AND	LF LF LF	1,047.00000 1,020.00000 1,020.00000	\$2.03000 \$2.00000	\$2,125.41 \$2,040.00
ICORPORATED 190813003 INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 1711114038 HOFFMAN CONSTRUCTION COMPANY	LF LF LF	1,020.00000 1,020.00000	\$2.00000	\$2,040.00
INTEGRITY GRADING AND XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 1711114038 HOFFMAN CONSTRUCTION COMPANY	LF LF	1,020.00000		
XCAVATING, INC. LALONDE CONTRACTORS ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 171114038 HOFFMAN CONSTRUCTION COMPANY	LF LF	1,020.00000		
ICORPORATED MICHELS CORPORATION JAMES PETERSON SONS, INC. ZIGNEGO COMPANY, INC. EDGERTON CONTRACTORS, INC. 171114038 HOFFMAN CONSTRUCTION COMPANY	LF		\$2.00000	\$2,040.00
JAMES PETERSON SONS, INC. J ZIGNEGO COMPANY, INC. J EDGERTON CONTRACTORS, INC. J 171114038 HOFFMAN CONSTRUCTION COMPANY		1,020.00000		
ZIGNEGO COMPANY, INC. I EDGERTON CONTRACTORS, INC. I 171114038 HOFFMAN CONSTRUCTION COMPANY	LF		\$2.00000	\$2,040.00
EDGERTON CONTRACTORS, INC.		1,020.00000	\$2.00000	\$2,040.00
171114038 HOFFMAN CONSTRUCTION COMPANY	LF	1,020.00000	\$2.00000	\$2,040.00
HOFFMAN CONSTRUCTION COMPANY	LF	1,020.00000	\$2.03000	\$2,070.60
MICHELS CORPORATION	LF	1,026.00000	\$2.00000	\$2,052.00
MICHEES CORE ORATION	LF	1,026.00000	\$2.00000	\$2,052.00
MUSSON BROS., INC.	LF	1,026.00000	\$2.00000	\$2,052.00
SUPER WESTERN, INC.	LF	1,026.00000	\$2.00000	\$2,052.00
JAMES PETERSON SONS, INC.	LF	1,026.00000	\$3.00000	\$3,078.00
190312021				
JAMES PETERSON SONS, INC.	LF	959.00000	\$2.25000	\$2,157.75
SUPER WESTERN, INC.	LF	959.00000	\$2.25000	\$2,157.75
MICHELS CORPORATION	LF	959.00000	\$3.50000	\$3,356.50

Search Parameters		
Item:	204.0170	
Unit:	LF	
Start Date:	10/17/2016	
End Date:	10/17/2019	
Minimum Quantity:	697	
Maximum Quantity:	2090	2

Bidders All None
A-1 EXCAVATING INC.
☑ C.W. PURPERO, INC.
☑ CONCRETE STRUCTURES, INC.
DUNNET BAY CONSTRUCTION COMPANY
🗹 EARTH, INC.
☑ EDGERTON CONTRACTORS, INC.
🗹 FRANK SILHA & SONS EXCAVATING, INC
GERKE EXCAVATING INC
☑ H. JAMES & SONS, INC
HOFFMAN CONSTRUCTION COMPANY
☑ INTEGRITY GRADING AND EXCAVATING, INC.
☑ JAMES PETERSON SONS, INC.
☑ JANKE GENERAL CONTRACTORS, INC.
☑ KENNY CONSTRUCTION COMPANY
☑ KRAEMER NORTH AMERICA, LLC
☑ LALONDE CONTRACTORS INCORPORATED
☑ LUNDA CONSTRUCTION COMPANY
MASHUDA CONTRACTORS, INC.
MATTISON CONTRACTORS, INC.
MCCABE CONSTRUCTION, INC.
MCGUIRE INC
MICHELS CORPORATION
MONARCH PAVING COMPANY
MUSSON BROS., INC.

Bidder	Unit	Quantity	Unit Price	Total
MONARCH PAVING COMPANY	LF	1,000.00000	\$2.50000	\$2,500.00
20181113001				
HOFFMAN CONSTRUCTION COMPANY	LF	1,435.00000	\$3.10000	\$4,448.50
MASHUDA CONTRACTORS, INC.	LF	1,435.00000	\$3.10000	\$4,448.50
JAMES PETERSON SONS, INC.	LF	1,435.00000	\$3.10000	\$4,448.50
20161213009				
PAYNE AND DOLAN, INC	LF	1,060.00000	\$4.00000	\$4,240.00
STARK PAVEMENT CORPORATION	LF	1,060.00000	\$4.00000	\$4,240.00
ZIGNEGO COMPANY, INC.	LF	1,060.00000	\$4.00000	\$4,240.00
20180508006				
H. JAMES & SONS, INC	LF	1,010.00000	\$1.75000	\$1,767.50
MCGUIRE INC	LF	1,010.00000	\$3.00000	\$3,030.00
RULE CONSTRUCTION, LTD.	LF	1,010.00000	\$5.00000	\$5,050.00
20161213018				
NORTHEAST ASPHALT, INC	LF	710.00000	\$1.00000	\$710.00
20190115029				
KRAEMER NORTH AMERICA, LLC	LF	890.00000	\$1.55000	\$1,379.50
LUNDA CONSTRUCTION COMPANY	LF	890.00000	\$1.55000	\$1,379.50
ZENITH TECH., INC WAUKESHA	LF	890.00000	\$1.55000	\$1,379.50
20170214007				
ZENITH TECH., INC WAUKESHA	LF	763.00000	\$2.00000	\$1,526.00
CONCRETE STRUCTURES, INC.	LF	763.00000	\$4.00000	\$3,052.00
KRAEMER NORTH AMERICA, LLC	LF	763.00000	\$4.00000	\$3,052.00
RADTKE CONTRACTORS INC.	LF	763.00000	\$4.00000	\$3,052.00
JANKE GENERAL CONTRACTORS, INC.	LF	763.00000	\$4.20000	\$3,204.60
20180213032				
LUNDA CONSTRUCTION COMPANY	LF	1,218.00000	\$1.52000	\$1,851.36
ZENITH TECH., INC WAUKESHA	LF	1,218.00000	\$1.52000	\$1,851.36
20170912005				
VINTON CONSTRUCTION COMPANY	LF	1,115.00000	\$1.50000	\$1,672.50
JAMES PETERSON SONS, INC.	LF	1,115.00000	\$3.50000	\$3,902.50
HOFFMAN CONSTRUCTION COMPANY	LF	1,115.00000	\$4.50000	\$5,017.50
MICHELS CORPORATION	LF	1,115.00000	\$4.50000	\$5,017.50
MUSSON BROS., INC.	LF	1,115.00000	\$4.50000	\$5,017.50
SUPER WESTERN, INC.	LF	1,115.00000	\$4.50000	\$5,017.50
20190212011				
PETERS CONCRETE COMPANY	LF	802.00000	\$3.25000	\$2,606.50
RELYCO, INC.	LF	802.00000	\$3.25000	\$2,606.50
VINTON CONSTRUCTION COMPANY	LF	802.00000	\$3.25000	\$2,606.50
20180213034				
HOFFMAN CONSTRUCTION COMPANY	LF	1,200.00000	\$5.00000	\$6,000.00
MICHELS CORPORATION	LF	1,200.00000	\$5.00000	\$6,000.00
VINTON CONSTRUCTION COMPANY	LF	1,200.00000	\$7.00000	\$8,400.00
ZIGNEGO COMPANY, INC.	LF	1,200.00000	\$7.00000	\$8,400.00
20161213034				
-A-1-EXCAVATING INC.	-LF		-\$0:01000-	\$8.35
-MASHUDA-CONTRACTORS, INC.	-LF			\$8.35

Bidders All None
☑ NORTHEAST ASPHALT, INC
🗹 PAYNE AND DOLAN, INC
PETERS CONCRETE COMPANY
☑ RADTKE CONTRACTORS INC.
☑ RELYCO, INC.
ROCK ROAD COMPANIES, INC.
☑ RULE CONSTRUCTION, LTD.
STARK PAVEMENT CORPORATION
☑ SUPER WESTERN, INC.
VINTON CONSTRUCTION COMPANY
☑ WALSH CONSTRUCTION COMPANY II, LLC
ZENITH TECH., INC WAUKESHA
ZIGNEGO COMPANY, INC.

Bidder	Unit	Quantity	Unit Price	Tota
INTEGRITY GRADING AND EXCAVATING, INC.	LF	835.00000	\$1.50000	\$1,252.50
MCCABE CONSTRUCTION, INC.	LF	835.00000	\$1.50000	\$1,252.50
MUSSON BROS., INC.	LF	835.00000	\$1.50000	\$1,252.50
JAMES PETERSON SONS, INC.	LF	835.00000	\$1.50000	\$1,252.50
ZENITH TECH., INC WAUKESHA	LF	835.00000	\$1.50000	\$1,252.50
EARTH, INC.	LF	835.00000	\$2.00000	\$1,670.00
20161108005				
MICHELS CORPORATION	LF	1,500.00000	\$2.00000	\$3,000.00
VINTON CONSTRUCTION COMPANY	LF	1,500.00000	\$2.00000	\$3,000.00
ZIGNEGO COMPANY, INC.	LF	1,500.00000	\$2.00000	\$3,000.00
JAMES PETERSON SONS, INC.	LF	1,500.00000	\$2.10000	\$3,150.00
GERKE EXCAVATING INC	LF	1,500.00000	\$3.00000	\$4,500.00
INTEGRITY GRADING AND EXCAVATING, INC.	LF	1,500.00000	\$3.00000	\$4,500.00
SUPER WESTERN, INC.	LF	1,500.00000	\$3.00000	\$4,500.00
A-1 EXCAVATING INC.	LF	1,500.00000	\$3.50000	\$5,250.00
20180109012				
LUNDA CONSTRUCTION COMPANY	LF	1,120.00000	\$3.00000	\$3,360.00
WALSH CONSTRUCTION COMPANY II, LLC	LF	1,120.00000	\$3.00000	\$3,360.00
ZENITH TECH., INC WAUKESHA	LF	1,120.00000	\$3.00000	\$3,360.00
SUPER-WESTERN, INC.	-LF-	1,120.00000	-\$10.00000-	\$11,200 :00
20180313040				
MATTISON CONTRACTORS, INC.	LF	1,457.00000	\$1.25000	\$1,821.25
20190312012				
ROCK ROAD COMPANIES, INC.	LF	1,165.00000	\$1.85000	\$2,155.25
FRANK SILHA & SONS EXCAVATING, INC	LF	1,165.00000	\$1.85000	\$2,155.25

Removed outliers





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	204.0195 ☑ Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019	
Description:	Any	Quantit	ty Range: To:	
Proposal Items	sAny	2	5	
County:	Any	Price Range:		
Unit:	Any	From: Any	To: Any	
Low Bidders:	Any			
		Search	Clear	

Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
204.0195 Removing Concrete Bases		\$296.20	\$1,584.00	\$47.11	EACH	102 Bids





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	204.0210 ☑ Smart Item Search	Date From: 10/17/2016	Range: ^{To:} 10/17/2019
Description:	Any	Quanti From:	ty Range: To:
Proposal Items	Any	0	2
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

tem 🔺	Description	1	Average	High	Low	Unit	Bid Count
204.0210 Removing Manholes		oles	\$454.44	\$900.00	\$231.00	EACH	28 Bids
Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantit	Proposa y Bid Count
04/09/2019	016 - 20190409016	Fond Du Lac	\$425.00	\$500.00	\$350.00	1.00000 E	ACH 2 Bids
03/12/2019	030 - 20190312030	Brown	\$558.75	\$650.00	\$485.00	2.00000 E	ACH 4 Bids
05/08/2018	015 - 20180508015	Fond Du Lac	\$500.00	\$500.00	\$500.00	2.00000 E	ACH 1 Bid
11/14/2017	020 - 20171114020	Winnebago	\$490.25	\$900.00	\$231.00	1.00000 E	ACH 4 Bids
06/13/2017	030 - 20170613030	Winnebago	\$358.75	\$435.00	\$300.00	1.00000 E	ACH 4 Bids
05/09/2017	027 - 20170509027	Outagamie	\$525.00	\$525.00	\$525.00	1.00000 E	ACH 3 Bids
03/14/2017	018 - 20170314018	Sheboygan	\$379.51	\$500.00	\$318.55	1.00000 E	ACH 3 Bids
12/13/2016	016 - 20161213016	Brown, Outagam	ie \$425.05	\$475.16	\$400.00	1.00000 E	ACH 3 Bids
12/13/2010	022 - 20161213022	Winnebago	\$438.62	\$500.00	\$350.00	2.00000 E	ACH 4 Bids
					Total Quantity:	12.00000 EA	АСН

Copyright © 2019, Info Tech, Inc. All rights reserved.

Average of Proposal Average = 14100.93 - 5455.66 usel = \$460 10/17/2019

https://www.bidx.com/wi/btasearch

Bid Express

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	Any Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Removing Storm Sewer	Quantity Range:
Proposal Items:	Any	143 428
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: Any To: Any
Low Bidders:	Any	
		Search Clear

						Export (csv) Export (
Item 🛋	Description	Average	High	Low	Unit	Bid Count
204:0245	Removing Storm Sewer (size) 04. 24-Inch	\$25.57	\$26:00	\$25.14	LF	2-Bids-
204:0245	Removing-Storm Sower (size) 06: 24 Inch	\$13:38	\$28:00	\$3:60	LF	15 Bids
204:0245	Removing Storm Sewer (size) 03: 18-21-Inch-	\$14.98	\$18:00	\$8.93	LF	3 Bids
204:0245	Removing Storm Sewer (size) 002. 18-21 Inches	\$19:60	\$29:20	\$10:00	- LF	
204:0245	Removing Stonn Sewer (size) 07. 48-Inch	\$62.78	\$66:00	\$59:55	-LF	2-Bids-
204:0245	Removing Storm Sewer (size) 06: 42-Inch	\$41.33	\$72:00	\$10:00	LF	3 Bids
204:0245	Removing Storm Sewer (size) 02: 8-Inch	\$11.40	\$30:00	\$5.50	LF	15 Bids
204.0245	Removing Storm-Sewer (size) 05. 18-Inch	\$4.00	\$5.00	\$3:00	LF	
204:0245	Removing Storm-Sewer (size) 004. 18-INCH	\$21.48	\$36:00	\$7.07	LF	10 Bids
204:0245	Removing Storm Sewer (size) 005-24-INCH	\$21.10	\$26.23	\$19.82	LF	5-Bids-
204:0245		\$8:38	\$18:92		LF	
204.0245	Removing Storm Sewer (size) 05. 36-42 Inch	\$24.57	\$26.00	\$21:71	LF	3 Bids
204:0245	Removing Storm Sewer (size) 02. 15 INCH	\$13.27	\$17.30	\$5.30	LF	
204:0245	Removing Storm Sewer (size) 04-18-Inch	\$19:22	\$25:00	\$12:00	LF	4 Bids
204:0245	Removing Storm Sewer (size) 07. 42-INCH	\$33.05	\$42.60	\$14.24	-LF	
204:0245	Removing Storm Sewer (size) 05: 30-Inch	\$27.30	\$33.00	\$21.65	LF	6-Bids-
204:0245	Removing Storm Sewer (size) 03: 18 - 24-Inch	\$23.65	\$25.00	\$22.30	LF	2 Bids
204.0245	Removing Storm Sewer (size) 02. 12-Inch	\$18.53	\$30.00	\$12.00	LF	4 Bids
204:0245	Removing-Storm-Sewer (size) 02. 15 Inch	\$23.93	\$38,21	\$10.00	F	9-Bids
204.0245	Removing Storm Sewer (size) 01. 12-Inch or Less	\$28.53	\$44.00	\$15.00	LF	5 Bids
204:0245	Removing Storm Sower (size) 05-24-INCH	\$9:01	\$9:04	\$9.00	-LF	
204:0245	Removing Storm Sewer (size) 06: 30-INCH	\$14.97	\$25.73	\$9.97	-LF	
204:0245	Removing-Storm-Sewer-(size) 0430 INGH	\$18:06	\$21.33	\$11.60	-LF	
204.0245	Removing Storm Sewer (size) 01. 12-Inch	\$15.88	\$18.50	\$15.00	LF	4 Bids
204.0245		\$11.94	\$30:00	\$2.00	-LF	
204:0245	Removing Storm Sewer (size) 03: 24 INCH	\$14.46	\$18.28	\$6.90	LF	3 Bids
204.0245	Removing Storm Sewer (size) 002. 12-INCH	\$14.49	\$15.18	\$14.32	LF	5 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/btasearch

Bid Express

Welcome alan.farrell@dot.wi.gov! Logout



Export (csv) | Export (tab)

Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

Item:	Any	Date Range: From: To:
	Smart Item Search	10/17/2016 10/17/2019
Description:	Removing Storm Sewer	Quantity Range: From: To:
Proposal Items:	Any	172 516
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

T.	D 1 d	1	*** 1		¥7. 4.	D'I G
Item 🔺	Description	Average	High	Low	Unit	Bid Count
-204:0245	Removing Storm Sower (size) 02. 15-Inch	\$27.93	\$33.80	\$20.00	LE	3 Bids
204.0245	Removing Storm Sewer (size) 007: 30-Inch	\$16:42	\$26.00	\$7.00	LF	
-204:0245	Removing Storm Sower (size) 02. 10 INCH	\$9:09	\$9.28	\$9:00	LF	
204:0245	Removing Storm Sower (size) 05. 36-42 Inch	\$24.57	\$26.00	\$21.71	LF	
204.0245	Removing Storm Sewer (size) 05: 18-Inch	\$4.00	\$5.00	\$3,00	LF	
204:0245	Removing Storm Sewer (size) 02. 8-Inch	\$11.40	\$30:00	\$5.50	LF	15 Bids
204:0245	Removing-Storm Sewer (size) 04. 18-Inch	\$19.22	\$25:00	\$12.00	LF	
204.0245	Removing Storm Sewer (size) 02. 12-Inch	\$23.78	\$51.00	\$12.00	LF	8 Bids
204.0245	Removing Storm Sewer (size) 03. 18 - 24-Inch	\$23.65	\$25.00	\$22.30	LF	2 Bids
204:0245	Removing Storm Sewer (size) 06: 24-Inch	\$13.38	\$28.00	\$3:60-	LF	15-Bids
204.0245	Removing Storm Sewer (size) 03. 12-Inch	\$11.94	\$30:00	\$2:00	LF	17 Bids
204.0245	Removing Storm Sewer (size) 04. 24-30 Inch	\$17.19	\$20.00	\$11.58	LF	3 Bids
204:0245	Removing Storm Sewer (size) 02: 10-Inch	\$2.50	\$3.00	\$2.00	LF	2 Bids-
204:0245	Removing-Storm-Sewer (size) 01. 8-INCH	\$12.31	\$18.92	\$9.00	-LF-	3 Bids
204.0245	Removing Storm Sewer (size) 04. 24-Inch	\$25.57	\$26.00	\$25.14	LF	2 Bids
204.0245	Removing Storm Sewer (size) 002. 18-21-Inches	\$19.60	\$29.20	\$10:00	LF	
204:0245	Removing Storm Sewer (size) 004. 18-INCH	\$21.48	\$36.00	\$7:07	LF	10 Bids
204.0245	Removing Storm Sewer (size) 005. 24-INCH	\$21.10	\$26.23	\$19.82	LF	5 Bids
204:0245	Removing Storm Sewer (size) 05: 30-Inch	\$29.46	\$39.00	\$21.65	LF	8 Bids
204.0245	Removing Storm Sewer (size) 06: 42-Inch	\$41.33	\$72.00	\$10:00	LF	
204:0245	Removing Storm Sewer (size) 07. 48-Inch	\$62.78	\$66:00	\$59:55	LF	2 Bids-
204.0245	Removing Storm Sewer (size) 002. 12-INCH	\$14:49	\$15.18	\$14.32	-LF	
204:0245	Removing Storm Sewer (size) 01: 10-Inch	\$15.69	\$30:00	\$8.75		
204:0245	Removing Storm Sewer (size) 05, 24-INCH	\$9.01	\$9:04	\$9:00-	LF	
204:0245	Removing Storm Sewer (size) 06: 30-INCH	\$14.97	\$25.73	\$9.97	LF	6-Bids
204:0245	Removing Storm Sewer (size) 04. 30 INCH	\$18.06	\$21.33	\$11.60	F	
204.0245	Removing Storm Sewer (size) 01: 6-10 Inch	\$7:74	\$8:00-	\$7.23	LF	3 Bids
204:0245	Removing Storm Sewer (size) 02, 15-INCH	\$13:27	\$17.30	\$5.30	LF	
204.0245	Removing Storm Sewer (size) 07. 42-INCH	\$33.05	\$42:60	\$14.24	-LF-	6 Bids
204:0245	Removing Storm Sower (size) 01, 12-Inch	\$15:88	\$18:50	\$15:00-	LF	
204.0245	Removing-Storm-Sewer-(size) 03, 24-INCH	\$14:46	\$18.28	\$6.9 0	-LF	
204:0245	Removing Storm Sewer (size) 001. 6-15 Inches	\$17:00	\$24.00	\$10:00	LF	2-Bids

Copyright © 2019, Info Tech, Inc. All rights reserved. Average of Averages

*

https://www.bidx.com/wi/btasearch

Wsid = \$22.00

\$21.88

10/21/2019



Logout



Wisconsin Department of Transportation

Bid Tab Analysis Search

This search is inadequate for documentation. You only have 1 project in your search and the quantity range doesn't match your project for excavation common. You use \$5.10/CY as the price in your estimate even though this search shows \$8.31. Why isn't the WIS 23 expansion project included in your search if this project is part of the justification for your unit price?

Bid Tab Analysis Search

		Date Range:			
Item:	205.0100	From:	To:		
	⊠ Smart Item Search	05/21/2016	05/21/2019		
Description:	Any	Quanti	ty Range:		
Proposal Items	Any	350000	550000		
County:	Outagamie, Brown, Winnebago, Calumet, Waupaca	Price Range:			
Unit:	Any	From: Any	To: Any		
Low Bidders:	Any				
		Search	Clear		

Export (csv) | Export (tab)

Item 🔺	Description		Average	High	n Low	Unit B	id Count
205.0100	Excavation Cor	nmon	\$8.31	\$10.00	\$6.62	CY	2 Bids
Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
03/13/2018	029 - 20180313029	Calumet, Winnebago	\$8.31	\$10.00	\$6.62	449,877.00000 0	CY 2 Bids
					Total Quantity:	449,877.00000 C	ŶY





Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

Item Bid History for 205.0200

Excavation Rock

Proposal				
Bidder	Unit	Quantity	Unit Price	Total
20170314012				
EDGERTON CONTRACTORS, INC.	CY_	47,159.00000	\$0.01000	\$471.59
HOFFMAN CONSTRUCTION COMPANY	CY-	47,159.00000	\$0:01000-	\$471.5 9-
JAMES PETERSON SONS, INC.	CY-	47,159.00000-		
MUSSON BROS., INC.	CY	47,159.00000	\$7.50000	\$353,692.50

Search Parameters	
Description:	Excavation Rock
Unit:	СҮ
Start Date:	10/17/2016
End Date:	10/17/2019
Minimum Quantity:	40000
Maximum Quantity:	50000
	19 E

Bidders All | None

EDGERTON CONTRACTORS, INC.

HOFFMAN CONSTRUCTION COMPANY

☑ JAMES PETERSON SONS, INC.

MUSSON BROS., INC.

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$7.50



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Welcome alan.farrell@dot.wi.gov! Logout



Bid Tab Analysis Search



	1 A						Export (csv) Export
Item 🛋	Description	A	verage	High	Low	Unit	Bid Count
213:0100	Finishing Roadway (project) 01: 6570-08-71		7,050.00	\$14,000.00	\$100.00	EACH	2 Dids-
213.0100	Finishing Roadway (project) 01. 4567-25-01	\$4	4,889.43	\$7,500.00	\$3,000.00	EACH	5 Bids
213.0100	Finishing Roadway (project) 06. 1130-49-71		\$867.00	\$2,100.00	\$1.00	EACH	
213.0100	Finishing-Roadway (project) 01. 1130-44-71	\$;	2,533.33	\$5,000:00	\$100.00		
213.0100	Finishing Roadway (project) 01. 6505-03-71	· \$4	4,564.90	\$12,500.00	\$1,100.00	EACH	5 Bids
213:0100	Finishing Roadway (project) 01-4984-01-74	\$	3,250.00	\$5,000.00	\$750.00	ЕАСН	
213:0100	Finishing Roadway (project) 08: 1517-13-71	and the second second	\$867.00	\$2,100.00	\$1.00	-ЕАСН-	
213.0100	Finishing Roadway (project) 01. 4659-15-71	\$:	5,000.00	\$5,000.00	\$5,000.00	EACH	3 Bids
213.0100	Finishing Roadway (project) 01. 4650-08-71	\$0	5,000.00	\$7,500.00	\$3,000.00	EACH	3 Bids
213.0100	Finishing Roadway (project) 05. 1120-60-71		1,000.33	\$2,500.00	\$1.00	-ЕАСН-	
213.0100	Finishing Roadway (project) 01. 6570-08-72	. \$2	2,000.00	\$4,000.00	\$1,000.00	EACH	3 Bids
213.0100	Finishing Roadway (project) 01. 6430-07-71	\$3	3,083.33	\$6,500.00	\$1,500.00	EACH	6 Bids
213.0100	Finishing Roadway (project) 01. 6240-26-71	\$2	2,614.63	\$4,687.76	\$1,000.00	EACH	6 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

:-

Removed outliers copyright@20 Average of Averages

\$28,152.29 7

= 14021.76

Wsel = \$4050

https://www.bidx.com/wi/btasearch

Bid Express

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**





Export	(csv)	Export	(tab)	

خه Item	Descripti	on		Ave	erage	High	Low	Unit	Bid Count
305.0110	Base Aggr	egate Dense 3/4-Inch		\$	15.05	\$24.20	\$0.01	TON	24 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count]
	02/12/2019	005 - 20190212005	Winnebago	\$19.10	\$19.80	\$18.40	7,050.00000 TO	N 2 Bids	
	05/08/2018	·015 - 20180508015-	Fond Du Lac	\$7.90	\$7.90-	\$7:90			×
	05/08/2018	018 - 20180508018	Calumet	\$15.07	\$15.07	\$15.07	7,950.00000 TOP	N I Bid	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$19.49	\$20.40	\$18.06	15,120.00000 TOP	N 4 Bids	
	06/13/2017	030 - 20170613030	Winnebago	\$14.39	\$17.05	\$10.90	9,471.00000 TOP	A 4 Bids	
	04/11/2017	024 - 20170411024	Sheboygan	\$15.10	\$15.10 ,	\$15.10	10,303.00000 TOP	N 1 Bid	
		016 - 20161213016	Brown, Outagamie	\$20.31	\$24.20	\$18.22	11,569.00000 TOP	A 3 Bids	5
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$11.08	\$13.80	\$0.01	17,194.00000 TOP	N 8 Bids	£2.1%
						Total Quantity:	84,608.00000 TOP	1	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Removed Outlier

Wsed = \$16.50



Bid Express

Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

You only use two project for your search and one of them is from 2016. Need more current and comprehensive search. Why did you just use the low bidder instead of the low two bidders?

Item Bid History for 305.0120

Base Aggregate Dense 1 1/4-Inch

Proposal				
Bidder	Unit	Quantity	Unit Price	Total
20180313029				
VINTON CONSTRUCTION COMPANY	TON	122,215.00000	\$8.17000	\$998,496.55
MICHELS CORPORATION	TON	122,215.00000	\$9.67000	\$1,181,819.05
20161213027				
-HOFFMAN CONSTRUCTION COMPANY	TON	134,918.00000	\$0.01000	\$1,349.18
MICHELS CORPORATION	TON	134,918.00000	\$8.01000	\$1,080,693.18
JAMES PETERSON SONS, INC.	TON	134,918.00000	\$8.79000	\$1,185,929.22
MASHUDA CONTRACTORS, INC.	TON	134,918.00000	\$9.46000	\$1,276,324.28
STARK PAVEMENT CORPORATION	TON	134,918.00000	\$9.60000	\$1,295,212.80
RELYCO, INC.	TON	134,918.00000	\$10.00000	\$1,349,180.00
MUSSON BROS., INC.	TON	134,918.00000	\$10.60000	\$1,430,130.80
INTEGRITY GRADING AND EXCAVATING, INC.	TON	134,918.00000	\$13.95000	\$1,882,106.10

Search Pa	rameters			
Item:	305.0120			
Counties:	Outagamie, Bro	own, Winnebago	, Sheboygan, C	Calumet, Fond d
Unit:	TON			
Start Date:	10/17/2016			
End Date:	10/17/2019			
Minimum Quantity:	47809			
Maximum Quantity:	143427	¥0		

Bidders All No	ne
HOFFMAN C	ONSTRUCTION COMPANY
INTEGRITY (GRADING AND EXCAVATING, INC.
JAMES PETE	RSON SONS, INC.
🗹 MASHUDA C	CONTRACTORS, INC.
MICHELS CO	PRPORATION
MUSSON BR	OS., INC.
🗹 RELYCO, INC	2.
🔽 STARK PAVE	EMENT CORPORATION
VINTON CON	STRUCTION COMPANY

Average of 2 Low Bids = $\frac{$16.18}{2} = 8.09 Used = \$8.10



Bid Express \langle

Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

You only use two projects for your search. I would suggest expanding to statewide search to expand the number of projects and limit to the two low bidders for each project.

Item Bid History for 312.0110

Select Crushed Material

Proposal					Search Parameters	
Bidder	Unit	Quantity	Unit Price	Total	Item:	312.0110
20181113030					Unit:	TON
HOFFMAN CONSTRUCTION COMPANY	TON	89,032.00000	\$11.90000	\$1,059,480.80	Start Date:	10/17/2016
INTEGRITY GRADING AND EXCAVATING, INC.	TON	89,032.00000	\$13.71000	\$1,220,628.72	End Date:	10/17/2019
JAMES PETERSON SONS, INC.	TON	89,032.00000	\$14.71000	\$1,309,660.72	Minimum Quantity:	80000
20181113005					Maximum Quantity:	110000
-INTEGRITY GRADING AND EXCAVATING, INC.	TON-	-109,357.00000-	\$0:01000-	\$1,093.57		
HOFFMAN CONSTRUCTION COMPANY	-TON-	-109 ,357.00000 -	\$16:90000-	\$1,848,133.30	Bidders All None	
0171212008					GERKE EXCAVATING	NC
HOFFMAN CONSTRUCTION COMPANY	TON	95,298.00000	\$5.00000	\$476,490.00	-	
GERKE EXCAVATING INC	TON	95,298.00000	\$8.66000	\$825,280.68	HOFFMAN CONSTRU	
THE KRAEMER COMPANY, LLC	TON	95,298.00000	\$8.95000	\$852,917.10	INTEGRITY GRADING	3 AND EXCAVATING, INC.
JAMES PETERSON SONS, INC.	TON	95,298.00000	\$10.52000	\$1,002,534.96	JAMES PETERSON SO	NS, INC.
1 11)	THE KRAEMER COME	PANY, LLC

Copyright © 2019, Info Tech, Inc. All rights reserved.

\$73.45 : 10.49

- \$10.50 Wsed

7

Page 1 of 1

2

†8 🖂

MyBidX Messages Help

Bid Express

c

Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

see earlier comments - you shouldn't use 2016 data since this is outdated. Look at 8.5" concrete to expand the data search and get more information.

Item Bid History for 415.0090

Concrete Pavement 9-Inch

Bidder	Unit	Quantity	Unit Price	Tota
20161213002				
GERKE EXCAVATING INC	SY	84,236.00000	\$36.33000	\$3,060,293.88
HOFFMAN CONSTRUCTION COMPANY	SY	84,236.00000	\$36.33000	\$3,060,293.88
INTEGRITY GRADING AND EXCAVATING, INC.	SY	84,236.00000	\$36.33000	\$3,060,293.88
JAMES PETERSON SONS, INC.	SY	84,236.00000	\$36.33000	\$3,060,293.88
MICHELS CORPORATION	SY	84,236.00000	\$37.97000	\$3,198,440.92
ZIGNEGO COMPANY, INC.	SY	84,236.00000	\$39.02000	\$3,286,888.72
SM HENTGES & SONS, INC.	SY	84,236.00000	\$40.53000	\$3,414,085.08
20180508030				
INTEGRITY GRADING AND EXCAVATING, INC.	SY	60,757.00000	\$40.33000	\$2,450,329.81
JAMES PETERSON SONS, INC.	SY	60,757.00000	\$40.33000	\$2,450,329.81
A-1 EXCAVATING INC.	SY	60,757.00000	\$41.50000	\$2,521,415.50
20180911005				
ZENITH TECH., INC WAUKESHA	SY	55,530.00000	\$45.00000	\$2,498,850.00
ZIGNEGO COMPANY, INC.	SY	55,530.00000	\$47.25000	\$2,623,792.50

Search Parameters	
Item:	415.0090
Unit:	SY
Start Date:	10/17/2016
End Date:	10/17/2019
Minimum Quantity:	45164
Maximum Quantity:	135492

Welcome alan.farrell@dot.wi.gov!

Logout

Bidders	All None
☑ A-1 EX	KCAVATING INC.
GERK	E EXCAVATING INC
HOFFI	MAN CONSTRUCTION COMPANY
INTEC	RITY GRADING AND EXCAVATING, INC.
JAMES	5 PETERSON SONS, INC.
MICHI	ELS CORPORATION
SM HE	ENTGES & SONS, INC.
ZENIT	H TECH., INC WAUKESHA
ZIGNE	GO COMPANY, INC.

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wied : 541



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Item:	460.5223	From: To:
	☑ Smart Item Search	10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	620 1950
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	2	

Export (csv) | Export (tab)

Item 🔺	Descrip	tion			Ave	rage		High	Low	U	nit	Bid Count
460.5223	HMA Pavement 3 LT 58-28 S		28 S		\$72.70		_	\$85.00	\$58.22	TC	ON	10 Bids
	Letting Date	Proposal	County		posal erage	Propos Hig		Proposal Low	Quantity	,	Proposal Bid Count	
	02/12/2019	011 - 20190212011	Brown	\$	62.23	\$65.	65	\$58.80	861.00000	TON	2 Bids	
	01/15/2019	018 - 20190115018	Winnebago	\$	79.50	\$79.	50	\$79.50	630.00000	TON	2 Bids	
	11/13/2018	023 - 20181113023	Calumet	\$	85.00	\$85.	00	\$85.00	620.00000	TON	2 Bids	
	11/14/2017	019 - 20171114019	Brown	\$	64.26	\$70.	30	\$58.22	1,070.00000	TON	2 Bids	
(06/13/2017	030 - 20170613030	Winnebago	\$	72.50	·\$72.	50	\$72.50	752.00000	TON	2 Bids	
			2					Total Quantity:	3,933.00000	ron		-

2 years is the maximum search you should use for asphalt and it would be even better to

restrict to the most recent year if you can find 2019, Info Tech, Inc. All rights reserved. enough data.

Bid Tab Analysis Search



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

☑ Smart Item Search 10/17/2018 10/17/2019 Description: Any Quantity Range: To: Proposal Items: Any 14520 County: Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac Price Range: To: Unit: Any To: Low Bidders: 2 Any	Item:	460.5224	D:	ate Range: To:
Proposal Items: Any To: Ocumty: Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac Price Range: Unit: Any To:			10/17/2018	10/17/2019
Proposal Items: Any 4840 14520 County: Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac Price Range: Unit: Any To:	Description:	Any		
Unit: Any To: To: Any Any	Proposal Items:	Any	and the second sec	
Unit: Any Any Any	County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		
	Unit:	Any		
	Low Bidders:	2		

Bid Tab Analysis Search

Export (csv) | Export (tab)

Item 🔺	Descri	ption		Av	erage	High	Low U	nit Bi	d Count
460.5224	HMA P	avement 4 LT 58-28 S	5		61.55	\$66.90	\$58.90 TO	ON	5 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High		Quantity	Proposal Bid Count	
	05/14/2019	023 - 20190514023 028 - 20190514028	Fond Du Lac Winnebago	\$60.10 \$64.92			10,400.00000 TO 9,600.00000 TO		
	01/15/2019	020 - 20190115020	U	\$58.90			4,980.00000 TO		
						Total Quantity:	24,980.00000 TO	Ň	



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search



Bid Tab Analysis Search

Export (csv) | Export (tab)

Item 🔺	Descript	tion		A	rage	High	Low	Unit	Bid Count
460.6223	HMA Pav	HMA Pavement 3 MT 58-28 S				\$91.90	\$62.50	TON	4 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposa Bid Count	1
	03/12/2019	030 - 20190312030	Brown	\$91.90	\$91.90	\$91.90	1,257.00000 TO	N 2 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$70.38	\$78.25	\$62.50	1,564.00000 TO	N 2 Bids	
						Total Quantity:	2,821.00000 TO	N	

Copyright © 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/btasearch

10/21/2019



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	460.6224	Long and the second sec	ange: To:
	☑ Smart Item Search	10/17/2016	10/17/2019
Description:	Any	Quantity	Range: To:
Proposal Items:	Any	462	1385
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price R	
Unit:	Any	Any	To: Any
Low Bidders:	2		
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descript	ion		Av	erage	High	Low	Unit	Bid Count
460.6224	HMA Pav	ement 4 MT 58-28 S		\$	88.50	\$103.80	\$73.20	TON	4 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposa Bid Count	
	03/12/2019	030 - 20190312030	Brown	\$103.80	\$103.80	\$103.80	639.00000 TO	N 2 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$73.20	\$73.20	\$73.20	795.00000 TO	N 2 Bids	
						Total Quantity:	1,434.00000 TO	N	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wred = \$88.50



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



7

Export (csv) | Export (tab)

Item 🔺	Description	n			Avera	ge	High Low	Unit	Bid Count
465.0120	Asphaltic Su	rface Driveways and I	Field Entrance	5	\$104.:	57 \$1	47.80 \$80.07	TON	14 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Unantity	Proposal Bid Count	
	07/10/2018	010 - 20180710010	Waukesha	\$95.00	\$95.00	\$95.00	630.00000 TON	2 Bids	
	05/08/2018	013 - 20180508013	Washington	\$82.53	\$85.00	\$80.07	1,458.00000 TON	2 Bids	
	03/08/2018	030 - 20180508030	Portage	\$130.00	\$130.00	\$130.00	1,140.00000 TON	2 Bids	
	02/13/2018	020 - 20180213020	Vilas	\$94.00	\$94.00	\$94.00	1,396.00000 TON	2 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$94.40	\$94.40	\$94.40	607.00000 TON	2 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$147.80	\$147.80	\$147.80	640.00000 TON	2 Bids	
	11/14/2017	036 - 20171114036	Racine	\$88.25	\$88.25	\$88.25	1,056.00000 TON	2 Bids	
						Total Quantity:	6,927.00000 TON		

Copyright $\textcircled{\mbox{\scriptsize c}}$ 2019, Info Tech, Inc. All rights reserved.

Because no bills from 2019

you need to make sure your method for determining the unit price is accurately described in the narrative



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	465.0315 Ø Smart Item Search	Date 2 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any] Quantit	y Range: To:
Proposal Items:	Any	92	275
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	Any	To: Any
Low Bidders:	Any]	
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	De	scription		Average		High	Lov	w Unit	Bid Co
465.0315	Ası	phaltic Flumes		\$37.62	\$55.30		\$28.9	0 SY	23 Bid
	Letting Date	Proposal	County	Prop Aver		Proposal High	Proposal Low	Quantity	Proposal Bid Count
	05/14/2019	022 - 20190514022	Calumet	\$4	6.30	\$46.30	\$46.30	172.00000 SY	1 Bid
	03/12/2019	030 - 20190312030	Brown	\$2	9.05	\$29.50	\$28.90	110.00000 SY	4 Bids
	05/08/2018	018 - 20180508018	Calumet	\$5	5.30	\$55.30	\$55.30	133.00000 SY	1 Bid
	03/13/2018	034 - 20180313034	Outagamie Waupaca	\$3	8.00	\$50.00	\$34.50	200.00000 SY	6 Bids
	03/14/2017	018 - 20170314018	Sheboygan	\$4	2.40	\$42.40	\$42.40	148.00000 SY	3 Bids
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnet	bago \$3	6.54	\$50.00	\$32.35	204.89000 SY	8 Bids
							Total Quantity:	967.89000 SY	-

Ward = 138





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	520.1018 Ø Smart Item Search	Date 1 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	10	30
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any	Learning and the second s	
		Search	Clear

Export (csv) | Export (tab)

							((()) Lipon (a		
Item 🔺	Description				Average	High	Low	Unit	Bid Count
520.1018	8 Apron Endwalls for Culvert Pipe 18-Inch					\$900.00	\$125.00	EACH	26 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	04/09/2019	019 - 20190409019	Marinette	\$300.00	\$300.00	\$300.00	30.00000 EACH	1 Bid	
	11/14/2017	017 - 20171114017	Walworth	\$288.08	\$416.16	\$160.00	26.00000 EACH	2 Bids	
	08/08/2017	004 - 20170808004	Dane	\$357.50	\$900.00	\$149.56	18.00000 EACH	5 Bids	
	07/11/2017	001 - 20170711001	Rock	\$262.65	\$375.59	\$150.00	10.00000 EACH	4 Bids	
	03/14/2017	002 - 20170314002	Dane	\$224.65	\$281.22	\$128.51	12.00000 EACH	5 Bids	
	01/10/2017	012 - 20170110012	Wood	\$339.41	\$776.37	\$125.00	26.00000 EACH	9 Bids	
						Total Quantity:	122.00000 EACH		





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description	Description			Average	High	Low	Unit	Bid Count
520.1036	Apron Endwa	Apron Endwalls for Culvert Pipe 36-Inch				\$1,945.00	\$400.00	EACH	72 Bids
	Letting Date	Proposal	County	L Proposa Averag	il Proposa e Hig		Quantity	Proposal Bid Count	
	07/09/2019	006 - 20190709006	Racine	\$1,614.9	3 \$1,899.7	6 \$1,512.00	3.00000 EACH	4 Bids	
	03/12/2019	060 - 20190312060	Pierce	\$894.0	0 \$894.0	\$894.00	1.00000 EACH	1 Bid	
	01/15/2019	024 - 20190115024	Marquette	\$974.6	6 \$1,550.0	0 \$593.85	1.00000 EACH	5 Bids	
	12/11/2018	010 - 20181211010	Iowa	\$593.0	0 \$700.0	0 \$560.00	2.00000 EACH	5 Bids	
	11/13/2018	025 - 20181113025	Green Lake	\$654.2	4 \$683.4	7 \$625.00	2.00000 EACH	2 Bids	
	11/15/2018	034 - 20181113034	Clark	\$1,190.8	3 \$1,945.0	0 \$1,040.00	2.00000 EACH	6 Bids	
	06/12/2018	009 - 20180612009	Columbia	\$549.0	0 \$549.0	0 \$549.00	2.00000 EACH	2 Bids	
	05/08/2018	035 - 20180508035	Clark	\$1,400.0	0 \$1,400.0	0 \$1,400.00	1.00000 EACH	1 Bid	
	04/10/2018	010 - 20180410010	Walworth	\$663.0	3 \$722.0	\$545.00	2.00000 EACH	3 Bids	
	01/09/2018	029 - 20180109029	Clark	\$488.0	0 \$510.0	0 \$450.00	2.00000 EACH	5 Bids	
	12/12/2017	005 - 20171212005	Richland	\$692.1	8 \$692.1	8 \$692.18	2.00000 EACH	3 Bids	
	11/14/2017	026 - 20171114026	Douglas	\$1,326.0	0 \$1,326.0	0 \$1,326.00	1.00000 EACH	1 Bid	
	09/12/2017	003 - 20170912003	Lafayette	\$768.7	5 \$1,500.0	0 \$525.00	2.00000 EACH	4 Bids	
	08/08/2017	004 - 20170808004	Dane	\$748.0	8 \$1,300.0	0 \$478.42	2.00000 EACH	5 Bids	
	00/00/2017	012 - 20170808012	Crawford	\$575.0	0 \$750.0	0 \$400.00	2.00000 EACH	4 Bids	
	06/13/2017	006 - 20170613006	Racine	\$875.2	2 \$1,400.7	5 \$600.00	2.00000 EACH	8 Bids	
	05/09/2017	003 - 20170509003	Green	\$696.8	1 \$1,594.0	4 \$425.00	2.00000 EACH	5 Bids	
	03/14/2017	019 - 20170314019	Oconto	\$610.8	3 \$885.0	0 \$420.00	2.00000 EACH	6 Bids	
	11/08/2016	011 - 20161108011	Iron	\$1,465.3	3 \$1,535.0	0 \$1,395.65	2.00000 EACH	2 Bids	
						Total Quantity:	35.00000 EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nsed = \$ 840

https://www.bidx.com/wi/btasearch

10/22/2019

Bid Express®

 $\langle \rangle$

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	520.3318	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range:
Proposal Items:	Any	321 963
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

								Exj	oort (csv) Export (tab
Item 🔺	Descriptio	n			Average	High	Low	Unit	Bid Count
520.3318	Culvert Pipe	e Class III-A 18-Inch			\$50.30 \$81.33		\$38.10	LF	8 Bids
	Letting Date	Proposal	County	Propos Avera	al Proposa ge High		Quantity	Proposal Bid Count	
	04/09/2019 11/14/2017	019 - 20190409019 017 - 20171114017	Marinette Walworth	\$46. \$46.					- S
	08/08/2017	004 - 20170808004	Dane	\$52.	79 \$81.33	\$38.10	487.00000 LF	5 Bids	
			8			Total Quantity:	1,642.00000 LF		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wred = \$50





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	520.3330 Ø Smart Item Search	Date 2 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	34	102
County:	Any	Price	Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	tem 🔺 Description			Average High		Low	Low Unit Bi		Bid Count		
520.3330	Culvert P	ipe Class III-A 30-Inc	h	\$78.05	\$78.05		\$160.00		LI	7	17 Bids
	Letting Date	Proposal	County	l Proposal Average		osal ligh	Proposal Low	Quantity		Proposal Bid Count	
	03/12/2019	033 - 20190312033	Door, Kewaunee	\$160.00	\$16	0.00	\$160.00	60.00000	LF	1 Bid	
	12/11/2018	021 - 20181211021	Marquette	\$61.02	\$6	1.02	\$61.02	66.00000	LF	1 Bid	
	06/12/2018	009 - 20180612009	Columbia	\$72.00	\$73	2.00	\$72.00	69.50000	LF	2 Bids	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$81.48	\$8	4.48	\$78.48	72.00000	LF	2 Bids	
	06/13/2017	006 - 20170613006	Racine	\$76.69	\$9	7.00	\$65.00	35.00000	LF	8 Bids	
	03/14/2017	018 - 20170314018	Sheboygan	\$61.77	\$6	8.28	\$48.90	36.00000	LF	3 Bids	
							Total Quantity:	338.50000	LF		





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	520.3336 Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	34	102
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any	[
		Search	Clear

Export (csv) | Export (tab)

					Emport (601)					
Item 🔺	Descriptio	n		Avera	ige	High	Low	Unit	Bid Count	
520.3336	Culvert Pipe Class III-A 36-Inch			\$92	.42	\$316.23	\$58.00	LF	29 Bids	
	Letting Date	Proposal	County	l Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count		
	12/11/2018	010 - 20181211010	Iowa	\$65.78	\$68.00	\$58.00	64.00000 LF	5 Bids		
	11/13/2018	025 - 20181113025	Green Lake	\$273.12	\$316.23	\$230.00	88.00000 LF	2 Bids		
	06/12/2018	009 - 20180612009	Columbia	\$105.50	\$105.50	\$105.50	97.00000 LF	2 Bids	12	
	04/10/2018	010 - 20180410010	Walworth	\$82.73	\$84.10	\$80.00	56.00000 LF	3 Bids		
	03/13/2018	028 - 20180313028	Fond Du Lac	\$91.00	\$92.29	\$89.70	54.00000 LF	2 Bids		
	12/12/2017	005 - 20171212005	Richland	\$59.16	\$59.16	\$59.16	100.00000 LF	3 Bids		
	09/12/2017	003 - 20170912003	Lafayette	\$74.50	\$118.00	\$60.00	60.00000 LF	4 Bids		
	06/13/2017	006 - 20170613006	Racine	\$86.04	\$109.25	\$68.00	77.00000 LF	8 Bids		
						Total Quantity:	596.00000 LF			

 \Rightarrow





Bid Express Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

Item Bid History for 522.0412

Culvert Pipe Reinforced Concrete Class IV 12-Inch

Proposal				
Bidder	Unit	Quantity	Unit Price	Total
20181211014				
MUSSON BROS., INC.	LF	79.00000	\$85.00000	\$6,715.00
SUPER WESTERN, INC.	LF	79.00000	\$90.00000	\$7,110.00
PAYNE AND DOLAN, INC	LF	79.00000	\$90.91000	\$7,181.89
JAMES PETERSON SONS, INC.	LF	79.00000	\$94.00000	\$7,426.00
20190312050				
MCCABE CONSTRUCTION, INC.	LF		\$33.00000	\$3,498.00
A-1 EXCAVATING INC.	LF	106.00000	\$41.00000	\$4,346.00
S & N INCORPORATED	LF	106.00000	\$42.00000	\$4,452.00
GERKE EXCAVATING INC	LF	106.00000	\$46.16000	\$4,892.96
HAAS SONS, INC.	LF		\$314.57000	\$33,344.42
20190312014				
JAMES PETERSON SONS, INC.	LF	112.00000	\$59.00000	\$6,608.00
ZIGNEGO COMPANY, INC.	LF	112.00000	\$73.00000	\$8,176.00
MUSSON BROS., INC.	LF	112.00000	\$75.74000	\$8,482.88
PAYNE AND DOLAN, INC	LF		\$120.00000-	\$13,440.00

Search Parameters		
Item:	522.0412	
Unit:	LF	
Start Date:	10/17/2016	
End Date:	10/17/2019	
Minimum Quantity:	57	
Maximum Quantity:	171	

Bidders All None	
A-1 EXCAVATING INC.	
GERKE EXCAVATING INC	
🗹 HAAS SONS, INC.	
JAMES PETERSON SONS, INC.	
MCCABE CONSTRUCTION, INC.	
🗹 MUSSON BROS., INC.	
🗹 PAYNE AND DOLAN, INC	
S & N INCORPORATED	
🗹 SUPER WESTERN, INC.	
🗹 ZIGNEGO COMPANY, INC.	

Removed Outliers

Copyright © 2019, Info Tech, Inc. All rights reserved.

Average =
$$\frac{1696.81}{10} = 169.68$$

Wsed = 170

https://www.bidx.com/wi/itembidhistory?count=13&itemnumber=522.0412&unit=LF&st... 10/23/2019





J

Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.0418 Smart Item Search	Date 1 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	328	984
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		L
		Search	Clear

									Exp	ort (csv) Export (ta
Item 🔺	Description					Ave	rage	High L	ow Unit	Bid Count
522.0418	Culvert Pipe Ro	einforced Concrete Cl	ass IV 18-Iı	nch		\$3	39.96	\$46.84 \$37	.00 LF	4 Bids
	Letting Date	Proposal	County	Proposal Average	Prop F	osal ligh	Proposa Low	Unantity	Proposal Bid Count	
	01/09/2018	001 - 20180109001	Dane	\$39.96	\$4	6.84	\$37.00	620.00000 LF	4 Bids	
							Total Quantity:	620 00000 L.B		

Copyright ${\small @}$ 2019, Info Tech, Inc. All rights reserved.

Used = \$40





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Sear	ch
------------------------------	----

	522.0424 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	51 153
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Description				Average	e H	ligh Lov	v Unit	Bid Count
522.0424	Culvert Pipe R	einforced Concrete Cl	ass IV 24-Inch		\$113.80) \$21	5.00 \$62.00) LF	6 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	04/09/2019	017 - 20190409017	Sheboygan	\$69.25	\$76.50	\$62.00	102.00000 LF	2 Bids	
	-02/12/2019-	-005 - 20190212005	Winnebago	\$192.34	\$215.00	\$169.68		2 Bids-	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$79.82	\$84.56	\$75.08	54.00000 LF	2 Bids	
						Total Quantity:	224.00000 LF		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Removed outlier Bids

 \Rightarrow



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

Item Bid History for 522.0436

Culvert Pipe Reinforced Concrete Class IV 36-Inch

Bidder	Unit	Quantity	Unit Price	Tota
	Umt	Quantity	Unit Price	Tota
20190115020				
RELYCO, INC.	LF	60.00000	\$101.00000	\$6,060.00
MCC, INC.	LF	60.00000	\$103.50000	\$6,210.00
MICHELS CORPORATION	LF	60.00000	\$105.80000	\$6,348.00
PETERS CONCRETE COMPANY	LF	60.00000	\$112.00000	\$6,720.00
NORTHEAST ASPHALT, INC	LF	60.00000	\$140.00000	\$8,400.00
20180911008				
ROCK ROAD COMPANIES, INC.	LF	70.00000	\$99.01000	\$6,930.70
PAYNE AND DOLAN, INC	LF	70.00000	\$99.02000	\$6,931.40
20180410013				
ANTCZAK CONSTRUCTION, INC.	LF	80.00000	\$136.00000	\$10,880.00
MUSSON BROS., INC.	LF	80.00000	\$140.00000	\$11,200.00
PITLIK & WICK, INC.	LF	80.00000	\$175.00000	\$14,000.00
S & N INCORPORATED	LF	80.00000	\$204.00000	\$16,320.00
JAMES PETERSON SONS, INC.			\$303.67000	\$24,293.60
20190514047				
MONARCH PAVING COMPANY	LF	56.00000	\$205.00000	\$11,480.00

Search Parameters		
Item:	522.0436	
Unit:	LF	
Start Date:	10/17/2016	
End Date:	10/17/2019	
Minimum Quantity:	32	
Maximum Quantity:	96	

Bidders All None
ANTCZAK CONSTRUCTION, INC.
☑ JAMES PETERSON SONS, INC.
MCC, INC.
MICHELS CORPORATION
MONARCH PAVING COMPANY
MUSSON BROS., INC.
🗹 NORTHEAST ASPHALT, INC
PAYNE AND DOLAN, INC
PETERS CONCRETE COMPANY
☑ PITLIK & WICK, INC.
RELYCO, INC.
☑ ROCK ROAD COMPANIES, INC.
☑ S & N INCORPORATED



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	522.1012	Date Range: From: To: 10/17/2016 10/17/2019
Description: Proposal Items:	Any	Quantity Range: From: To: 5 14
County: Unit:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range: From: To: Any Any
Low Bidders:	Any	Search Clear

Export (csv) | Export (tab)

				r		1		Export (csv) Export (
Item 🔺	Descripti	on			Average	High	ı Low	Unit	Bid Count
522.1012	Apron End Inch	lwalls for Culvert Pipe	Reinforced Concrete 1	2-	\$803.30	\$1,050.00	\$600.00	EACH	11 Bids
	Letting Date	Proposal	County	l. Proposal Average	Proposal High	roposal Low	Quantity	Proposa Bid Count	Ì
	03/12/2019	035 - 20190312035	Brown	\$903.33	\$1,050.00	\$775.00	5.00000 EACH	I 3 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$882.00	\$1,000.00	\$764.00	6.00000 EACH	I 2 Bids	
	05/15/2018	034 - 20180313034	Outagamie Waupaca	\$727.06	\$947.34	\$600.00	5.00000 EACH	I 6 Bids	
						Total Quantity:	16.00000 EACH	ſ	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = 1805

Bid Express® Secure Internet Bidding

ð

Page 1 of 1





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.1018 Ø Smart Item Search	Date I From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantity From:	y Range: To:
Proposal Items:	Any	24	72
County:	Any	Price I	
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

										((obi) Enpoir (
Item 🔺	Description					Average	High	Low	Unit	Bid Count
522.1018	Apron Endwalls	for Culvert Pipe Reinf	orced Conc	rete 18-Inch		\$757.87	\$1,025.00	\$575.00	EACH	35 Bids
	Letting Date	Proposal	County	Proposal Average	l Proposa Hig		Ollantity	/	coposal Bid Count	
	07/09/2019	002 - 20190709002	Dane	\$848.47	\$1,025.0	\$638.00	30.00000 E	ACH :	5 Bids	
	12/11/2018	001 - 20181211001	Rock	\$771.00	\$771.0	\$771.00	57.00000 E	ACH	1 Bid	
	11/13/2018	001 - 20181113001	Dane	\$766.67	\$888.0	\$605.00	45.00000 E	ACH 3	Bids	
	06/12/2018	001 - 20180612001	Rock	\$771.86	\$895.7	\$725.47	38.00000 E	ACH 4	4 Bids	
	01/09/2018	001 - 20180109001	Dane	\$690.32	\$830.0	\$603.00	35.00000 E	ACH 4	4 Bids	
	12/12/2017	002 - 20171212002	Dane	\$779.48	\$920.0	\$603.00	31.00000 E	ACH 5	5 Bids	
	07/11/2017	001 - 20170711001	Rock	\$772.15	\$950.0	\$696.51	40.00000 E	ACH 4	Bids	
	11/08/2016	001 - 20161108001	Dane	\$708.59	\$742.8	\$ \$575.00	43.00000 E	ACH 9	Bids	
						Total Quantity:	319.00000 EA	АСН		


Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description				Average	Hi	gh Low	Unit	Bid Count
522.1042	Apron Endwall	Apron Endwalls for Culvert Pipe Reinforced Concrete 42-Inch					.00 \$1,087.04	EACH	13 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	04/09/2019	017 - 20190409017	Sheboygan	\$1,325.00	\$1,415.00	\$1,235.00	2.00000 EACH	2 Bids	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$1,299.92	\$1,512.79	\$1,087.04	2.00000 EACH	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$1,572.46	\$1,845.89	\$1,387.00	2.00000 EACH	4 Bids	
		-019 - 20171212019-	Winnebago	\$2,569.9 4	\$6,700.00	\$1,486.72	-1.00000-EACH	-5 Bids-	
						Total Quantity:	7.00000 EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved. Removed project with ontlier Bid





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2329 团 Smart Item Search	Date Rang From: To: 10/17/2016 10.	ge: /17/2019
Description:	Any	Quantity Ra From: To:	nge:
Proposal Items:	Any	1 10	0
County:	Any	Price Rang	
Unit:	Any	From: To: Any An	
Low Bidders:	Any	terrent internet in the second second second	
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Desc	ription					Average	High	Low	Unit	Bid Count
522.2329	Culve Inch	ert Pipe Reinfo	orced Concrete Horizo	\$167.95	\$266.00	\$101.25	LF	11 Bids			
		Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Propos Bid Coun		
		12/11/2018	014 - 20181211014	Racine	\$238.64	\$266.00	\$180.00	58.00000 LF	4 Bids	;	
		11/13/2018	001 - 20181113001	Dane	\$146.42	\$175.00	\$123.25	84.00000 LF	3 Bids	:	
		01/09/2018	001 - 20180109001	Dane	\$113.41	\$143.12	\$101.25	80.00000 LF	4 Bids	;	
							Total Quantity:	222.00000 LF			





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2338 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	21 63
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Desc	ription					Average	High	Low	Unit	Bid Count
522.2338	Culve Inch	lvert Pipe Reinforced Concrete Horizontal Elliptical Class HE-III 38x60-						\$313.00	\$256.85	LF	4 Bids
		Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Propos Bid Coun		
		12/11/2018	034 - 20181211034	St Croix	\$280.21	\$313.00	\$256.85	58.00000 LF	4 Bids		
							Total Quantity:	58.00000 LF			

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$280



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2348 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	91 273
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

restrict you search to the low two

bidders

Item 🔺	Desc	ription					Average	High	Low	Unit	Bid Count
522.2348	Culve Inch	ert Pipe Reinf	orced Concrete Horizo	\$353.48	\$550.00	\$202.17	LF	13 Bids			
		Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Propo Bid Cour		
		05/08/2018	013 - 20180508013	Washington	\$301.33	\$450.00	\$202.17	94.00000 LF	5 Bid	s	
		02/13/2018	020 - 20180213020	Vilas	\$523.00	\$550.00	\$514.00	114.00000 LF	7 4 Bid	s	
		01/09/2018	001 - 20180109001	Dane	\$249.15	\$323.08	\$219.00	156.00000 LF	7 4 Bid	s	
			e me trace a construction of some some so				Total Quantity:	364.00000 LF	7		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Used = \$355



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2629 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range:
Proposal Items:	Any	1 5
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Desc	cription				Í	Average	High	Low	Unit	Bid Count
522.2629		n Endwalls fo tical 29x45-In	or Culvert Pipe Reinfo nch	orced Concrete I	Horizontal	l	\$1,696.12	\$2,500.00 \$1	,420.00	EACH	10 Bids
		Letting Date	Proposal	County	Proposal Average	Propos Hig		CHIADTIEV	E	posal Bid ount	
		03/12/2019	035 - 20190312035	Brown	\$1,731.67	\$1,875.	00 \$1,450.0	0 4.00000 EAC	СН 31	Bids	
		11/13/2018	023 - 20181113023	Calumet	\$1,724.36	\$2,500.	\$1,425.1	7 1.00000 EAC	CH 61	Bids	
		05/08/2018	015 - 20180508015	Fond Du Lac	\$1,420.00	\$1,420.	00 \$1,420.0	0 4.00000 EAC	н 1	Bid	
							Tota Quantity:	900000 EAC	н		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$1700



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2638 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

ltem 🔺	Descrip	otion				A	verage	High L	ow Unit	Bid Count
522.2638 Apron Endwalls for Culvert Pipe Reinforced Concrete Elliptical 38x60-Inch						\$2	2,410.50	\$3,159.00 \$1,618	3.46 EACH	41 Bids
	Let Da	tting te	Proposal	County	Proposal Average	Proposal High	Proposal Low	Unantity	Proposal Bid Count	
	12/	11/2018	034 - 20181211034	St Croix	\$2,695.25	\$3,159.00	\$2,425.00	2.00000 EACH	4 Bids	
	06/	12/2018	001 - 20180612001	Rock	\$2,493.46	\$2,800.83	\$2,305.67	1.00000 EACH	4 Bids	
	05/0	08/2018	024 - 20180508024	Price	\$2,950.00	\$2,950.00	\$2,950.00	4.00000 EACH	1 Bid	
	03/	13/2018	028 - 20180313028	Fond Du Lac	\$2,256.33	\$2,562.66	\$1,950.00	3.00000 EACH	2 Bids	
	01/	09/2018	014 - 20180109014	Racine	\$2,606.84	\$2,786.53	\$2,000.00	2.00000 EACH	13 Bids	
	01/0	09/2018	022 - 20180109022	Wood	\$2,238.89	\$2,510.00	\$1,618.46	1.00000 EACH	5 Bids	
	10/		013 - 20171212013	Waukesha	\$2,289.97	\$2,379.80	\$2,100.00	1.00000 EACH	7 Bids	
	12/	12/2017	026 - 20171212026	Jackson	\$1,900.00	\$1,976.25	\$1,876.25	4.00000 EACH	5 Bids	
							Total Quantity:	18.00000 EACH		

Copyright $\ensuremath{\textcircled{C}}$ 2019, Info Tech, Inc. All rights reserved.

Nsed = \$2410



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2643 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Description					Ave	rage		High	Lo	w Unit	Bid Count
522.2643	Apron Endwalls Elliptical 43x68	for Culvert Pipe Reir -Inch	forced Concrete He	orizontal		\$3,81	6.86	\$4,2	291.00	\$3,402.	29 EACH	5 Bids
	Letting Date	Proposal	County	Proposal Average		posal High	Proj	posal Low	Qua	ntity	Proposal Bid Count	
	09/11/2018	005 - 20180911005	Racine	\$4,291.00	\$4,2	91.00	\$4,2	91.00	3.0000	0 EACH	2 Bids	
	05/22/2018	001 - 20180522001	Kenosha, Racine	\$3,500.76	\$3,6	00.00	\$3,4	02.29	4.0000	0 EACH	3 Bids	
							Quan	Fotal tity:	7.00000	EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$3820



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	522.2648 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Descri	ption					Ave	rage High	Low	Unit	Bid Count
522.2648	Apron E Inch	Endwalls for C	ulvert Pipe Reinforce	d Concrete I	Horizontal El	liptical 48x76	\$4,9	58.33 \$7,432.00	\$4,500.00	EACH	12 Bids
		Letting Date	Proposal	County	Proposal Average	Proposal High	Proposa Low	Oughtity	Proposa Bid Count		
		02/12/2019	016 - 20190212016	Langlade	\$5,433.00	\$7,432.00	\$4,500.00	2.00000 EACH	H 4 Bids		
		12/11/2018	034 - 20181211034	St Croix	\$4,795.50	\$5,255.00	\$4,542.00	2.00000 EACH	H 4 Bids		
		02/13/2018	020 - 20180213020	Vilas	\$4,646.50	\$4,750.00	\$4,612.00	2.00000 EACH	H 4 Bids		
		ν. Γ					Tota Quantity:	6.00000 EACH	ſ		

Copyright © 2019, Info Tech, Inc. All rights reserved.

.





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



1

-1

Export (csv) | Export (tab)

ltem 🔺	Descripti	on			Av	erage	High	Low	Unit	Bid Count
524.0636	Apron End	walls for Culvert Pipe	Salvaged 36-Inch		\$6	68.59	\$1,428.44	\$180.00	EACH	39 Bids
	Letting Date	Proposal	County	Propo Aver		Proposal High	Proposal Low	Quantity	Proposa Bid Count	
	05/14/2019	021 - 20190514021	Oconto	\$447	.49	\$644.98	\$250.00	1.00000 EACH	H 2 Bids	-
	03/12/2019	060 - 20190312060	Pierce	\$460	0.00	\$460.00	\$460.00	1.00000 EACH	H 1 Bid	
	05/08/2018	034 - 20180508034	Douglas	\$540	0.00	\$540.00	\$540.00	2.00000 EACH	H 1 Bid	
	05/08/2018	035 - 20180508035	Clark	\$850	0.00	\$850.00	\$850.00	4.00000 EACH	H 1 Bid	
	04/10/2018	013 - 20180410013	Lincoln	\$457	.38	\$786.92	\$200.00	2.00000 EACH	H 5 Bids	
	03/13/2018	038 - 20180313038	Eau Claire	\$510	0.00	\$670.00	\$350.00	1.00000 EACH	H 2 Bids	
	12/12/2017	003 - 20171212003	Crawford, Vernon	\$475	.00	\$475.00	\$475.00	1.00000 EACH	I 1 Bid	
	12/12/2017	021 - 20171212021	Portage	\$572	.00	\$572.00	\$572.00	4.00000 EACH	I 1 Bid	
	08/08/2017	001 - 20170808001	Rock	\$668	.56	\$830.00	\$346.12	3.00000 EACH	H 3 Bids	
	07/11/2017	001 - 20170711001	Rock	\$756	.42	\$1,000.00	\$261.66	2.00000 EACH	H 4 Bids	
		008 - 20170509008	Waukesha	\$604	.93	\$834.80	\$180.00	1.00000 EACH	I 3 Bids	
	05/09/2017	017 - 20170509017	Marinette	\$1,428	.44	\$1,428.44	\$1,428.44	2.00000 EACH	I 1 Bid	
		042 - 20170509042	Buffalo, Pepin	\$425	.00	\$425.00	\$425.00	1.00000 EACH	I I Bid	
		001 - 20161108001	Dane	\$855	.60	\$1,151.98	\$525.00	1.00000 EACH	I 9 Bids	
	11/08/2016	021 - 20161108021	Juneau, Sauk, Columbia	\$644	.00	\$700.00	\$475.98	1.00000 EACH	I 4 Bids	
							Total Quantity:	27.00000 EACH	t	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Usel = \$670





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description				Ave	rage	High Low	Unit	Bid Count
601.0553	Concrete Curb	& Gutter 4-Inch Slop	ped 36-Inch Typ	be D	\$2	29.90 \$	50.00 \$20.00	LF	8 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	· -0 5/14/2019 -	022 - 20190514022-	Calumet	\$50:00	\$50.00	\$50.00	421.00000 LF	1 Bid	-
	04/09/2019	016 - 20190409016	Fond Du Lac	\$30.50	\$40.00	\$21.00	462.00000 LF	2 Bids	
	03/12/2019	035 - 20190312035	Brown	\$20.07	\$20.20	\$20.00	623.00000 LF	3 Bids	
	11/13/2018	021 - 20181113021	Calumet	\$30.00	\$30.00	\$30.00	320.00000 LF	1 Bid	
	05/08/2018	018 - 20180508018	Calumet	\$38.00	\$38.00	\$38.00	445.00000 LF	1 Bid	
						Total Quantity:	2,271.00000 LF		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Removed outlier Bid

4





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	601.0557 Ø Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	922	2766
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		Law in a second second
		Search	Clear

Export (csv) | Export (tab)

					1			Expo	rt (csv) Export
ltem 🔺	Description				Avera	ige H	igh Low	Unit	Bid Count
601.0557	Concrete Cur	b & Gutter 6-Inch Slo	ped 36-Inch Ty	pe D	\$17	.20 \$2:	5.75 \$15.50	LF	25 Bids
	Letting Date	Proposal	County	Proposal Average	l Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	01/15/2019	020 - 20190115020	Outagamie	\$18.95	\$18.95	\$18.95	2,430.00000 LF	5 Bids	
		028 - 20180313028	Fond Du Lac	\$15.60	\$15.60	\$15.60	1,665.00000 LF	2 Bids	
	03/13/2018	034 - 20180313034	Outagamie Waupaca	\$15.55	\$15.70	\$15.52	1,576.00000 LF	6 Bids	
	03/14/2017	018 - 20170314018	Sheboygan	\$16.72	\$19.15	\$15.50	1,204.00000 LF	3 Bids	
		025 - 20161213025	Brown	\$19.25	\$19.25	\$19.25	1,333.00000 LF	1 Bid	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$17.66	\$25.75	\$16.50	1,053.00000 LF	8 Bids	
						Total Quantity:	9,261.00000 LF		



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Desci	ription		Average	Hi	gh	Low	Unit	Bid	Count
606.0100	Riprap) Light		\$51.82	\$128	.00	\$10.00	СҮ	14	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Qua	ntity	Proposal Bid Count	
	-05/22/2018-	001 - 20180522001-	Kenosha, Racir	i c \$90.18 -	\$128.00	\$70.00		0000 CY	3 Bids	
	02/12/2019	028 - 20180313028	Fond Du Lac	\$41.26	\$44.51	\$38.00	420.0	0000 CY	2 Bids	
	05/15/2018	037 - 20180313037	Buffalo	\$53.73	\$70.00	\$46.26	395.0	0000 CY	4 Bids	
	04/11/2017	018 - 20170411018	Racine	\$31.51	\$67.63	\$10.00	983.0	0000 CY	5 Bids	
	03/13/2018					Total Quantity:	2,825.00	000 CY		

Copyright © 2019, Info Tech, Inc. All rights reserved.

4





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Des	cription	A	werage	Hi	gh	Low	Unit	Bid C
606.0200	Ripr	ap Medium		\$62.34	\$102.	.00	\$40.00	СҮ	28 B
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Qu	antity	Proposal Bid Count
	05/14/2019	021 - 20190514021	Oconto	\$51.59	\$57.00	\$46.19	1,294	.00000 CY	2 Bids
		001 - 20190312001	Rock	\$63.00	\$63.00	\$63.00	1,145	.00000 CY	2 Bids
	-03/12/2019-	-021 - 20190312021	Racine	\$99.19	\$102.00	\$96.37		.50000 CY	-2-Bids-
		050 - 20190312050	Marathon	\$49.25	\$51.50	\$47.00	715	.00000 CY	2 Bids
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$71.06	\$78.12	\$64.00	992	.00000 CY	2 Bids
	05/22/2018	-001 - 20180522001	Kenosha, Racine	\$88.80	\$95.00	\$82.60		.00000 CY	-2 Bids-
	05/22/2018	002 - 20180522002	Racine	\$75.30	\$81.60	\$69.00	980	.00000 CY	2 Bids
	03/13/2018	001 - 20180313001	Rock	\$49.49	\$55.00	\$43.98	1,360	.00000 CY	2 Bids
	01/09/2018	001 - 20180109001	Dane	\$44.20	\$48.40	\$40.00	739	.00000 CY	2 Bids
	12/12/2017	002 - 20171212002	Dane	\$50.00	\$55.00	\$45.00	977	.00000 CY	2 Bids
	08/08/2017	001 - 20170808001	Rock	\$45.50	\$46.00	\$45.00	566	.00000 CY	2 Bids
	07/11/2017	001 - 20170711001	Rock	\$52.50	\$60.00	\$45.00	1,104	.00000 CY	2 Bids
	04/11/2017	038 - 20170411038	Waukesha	\$50.35	\$52.00	\$48.71	1,145	.00000 CY	2 Bids
	12/13/2016	042 - 20161213042	Bayfield	\$82.50	\$85.00	\$80.00		.00000 CY	-2 Bids-
						Total Quantity:	13,744.:	50000 CY	

Copyright © 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/btasearch

10/24/2019



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	608.0418 Ø Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	1031	3093
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	2	h	
		Search	Clear

1-

7

Export	(csv)	Export	(tab)

Item 🔺	Descript	tion			Average	Hig	h Low	Unit E	Bid Count
608.0418	Storm Sev	wer Pipe Reinforced C	Concrete Class IV 18-I	nch	\$53.88	\$90.0	0 \$32.92	LF 22 Bids	
	Letting Date	Proposal	County	Proposal Average	l Proposal High	L Proposal Low	Quantity	Proposal Bid Count	
	12/11/2018	002 - 20181211002	Grant	\$53,53	\$55.00	\$52.06	1,053.00000 LF	2 Bids	-
	12/11/2018	024 - 20181211024	Wood	\$50.84	\$51.00	\$50.67	1,533.00000 LF	2 Bids	
	11/13/2018	005 - 20181113005	Dane	\$71.00	\$82.00	\$60.00	2,634.00000 LF	2 Bids	
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$64.43	\$90.00	\$38.86	2,704.00000 LF	2 Bids	
	07/10/2018	010 - 20180710010	Waukesha	\$68.38	\$71.00	\$65.75	2,429.00000 LF	2 Bids	
	05/22/2018	001 - 20180522001	Kenosha, Racine	\$52.16	\$52.32	\$52.00	2,026.00000 LF	2 Bids	
	05/08/2018	030 - 20180508030	Portage	\$54.50	\$57.00	\$52.00	1,084.00000 LF	2 Bids	
	01/09/2018	001 - 20180109001	Dane	\$41.62	\$46.25	\$37.00	1,642.00000 LF	2 Bids	
Г	08/08/2017	001 - 20170808001	Rock	\$37.46	\$42.00	\$32.92	2,804.00000 LF	2 Bids	
	04/11/2017	018 - 20170411018	Racine	\$45.12	\$47.13	\$43.12	1,200.00000 LF	2 Bids	
	12/13/2016	044 - 20161213044	Douglas	\$53.65	\$62.30	\$45.00	1,919.00000 LF	2 Bids	
						Total Quantity:	21,028.00000 LF		

restrict search to the most recent 2 years

used = 154



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	611.0609 I Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Item 🔺	Descr	iption		Average		High		Low	Unit	Bid	Count
611.0609	Inlet C	Inlet Covers Type B-A				\$1,100.00	\$5	00.00	EACH	15	Bids
	Letting Date	Proposal	l. County		roposal verage	Proposal High	Proposal Low	Qua	intity	Proposal Bid Count	
	04/09/2019	007 - 20190409007	Juneau		\$729.87	\$825.00	\$650.00	1.0000	00 EACH	3 Bids	
	01/15/2019	019 - 20190115019	Sheboygan		\$849.67	\$1,100.00	\$695.00	1.0000	00 EACH	3 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winne	ebago	\$500.00	\$500.00	\$500.00	1.0000	00 EACH	2 Bids	
	01/09/2018	003 - 20180109003	Crawford		\$583.96	\$633.00	\$538.89	1.0000	00 EACH	3 Bids	
	07/11/2017	007 - 20170711007	Columbia, Saul	ĸ	\$650.00	\$650.00	\$650.00	1.0000	00 EACH	3 Bids	
	04/11/2017	020 - 20170411020	Milwaukee		\$900.00	\$900.00	\$900.00	2.0000	00 EACH	1 Bid	
							Total Quantity:	7.00000) EACH		



Welcome alan.farrell@dot.wi.gov! Logout



άĔ

Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	611.0630 ☑ Smart Item Search	Date 1 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	2	6
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any	L	
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descriptio			A		II:-L	T	TI	D'1 C
Item A	Descriptio	11		Average	High		Low	Unit	Bid Count
611.0630	Inlet Covers	Inlet Covers Type HM-GJ			\$	1,000.00	\$500.00	EACH	21 Bids
	Letting Date	Pronosal County		Proposal Average	- Proposal High	Proposal Low	Quantity	Proposal Bid Count	
		004 - 20190312004	Sauk	\$750.00	\$750.00	\$750.00	4.00000 EAC	H 1 Bid	
	03/12/2019	007 - 20190312007	Crawford	\$657.27	\$700.00	\$621.81	3.00000 EAC	H 3 Bids	
		062 - 20190312062	Chippewa	\$602.50	\$705.00	\$500.00	2.00000 EAC	H 2 Bids	
	07/10/2018	003 - 20180710003	Green	\$596.59	\$651.44	\$550.00	4.00000 EAC	H 6 Bids	
	04/11/2017	018 - 20170411018	Racine	\$594.32	\$784.49	\$521.00	4.00000 EAC	H 5 Bids	
	03/14/2017	003 - 20170314003	Grant	\$690.00	\$690.00	\$690.00	2.00000 EAC	H 1 Bid	•
	05/14/2017	031 - 20170314031	Ashland	\$722.33	\$1,000.00	\$542.00	4.00000 EAC	H 3 Bids	
						Total Quantity:	23.00000 EAC	Н	



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	611.0636 ☑ Smart Item Search	Date F From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantity From:	y Range: To:
Proposal Items:	Any	3	7
County:	Any	Price I	
Unit:	Any	From: Any	To: Any
Low Bidders:	2	(
		Search	Clear

Export (csv) | Export (tab)

									Export (c:	sv) Exp
Item 🔺	Desc	ription		Average	High		Low	Unit	Bid	Count
611.0636	Inlet (Covers Type HM-S		\$577.46	\$819.00	\$4	435.00	EACH	14	Bids
	Letting Date	Proposal	L. County	Proposal Average	· · · · · · · · · · · · · · · · · · ·	Proposal Low	Qua	ntity	Proposal Bid Count	
	03/12/2019	007 - 20190312007	Crawford	\$646.70	\$650.00	\$643.39	4.000	00 EACH	2 Bids	
	01/15/2019	016 - 20190115016	Racine	\$819.00	\$819.00	\$819.00	6.000	00 EACH	2 Bids	
	11/13/2018	018 - 20181113018	Racine	\$490.00	\$490.00	\$490.00	6.000	00 EACH	2 Bids	
	09/11/2018	007 - 20180911007	Walworth	\$510.00	\$525.00	\$495.00	5.000	00 EACH	2 Bids	
	03/13/2018	034 - 20180313034	Outagamie Waupa	ca \$457.50	\$480.00	\$435.00	4.000	00 EACH	2 Bids	
	02/13/2018	020 - 20180213020	Vilas	\$602.00	\$654.00	\$550.00	5.000	00 EACH	2 Bids	
	12/12/2017	007 - 20171212007	Monroe	\$517.00	\$544.00	\$490.00	5.000	00 EACH	2 Bids	
						Total Quantity:	35.0000	0 EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$580



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	611.0642	Dat	e Range: To:
	Smart Item Search	10/17/2016	10/17/2019
Description:	Any	Quant	tity Range: To:
Proposal Items:	Any	10	30
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet Fond du Lac		e Range:
Unit:	Any	Any	To: Any
Low Bidders:	Any		J [
		Search	Clear

Export (csv) | Export (tab)

								- Free Co	
Item 🔺	Item Description		scription Average		High		Low Unit	Bid Count	
611.0642	Inlet	Covers Type MS		\$379.11	\$500.00	\$2	89.00 EACH	10	Bids
	Letting Date	Proposal	L- County	Proposal Average		Proposal Low	Quantity	Proposal Bid Count	
	02/12/2019	006 - 20190212006	Winnebago	\$431.15	\$500.00	\$362.30	20.00000 EACH	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winneba	igo \$348.00	\$400.00	\$296.00	19.00000 EACH	2 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$331.00	\$352.00	\$289.00	10.00000 EACH	3 Bids	
	12/13/2016	016 - 20161213016	Brown, Outagamie	\$413.27	\$492.81	\$317.00	25.00000 EACH	3 Bids	
						Total Quantity:	74.00000 EACH		10) 1

2

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nred = \$380



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Item:	611.2006		ate Range: To:	
	Smart Item Search	10/17/2016	10/17/2019	
Description:	Any	Qua	ntity Range: To:	
oposal Items:	Any	1	5	
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet Fond du Lac	Price Range:		
Unit:	Any	Any	To: Any	
Low Bidders:	Any			

2

Bid Tab Analysis Search

Export (csv) | Export (tab)

					Enhou (m) i mhon							
Item 🔺	Descriptio	n		Average	1	High	Low	Low Unit				
611.2006	Manholes 6	-FT Diameter		\$3,633.88 \$4,80		51.00	\$2,683.79	EACH	25 Bids			
	Letting Date	Proposal County		County Average		Proposal Low	Quantity	Proposal Bid Count				
	03/12/2019	030 - 20190312030	Brown	\$3,076.75	\$3,500.00	\$2,800.00	1.00000 EAC	H 4 Bids				
	03/12/2019	040 - 20190312040	Sheboyga	n \$4,789.50	\$4,861.00	\$4,718.00	2.00000 EAC	H 2 Bids				
	01/15/2019	022 - 20190115022	Brown	\$3,860.00	\$4,030.00	\$3,600.00	1.00000 EAC	H 3 Bids				
	05/00/2017	024 - 20170509024	Brown	\$4,100.00	\$4,800.00	\$3,400.00	2.00000 EAC	H 2 Bids	8			
	05/09/2017	027 - 20170509027	Outagami	e \$4,242.00	\$4,242.00	\$4,242.00	2.00000 EAC	H 3 Bids				
	12/12/2016	022 - 20161213022	Winnebag	o \$3,140.73	\$3,500.00	\$2,683.79	2.00000 EAC	H 4 Bids				
	12/13/2016	026 - 20161213026	Sheboyga	n \$3,413.14	\$3,742.00	\$2,750.00	4.00000 EAC	H 7 Bids				
						Total Quantity:	14.00000 EAC	Н	IX.			

Copyright © 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/btasearch

10/24/2019



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	611.3003 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

										Export (cs	w) Export (t
Item 🔺	Desci	ription		Aver	age	Higl	h	Low	Unit	Bid	Count
611.3003	Inlets	3-FT Diameter		\$1,324	1.48	\$2,000.00	0 \$8	390.91	EACH	20	Bids
	Letting Date	Proposal	County		Proposal Average	Proposal High	Proposal Low	Qu	antity	Proposal Bid Count	
	03/12/2019	035 - 20190312035	Brown		\$1,301.67	\$1,465.00	\$1,100.00	5.000	000 EACH	3 Bids	
	03/13/2018	029 - 20180313029	Calumet, Wi	nnebago	\$1,272.50	\$1,345.00	\$1,200.00	1.000	000 EACH	2 Bids	
	12/12/2017	016 - 20171212016	Outagamie		\$1,517.33	\$2,000.00	\$1,252.00	2.000	000 EACH	3 Bids	
	08/08/2017	010 - 20170808010	Winnebago		\$1,242.18	\$1,330.00	\$890.91	3.000	000 EACH	5 Bids	
	10/10/0016	020 - 20161213020	Winnebago		\$1,317.00	\$1,485.00	\$1,261.00	1.000	000 EACH	4 Bids	
	12/13/2016	021 - 20161213021	Winnebago		\$1,336.20	\$1,336.20	\$1,336.20	5.000	000 EACH	3 Bids	
							Total Quantity:	17.0000	00 EACH		



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descri	ption		Average	E	Iigh	Low	Unit	Bid	Count
611.3901	Inlets N	fedian 1 Grate		\$1,631.39	\$3,553.00		\$976.00	\$976.00 EACH 34		Bids
	Letting Date	Proposal	L. County	Proposal Average	Proposal High	Proposal Low	Quan	tity	Proposal Bid Count	
	07/00/2010	001 - 20190709001	Rock	\$1,814.41	\$1,913.76	\$1,715.06	22.0000	0 EACH	2 Bids	
	07/09/2019	002 - 20190709002	Dane	\$1,300.91	\$1,317.69	\$1,284.14	26.0000	0 EACH	2 Bids	
	12/11/2018	035 - 20181211035	Dane	\$1,165.00	\$1,200.00	\$1,130.00	14.0000	0 EACH	2 Bids	
	11/13/2018	030 - 20181113030	St Croix	\$3,387.78	\$3,553.00	\$3,222.55	9.0000	0 EACH	2 Bids	
	07/10/2018	010 - 20180710010	Waukesha	\$1,933.50	\$2,200.00	\$1,667.00	14.0000	0 EACH	2 Bids	
	06/12/2018	001 - 20180612001	Rock	\$1,624.45	\$1,631.27	\$1,617.64	14.0000	0 EACH	2 Bids	
	05/00/0019	001 - 20180522001	Kenosha, Raci	ne \$1,302.52	\$1,490.04	\$1,115.00	15.0000	0 EACH	2 Bids	
	05/22/2018	002 - 20180522002	Racine	\$1,177.00	\$1,378.00	\$976.00	16.0000	0 EACH	2 Bids	
	03/13/2018	004 - 20180313004	Rock	\$1,662.32	\$2,050.00	\$1,274.64	16.0000	0 EACH	2 Bids	
	01/09/2018	001 - 20180109001	Dane	\$1,369.64	\$1,640.00	\$1,099.29	9.0000	0 EACH	2 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$1,499.00	\$1,698.00	\$1,300.00	10.0000	0 EACH	2 Bids	
	11/14/2017	038 - 20171114038	Walworth	\$1,155.00	\$1,155.00	\$1,155.00	9.0000	0 EACH	2 Bids	
	09/12/2017	005 - 20170912005	Milwaukee	\$1,348.91	\$1,475.00	\$1,222.82	9.0000	0 EACH	2 Bids	
	08/08/2017	004 - 20170808004	Dane	\$1,602.06	\$1,704.12	\$1,500.00	11.0000	0 EACH	2 Bids	
	07/11/2017	004 - 20170711004	Dane	\$2,292.91	\$2,459.00	\$2,126.83	18.0000	0 EACH	2 Bids	
	03/14/2017	016 - 20170314016	Milwaukee	\$1,239.00	\$1,300.00	\$1,178.00	22.0000	0 EACH	2 Bids	
	11/08/2016	001 - 20161108001	Dane	\$1,859.16	\$1,900.00	\$1,818.32	10.0000	0 EACH	2 Bids	
						Total Quantity:	244.00000	EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$1630



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	611.3902 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019	
Description:	Any	Quantity Range:	
Proposal Items:	Any	1 5	
County:	Outagamie, Brown, Sheboygan, Winnebago, Calumet, Fond du Lac	Price Range:	
Unit:	Any	From: To: Any Any	
Low Bidders:	2		
		Search Clear	

-1

Export (csv) | Export (tab)

Item 🔺	Descript	tion		Avera	ge	Hi	gh	Low	Uni	t B	id Count
611.3902	Inlets Median 2 Grate		\$1,755.4	40	\$2,476.	33	\$1,200.00	EAC	Н	12 Bids	
	Letting Date	Proposal	County		roposal Average	Proposal High	Proposal Low	Quanti	ty	Proposal Bid Count	
	03/13/2018	028 - 20180313028	Fond Du	Lac \$	2,319.51	\$2,476.33	\$2,162.70	4.00000 1	EACH	2 Bids	
	12/12/2017	014 - 20171212014	Brown, C	Oconto \$	1,985.00	\$1,985.00	\$1,985.00	3.00000 1	EACH	2 Bids	
	11/14/2017	020 - 20171114020	Winneba	go \$	1,637.50	\$2,000.00	\$1,275.00	1.000001	EACH	2 Bids	
	06/13/2017	030 - 20170613030	Winneba	go \$	1,670.00	\$1,750.00	\$1,590.00	4.000001	EACH	2 Bids	
	01/10/2017	008 - 20170110008	Fond Du	Lac \$	1,292.50	\$1,385.00	\$1,200.00	3.000001	EACH	2 Bids	
	12/13/2016	021 - 20161213021	Winneba	go \$	1,627.88	\$1,627.88	\$1,627.88	1.00000 1	EACH	2 Bids	
							Total Quantity:	16.00000 E	ACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

r



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	620.0300 ☑ Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	535	1605
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	Any	To: Any
Low Bidders:	Any		
		Search	Clear

r

7

Export (csv) | Export (tab)

.

ltem ▲	Desc	ription		Average]	High	Low	Unit	Bid C	Count
620.0300	Conc	rete Median Sloped N	ose	\$8.51		\$	12.15	\$6.31	SF	34 1	Bids
	Letting Date	Proposal	County	Proposal Average		osal igh	Proposal Low	Qua	ntity	Proposal Bid Count	
		035 - 20190312035	Brown	\$12.05	\$12	2.15	\$12.00	797.	00000 SF	3 Bids	
	03/12/2019	038 - 20190312038	Brown	\$10.00	\$10	0.00	\$10.00	542.	00000 SF	2 Bids	
		040 - 20190312040	Sheboygan	\$8.00	\$8	3.00	\$8.00	1,375.	00000 SF	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$7.50	\$7	.50	\$7.50	769.	00000 SF	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$8.00	\$8	8.00	\$8.00	655.	00000 SF	4 Bids	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$8.54	\$10	0.00	\$7.34	1,020.	00000 SF	15 Bids	
	12/13/2016	028 - 20161213028	Outagamie	\$6.99	\$8	8.00	\$6.31	730.	00000 SF	6 Bids	
							Total Quantity:	5,888.0	0000 SF		

Nsed = \$ 8.50





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	624.0100	Date Ram From: To 10/17/2016 1	
Description:	Any	Quantity R From: To	
Proposal Items:	Any	territoria de la constante de la const	255
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Rar	
Unit:	Any	From: To Any A	ny
Low Bidders:	Any		
		Search	Clear

7

ì

Export (csv) | Export (tab)

Item 🔺	D	escription		Average	High	Lo	w Unit	Bid Cour
624.0100	4.0100 Water			\$22.34	\$50.00	\$0.0	1 MGAL	33 Bids
	Letting Date	Proposal	L	Proposal Average		Proposal Low	Quantity	Proposal Bid Count
	03/13/2018	029 - 20180313029	Calumet, Winnebag	go \$31.50	\$40.00	\$23.00	2,013.00000 MGAL	2 Bids
	12/12/2017	019 - 20171212019	Winnebago	\$26.18	\$28.00	\$25.00	926.00000 MGAL	5 Bids
	01/10/2017	008 - 20170110008	Fond Du Lac	\$20.63	\$50.00	\$0.01	910.00000 MGAL	15 Bids
		021 - 20161213021	Winnebago	\$23.67	\$35.00	\$1.00	791.00000 MGAL	3 Bids
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$20.38	\$35.00	\$0.01	2,130.00000 MGAL	8 Bids
						Total Quantity:	6,770.00000 MGAL	



Bid Express Secure Internet Bidding

Wisconsin Department of Transportation Bid Tab Analysis Search > Item Bid History

Item Bid History for 625.0500

Salvaged Topsoil

Proposal				
Bidder	Unit	Quantity	Unit Price	Total
20161213027				
I NTEGRITY GRADING AN D EXCAVATING, INC:	-SY-	-149,662.00000	\$0.01000-	\$1,496.62
MASHUDA CONTRACTORS, INC.	SY	149,662.00000	\$0.45000	\$67,347.90
MUSSON BROS., INC.	SY	149,662.00000	\$0.60000	\$89,797.20
JAMES PETERSON SONS, INC.	SY	149,662.00000	\$0.61000	\$91,293.82
MICHELS CORPORATION	SY	149,662.00000	\$0.78000	\$116,736.36
STARK PAVEMENT CORPORATION	SY	149,662.00000	\$0.79000	\$118,232.98
HOFFMAN CONSTRUCTION COMPANY	SY	149,662.00000	\$0.90000	\$134,695.80
RELYCO, INC.	SY	149,662.00000	\$0.90000	\$134,695.80
20180313029				
VINTON CONSTRUCTION COMPANY	SY	164,667.00000	\$0.65000	\$107,033.55
MICHELS CORPORATION	SY	-164,667.00000	\$5.00000	\$823,335.00

Search Pa	arameters
Item:	625.0500
Counties:	Outagamie, Brown, Winnebago, Sheboygan, Calur
Unit:	SY
Start Date:	10/17/2016
End Date:	10/17/2019
Minimum Quantity:	149163
Maximum Quantity:	447489

Bidde	ers All None
Ин	OFFMAN CONSTRUCTION COMPANY
☑ IN INC.	NTEGRITY GRADING AND EXCAVATING,
☑ J4	AMES PETERSON SONS, INC.
☑ м	IASHUDA CONTRACTORS, INC.
☑ м	IICHELS CORPORATION
☑ м	IUSSON BROS., INC.
🗹 R	ELYCO, INC.
⊠ S:	TARK PAVEMENT CORPORATION
V V	INTON CONSTRUCTION COMPANY

Removed outliers

you only use 2 projects and 7 of your 8 bids are from 2016; restrict search to the low two bidders

Copyright © 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/itembidhistory?count=14&itemnumber=625.0500&unit=SY&p... 10/24/2019



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	628.1504 Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range:
Proposal Items:	Any	6815 20445
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

			1					Export (cs	v) Export (
Item 🔺	De	escription		Average	High	Lo	w Unit	Bid Co	unt
628.1504	Sil	t Fence		\$1.95	\$4.00	\$1.5	53 LF	28 Bi	ds
	Letting Date	Proposal	County	Proposal Average		Proposal Low	Quantity	Proposal Bid Count	
	01/15/2019	020 - 20190115020	Outagamie	\$1.64	\$2.10	\$1.53	8,500.00000 LF	5 Bids	
	11/13/2018	023 - 20181113023	Calumet	\$2.31	\$4.00	\$1.85	7,500.00000 LF	6 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$1.80	\$1.80	\$1.80	10,066.00000 LF	2 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$2.25	\$2.25	\$2.25	7,365.00000 LF	3 Bids	
		016 - 20161213016	Brown, Outagamie	\$1.80	\$1.80	\$1.80	11,775.00000 LF	3 Bids	
	12/13/2016	017 - 20161213017	Brown	\$1.80	\$1.80	\$1.80	7,335.00000 LF	1 Bid	
		027 - 20161213027	Fond Du Lac, Winnebago	\$1.88	\$2.00	\$1.75	10,715.00000 LF	8 Bids	
						Total Quantity:	63,256.00000 LF		



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search





Export (csv) | Export (tab)

Item 🔺	Desc	ription		Average		High	Low	Unit	Bid C	Count
628.1905	Mobil	Mobilizations Erosion Control			\$	\$500.00		EACH	24 I	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Qua	ntity	Proposal Bid Count	
	03/12/2019	038 - 20190312038	Brown	\$150.00	\$150.00	\$150.00	10.00	000 EACH	2 Bids	
	03/12/2019	040 - 20190312040	Sheboygan	\$325.00	\$450.00	\$200.00	15.00	000 EACH	2 Bids	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$151.00	\$151.00	\$151.00	11.00	000 EACH	2 Bids	
	02/13/2018	014 - 20180213014	Sheboygan	\$50.00	\$50:00-	\$50.00	10:00	000 EACH	-2 Bids	
	02/15/2018	019 - 20180213019	Brown	\$300.00	\$300.00	\$300.00	10.00	000 EACH	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$250.00	\$250.00	\$250.00	12.00	000 EACH	2 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$345.00	\$500.00	\$190.00	12.000	000 EACH	2 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$125.50	\$126.00	\$125.00	16.000	000 EACH	2 Bids	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$275.00	\$400.00	\$150.00	15.000	000 EACH	2 Bids	
		016 - 20161213016	Brown, Outagamie	\$200.00	\$200.00	\$200.00	20.000	000 EACH	2 Bids	
	12/13/2016	024 - 20161213024	Brown	\$150.00	\$150.00	\$150.00	10.000	000 EACH	2 Bids	
		-027-20161213027-	Fond Du Lac, Winnebago	\$1.00	\$1.00	\$1.00	10.000	000 EACH	2 Bids	
						Total Quantity:	151.0000	0 EACH		

Removed Untlier Projects

Average of Proposal Averages =
$$\frac{f_{12}}{10} = f_{12}$$

10/24/2019





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	628.2002 ⊠ Smart Item Search	Date From: 10/17/2016	Range: ^{To:} 10/17/2019
Description:	Any	Quanti From:	ty Range: To:
Proposal Items	Any	111941	335822
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

		14					Export (csv)	Export	(tab)
Item 🔺	Description		Avera	ige	Hi	gh Lov	w Unit	Bid C	ount
628.2002	Erosion Mat Cla	ass I Type A	\$0.	.89	\$0.	.89 \$0.8	9 SY	3 Bi	ds
Letting Date	Proposal	County	Proposal Average	33	posal High	Proposal Low	Quantity		roposal Bid Count
12/13/2016	016 - 20161213016	Brown, Outagamie	\$0.89		\$0.89	\$0.89	248,257.00000	SY	3 Bids
						Total Quantity:	248,257.00000	SY	





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	628.2037 Ø Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	ty Range: To:
Proposal Items:	Any	413	1239
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any	[]	terre in the second second
		Search	Clear

Export (csv) | Export (tab)

				1-				Exp	ort (csv) Export (tab
Item 🔺	Descrip	tion		A	erage	High	Low	Unit	Bid Count
628.2037	Erosion I	Mat Class III Type C			\$7.80	\$8.95	\$6.95	SY	6 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	· · · · · · · · · · · · · · · · · · ·	Quantity	Proposal Bid Count	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$8.50	\$8.50	\$8.50	540.00000 \$	SY 2 Bids	-
	01/09/2018	001 - 20180109001	Dane	\$7.45	\$8.95	\$6.95	1,150.00000	SY 4 Bids	
						Total Quantity:	1,690.00000 \$	SY	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wred = \$7.80



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descript	ion		I	Average		High	Low	Uni	it	Bid Count
628.5505	Polyethyl	ene Sheeting			\$2.91		\$5.00	\$2.00	SY		14 Bids
	Letting Date	Proposal	County	Propos Avera	sal Propo ge H	sal igh	Proposal Low	Quantity	1	Proposal Bid Count	
	07/09/2019	002 - 20190709002	Dane	\$2.:	58 \$4	.00	\$2.00	1,970.00000	SY	5 Bids	-
	01/15/2019	010 - 20190115010	Iowa	\$2.	95 \$3	.50	\$2.34	1,120.00000	SY	3 Bids	
	05/22/2018	002 - 20180522002	Racine	\$3.4	40 \$5	.00	\$2.00	2,000.00000	SY	5 Bids	
	03/13/2018	040 - 20180313040	St Croix	\$2.	00 \$2	.00	\$2.00	2,500.00000	SY	1 Bid	
							Total Quantity:	7,590.00000	SY		





ŵ

Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description			Average	Hig	h	Low Unit	Bie	d Count
628.6005	Turbidi	ity Barriers		\$41.50	\$80.0	0 \$	25.00 SY	7	'3 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	08/13/2019	008 - 20190813008	Marinette	\$48.26	\$55.00	\$41.55	47.00000 SY	4 Bids	
	03/12/2019	056 - 20190312056	Trempealeau	\$33.75	\$45.00	\$30.00	68.00000 SY	4 Bids	
	02/12/2019	008 - 20190212008	Manitowoc	\$43.75	\$55.00	\$40.00	43.00000 SY	4 Bids	
	02/12/2019	020 - 20190212020	Pierce	\$33.92	\$35.00	\$31.75	55.00000 SY	3 Bids	
	04/10/2018	017 - 20180410017	Washburn	\$49.45	\$60.00	\$35.00	33.00000 SY	5 Bids	
	02/13/2018	028 - 20180213028	Trempealeau	\$50.00	\$60.00	\$40.00	25.00000 SY	4 Bids	
	12/12/2017	017 - 20171212017	Door	\$61.15	\$80.00	\$51.60	50.00000 SY	6 Bids	
	11/14/2017	028 - 20171114028	Taylor	\$36.00	\$42.00	\$32.00	50.00000 SY	4 Bids	
	05/09/2017	035 - 20170509035	Price	\$27.70	\$38.50	\$25.00	60.00000 SY	5 Bids	
	03/09/2017	046 - 20170509046	Sawyer	\$27.00	\$27.00	\$27.00	65.00000 SY	3 Bids	
	04/11/2017	035 - 20170411035	Washburn	\$45.50	\$45.50	\$45.50	30.00000 SY	2 Bids	
		024 - 20170314024	Marathon	\$29.60	\$35.00	\$26.00	60.00000 SY	5 Bids	
	03/14/2017	033 - 20170314033	Douglas	\$35.00	\$35.00	\$35.00	55.00000 SY	4 Bids	
		036 - 20170314036	Taylor	\$55.43	\$73.00	\$35.00	35.00000 SY	7 Bids	
	12/13/2016	007 - 20161213007	Dane	\$30.33	\$40.00	\$26.00	50.00000 SY	6 Bids	
	11/08/2016	010 - 20161108010	Marathon Portag	e \$42.60	\$50.00	\$36.00	50.00000 SY	7 Bids	
						Total Quantity:	776.00000 SY		





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid	Tab	Ana	lysis	Search
-----	-----	-----	-------	--------

	628.7504	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1125 3375
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range: From: To:
Unit:	Any	Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Desc	ription		Avera	ge	High		Low Unit		Bid Count	
628.7504	Temp	oorary Ditch Checks		\$7.3	24	\$8.75	\$5.33	LF	20 H	Bids	
	Letting Date	Proposal	County	Proposal Average	Proposal High		Qua	ntity	Proposal Bid Count		
		028 - 20180313028	Fond Du Lac	\$5.33	\$5.33	\$5.33	1,335.	00000 LF	2 Bids		
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$6.90	\$6.90	\$6.90	1,581.	00000 LF	2 Bids		
	12/12/2017	014 - 20171212014	Brown, Oconto	\$8.13	\$8.50	\$8.00	2,213.	00000 LF	4 Bids		
		016 - 20161213016	Brown, Outagamie	\$8.00	\$8.00	\$8.00	2,510.	00000 LF	3 Bids		
	12/13/2016	017 - 20161213017	Brown	\$8.00	\$8.00	\$8.00	1,833.	00000 LF	1 Bid		
		027 - 20161213027	Fond Du Lac, Winnebago	\$6.97	\$8.75	\$6.50	1,142.	00000 LF	8 Bids		
						Total Quantity:	10,614.0	0000 LF			





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	628.7515.S ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	248 743
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

ltem 🔺	De	escription		Averag	je	High	Low	Unit	Bid	Count
628.7515.S	Sto	\$48.6	6	\$77.25		СҮ	14 Bids			
	Letting Date	Proposal	County	Proposal Average	Proposal High		Quan	tity	Proposal Bid Count	
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$76.13	\$77.25	\$75.00	597.00	000 CY	2 Bids	
	07/10/2018	010 - 20180710010	Waukesha	\$55.00	\$55.00	\$55.00	400.00	000 CY	2 Bids	
	06/13/2017	021 - 20170613021	Iowa	\$33.00	\$50.00	\$25.00	335.00	000 CY	5 Bids	
	04/11/2017	018 - 20170411018	Racine	\$50.80	\$55.00	\$48.00	494.000	000 CY	5 Bids	
						Total Quantity:	1,826.000	00 CY		

1-

1

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wred = \$49





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	628.7555	Date Range:			
	Smart Item Search	10/17/2016	10/17/2019		
Description:	Any	Quanti	ty Range: To:		
Proposal Items:	Any	113	338		
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:		
Unit:	Any	Any	To: Any		
Low Bidders:	Any]			
		Search	Clear		

ľ

Export (csv) | Export (tab)

Item 🔺	Description			Average	•	High	Low	Unit	Bid (Count
628.7555	Culvert Pipe Checks		\$16.30	5 3	\$33.90		EACH	20	Bids	
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Qu	antity	Proposal Bid Count	
	05/14/2019	023 - 20190514023	Fond Du Lac	\$27.00	\$27.00	\$27.00	120.0	0000 EACH	1 Bid	
	01/15/2019	020 - 20190115020	Outagamie	\$16.46	\$17.33	\$13.00	130.0	0000 EACH	5 Bids	
		028 - 20180313028	Fond Du Lac	\$15.00	\$15.00	\$15.00	267.0	0000 EACH	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$11.00	\$11.00	\$11.00	160.0	0000 EACH	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$15.00	\$15.00	\$15.00	158.0	0000 EACH	4 Bids	
	03/14/2017	018 - 20170314018	Sheboygan	\$25.27	\$33.90	\$8.00	124.0	0000 EACH	3 Bids	
	12/13/2016	021 - 20161213021	Winnebago	\$10.00	\$10.00	\$10.00	163.0	0000 EACH	3 Bids	
						Total Quantity:	1,122.00	000 EACH		





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid	Tab	Analysis	Search
-----	-----	----------	--------

Item:	628.7570 ⊠ Smart Item Search	Date F From: 10/17/2016	ange: ^{To:} 10/17/2019
Description:	Any	Quantity	Range: To:
Proposal Items:	Any	100	300
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price F	
Unit:	Any	Any	To: Any
Low Bidders:	Any]	
		Search	Clear

	K	NS	e	Å
-	K			

				KWJ		Export (csv) Export (ta		
tem 🔺		Description		Average	High	Lov	v Unit	Bid Count
628.7570		Rock Bags		\$11.00	\$21.00	\$6.2	5 EACH	77 Bids
	Letting Date	Proposal	L. County	Propos Avera	al Proposa ge Higt		Quantity	Proposal Bid Count
	05/14/2019	023 - 20190514023	Fond Du Lac	\$18.	00 \$18.00	\$18.00	200.00000 EACH	1 Bid
		030 - 20190312030	Brown	\$11.	54 \$11.65	\$11.50	100.00000 EACH	4 Bids
	03/12/2019	032 - 20190312032	Sheboygan	\$20.	00 \$20.00	\$20.00	110.00000 EACH	3 Bids
		037 - 20190312037	Winnebago	\$11.	25 \$12.00	\$10.00	245.00000 EACH	4 Bids
		005 - 20190212005	Winnebago	\$11.	08 \$15.91	\$6.25	265.00000 EACH	2 Bids
	02/12/2019	006 - 20190212006	Winnebago	\$12.	00 \$12.00	\$12.00	100.00000 EACH	2 Bids
		011 - 20190212011	Brown	\$12.	00 \$12.00	\$12.00	130.00000 EACH	3 Bids
	01/15/2019	019 - 20190115019	Sheboygan	\$11.	47 \$12.40	\$10.00	166.00000 EACH	3 Bids
	01/15/2019	020 - 20190115020	Outagamie	\$7.	36 \$11.50	\$6.33	180.00000 EACH	5 Bids
	11/13/2018	023 - 20181113023	Calumet	\$12.	02 \$21.00	\$8.11	100.00000 EACH	6 Bids
	06/12/2018	012 - 20180612012	Sheboygan	\$6.	50 \$6.50	\$6.50	100.00000 EACH	1 Bid
	03/13/2018	028 - 20180313028	Fond Du Lac	\$6.	25 \$6.25	\$6.25	265.00000 EACH	2 Bids
	02/13/2018	019 - 20180213019	Brown	\$10.	13 \$10.50	\$10.00	120.00000 EACH	4 Bids
	12/12/2017	016 - 20171212016	Outagamie	\$14.	\$15.00	\$12.00	100.00000 EACH	3 Bids
	12/12/2017	018 - 20171212018	Fond Du Lac	\$15.	00 \$15.00	\$15.00	125.00000 EACH	5 Bids
	11/14/2017	020 - 20171114020	Winnebago	\$11.	13 \$12.50	\$10.00	118.00000 EACH	4 Bids
	08/08/2017	009 - 20170808009	Brown	\$10.	\$10.00	\$10.00	110.00000 EACH	3 Bids
	06/13/2017	030 - 20170613030	Winnebago	\$8.	00 \$8.00	\$8.00	110.00000 EACH	4 Bids
	03/14/2017	018 - 20170314018	Sheboygan	\$7.	40 \$8.00	\$7.10	200.00000 EACH	3 Bids
	02/14/2017	012 - 20170214012	Sheboygan	\$10.	92 \$12.35	\$8.00	150.00000 EACH	7 Bids
	12/13/2016	027 - 20161213027	Fond Du Lac, Winneb	ago \$8.	\$9.00	\$8.00	273.00000 EACH	8 Bids
						Total Quantity:	3,267.00000 EACH	




Wisconsin Department of Transportation Bid Tab Analysis Search

Bid	Tab	Anal	ysis	Searc	h
-----	-----	------	------	-------	---

	629.0210 ☑ Smart Item Search	Date 7	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	94	282
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

-

Export (csv) | Export (tab)

Item 🔺	Description			Average	High		Low Unit	Bid Count	
629.0210	Fert	Fertilizer Type B			\$55.00	\$4	18.00 CWT	17 Bids	
	Letting Proposal Date		L_ County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	03/13/2018	029 - 20180313029	Calumet, Winnebage	\$55.00	\$55.00	\$55.00	117.80000 CWT	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$50.00	\$50.00	\$50.00	175.00000 CWT	4 Bids	
		016 - 20161213016	Brown, Outagamie	\$50.00	\$50.00	\$50.00	163.00000 CWT	3 Bids	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$48.13	\$49.00	\$48.00	111.87700 CWT	8 Bids	
						Total Quantity:	567.67700 CWT		

T

Copyright © 2019, Info Tech, Inc. All rights reserved.

wsed = \$50





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

Item:	630.0120 叼 Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	3805 11415
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	L
		Search Clear

Item 🔺	Descriptio	on Av	erage	Hig	h	Low Un	it Bid Co	int
630.0120		xture No. 20	\$4.88	\$7.5		63.60 LE		
Letting Date	Proposal	County		Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
04/09/2019	017 - 20190409017	Sheboygan		\$5.10	\$5.10	\$5.10	8,827.00000 LB	2 Bids
12/11/2018	001 - 20181211001	Rock		\$7.50	\$7.50	\$7.50	8,920.00000 LB	1 Bid
11/13/2018	004 - 20181113004	Columbia, Dane, Dodge		\$5.79	\$5.93	\$5.50	6,062.40000 LB	3 Bids
11/13/2018	030 - 20181113030	St Croix		\$5.00	\$5.00	\$5.00	6,481.00000 LB	3 Bids
07/10/2018	010 - 20180710010	Waukesha		\$4.95	\$4.95	\$4.95	5,800.00000 LB	2 Bids
05/22/2018	001 - 20180522001	Kenosha, Racine		\$5.97	\$7.10	\$5.40	6,096.00000 LB	3 Bids
12/12/2017	002 - 20171212002	Dane		\$4.25	\$4.25	\$4.25	5,490.00000 LB	5 Bids
12/12/2017	008 - 20171212008	Crawford		\$4.07	\$4.53	\$3.60	10,453.00000 LB	4 Bids
11/14/2017	031 - 20171114031	Adams, Juneau		\$5.72	\$6.25	\$4.65	4,934.00000 LB	3 Bids
07/11/2017	001 - 20170711001	Rock		\$4.39	\$4.50	\$4.05	5,225.00000 LB	4 Bids
07/11/2017	004 - 20170711004	Dane		\$5.25	\$5.25	\$5.25	5,376.00000 LB	3 Bids
02/14/2017	016 - 20170214016	Clark, Eau Claire, St Croix, Northwest Region	n Wide	\$4.44	\$5.25	\$4.00	6,265.00000 LB	4 Bids
12/13/2016	002 - 20161213002	La Crosse		\$5.26	\$5.50	\$4.60	4,778.00000 LB	7 Bids
11/08/2016	001 - 20161108001	Dane		\$4.25	\$4.25	\$4.25	4,466.00000 LB	9 Bids
						Total Quantity:	89,173.40000 LB	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$4.90





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	630.0140 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:		Quantity Range:
Proposal Items:		668
Unit:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Low Bidders:		Any Any
		Search Clear

-

-

Export (csv) | Export (tab)

Item 🔺	De	escription		Average	Higł	ı Lo	ow Unit	Bid Coun
630.0140	Se	eding Mixture No. 40		\$9.61	\$15.00) \$5.	.00 LB	16 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
	04/09/2019	016 - 20190409016	Fond Du Lac	\$15.00	\$15.00	\$15.00	289.71000 LB	2 Bids
	03/12/2019	036 - 20190312036	Outagamie	\$9.00	\$9.00	\$9.00	240.00000 LB	2 Bids
	02/12/2019	006 - 20190212006	Winnebago	\$9.23	\$9.23	\$9.23	318.00000 LB	2 Bids
	11/13/2018	023 - 20181113023	Calumet	\$8.25	\$8.25	\$8.25	600.00000 LB	2 Bids
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$7.00	\$7.00	\$7.00	398.00000 LB	2 Bids
	12/12/2017	019 - 20171212019	Winnebago	\$9.17	\$9.24	\$9.10	380.00000 LB	2 Bids
	01/10/2017	008 - 20170110008	Fond Du Lac	\$13.50	\$15.00	\$12.00	580.00000 LB	2 Bids
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$5.75	\$6.50	\$5.00	370.30000 LB	2 Bids
						Total Quantity:	3,176.01000 LB	





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	630.0200	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: 500 1500
Proposal Items: County:		Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	2	Search Clear

					Tr	Nred			Expo	rt (csv) Export
Item 🔺	Descrij	ption		Avera	ge	High	Low	Unit	Bi	id Count
630.0200	Seeding	Temporary		\$2.	30	\$4.13	\$1.50	LB		9 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantit	у	Proposal Bid Count	2
	01/15/2019	020 - 20190115020	Outagamie	\$3.14	\$4.13	\$2.15	1,100.0000	0 LB	2 Bids	
		028 - 20180313028	Fond Du Lac	\$2.73	\$2.73	\$2.73	819.0000	0 LB	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$1.50	\$1.50	\$1.50	1,075.0000	0 LB	2 Bids	
	06/13/2017	030 - 20170613030	Winnebago	\$2.00	\$2.00	\$2.00	1,218.0000	0 LB	2 Bids	
	12/13/2016	017 - 20161213017	Brown	\$2.00	\$2.00	\$2.00	1,261.00000	0 LB	1 Bid	
						Total Quantity:	5,473.00000) LB		





Wisconsin Department of Transportation Bid Tab Analysis Search





Export (csv) | Export (tab)

Item 🔺	De	scription		Average	High	ı Lo	ow Unit	Bid Cour
630.0300	See	eding Borrow Pit		\$6.05	\$30.00	\$0.	01 LB	24 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
	-04/09/2019	019 - 20190409019-	Marinette	\$2.00	\$2.00	\$2.00	275.00000 LB	
	03/12/2019	036 - 20190312036	Outagamie	\$7.00	\$7.00	\$7.00	270.00000 LB	2 Bids
	03/12/2019	064 - 20190312064	Manitowoc	\$5.25	\$5.25	\$5.25	230.00000 LB	1 Bid
	01/15/2019	007 - 20190115007	Jefferson	\$4.25	\$6.00	\$2.50	120.00000 LB	2 Bids
	01/15/2019	- 010 - 20190115010 -	Iowa	\$3.48	\$6.95	\$0.01	120.00000 LB	2 Bids
	-12/11/2018	011-20181211011-	Dane	\$17.70	\$30.00	\$5.40	120.00000 LB	-2-Bids
	02/13/2018	032 - 20180213032	Eau Claire	\$8.00	\$8.00	\$8.00	120.00000 LB	2 Bids
	07/11/2017	001 - 20170711001	Rock	\$4.00	\$4.00	\$4.00	220.00000 LB	2 Bids
	05/09/2017	003 - 20170509003	Green	\$4.10	\$4.20	\$4.00	260.00000 LB	2 Bids
	04/11/2017	003 - 20170411003	Dane	\$4.33	\$4.70	\$3.95	202.00000 LB	2 Bids
	03/14/2017	001 - 20170314001	Rock	\$4.45	\$4.45	\$4.45	120.00000 LB	2 Bids
	12/13/2016	002 - 20161213002	La Crosse	\$4.64	\$4.69	\$4.60	187.00000 LB	2 Bids
	11/08/2016	021 - 20161108021	Juneau, Sauk, Columbia	a \$7.00	\$7.00	\$7.00	261.40000 LB	2 Bids
						Total Quantity:	2,505.40000 LB	

Removed outliers

Average of Proposal Averages =
$$\frac{153.07}{10} = 15.30$$

Wsed = 15.30

Bid Tab Analysis Search



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	633.5200 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	27 80
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Desc	cription		Average	High	I	Low	Unit	Bid (Count
633.5200	Mark	Markers Culvert End			\$50.00) \$	35.00	EACH	21 1	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Qu	antity	Proposal Bid Count	
	05/14/2019	023 - 20190514023	Fond Du Lac	\$50.00	\$50.00	\$50.00	44.00	0000 EACH	1 Bid	
		028 - 20180313028	Fond Du Lac	\$45.00	\$45.00	\$45.00	44.00	0000 EACH	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$44.00	\$44.00	\$44.00	28.00	0000 EACH	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$35.00	\$35.00	\$35.00	40.00	0000 EACH	4 Bids	
	06/13/2017	032 - 20170613032	Brown	\$50.00	\$50.00	\$50.00	33.00	0000 EACH	1 Bid	
06/13/20		016 - 20161213016	Brown, Outagamie	\$50.00	\$50.00	\$50.00	30.00	0000 EACH	3 Bids	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$40.50	\$50.00	\$39.00	36.00	0000 EACH	8 Bids	
						Total Quantity:	255.000	00 EACH		





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid	Tab	Anal	vsis	Search
-----	-----	------	------	--------



Í

Export (csv) | Export (tab)

tem 🔺	Desci	ription		Average	Н	ligh	Low	Unit	Bid	Coun
537.2210	Signs	Type II Reflective H		\$16.13	\$2	0.78	\$13.75	SF	75	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quan	tity	Proposal Bid Count	
	05/14/2019	027 - 20190514027	Winnebago	\$19.94	\$20.78	\$19.09	629.6	0000 SF	2 Bids	
	04/00/2010	016 - 20190409016	Fond Du Lac	\$20.75	\$20.75	\$20.75	671.0	7000 SF	2 Bids	
	04/09/2019	017 - 20190409017	Sheboygan	\$18.30	\$18.30	\$18.30	1,277.6	4000 SF	2 Bids	
	02/12/2019	005 - 20190212005	Winnebago	\$16.57	\$18.03	\$15.11	1,107.7	4000 SF	2 Bids	
	02/12/2019	006 - 20190212006	Winnebago	\$19.96	\$19.96	\$19.96	674.0	0000 SF	2 Bids	
		012 - 20180612012	Sheboygan	\$16.15	\$16.15	\$16.15	958.1	0000 SF	1 Bid	
	06/12/2018	013 - 20180612013	Calumet	\$16.00	\$16.00	\$16.00	953.3	8000 SF	1 Bid	
	00/12/2018	014 - 20180612014	Calumet	\$15.50	\$15.50	\$15.50	847.7	3000 SF	1 Bid	
		015 - 20180612015	Winnebago	\$17.11	\$17.11	\$17.11	645.3	7000 SF	1 Bid	
		015 - 20180508015	Fond Du Lac	\$16.50	\$16.50	\$16.50	791.3	2000 SF	1 Bid	
	05/08/2018	016 - 20180508016	Sheboygan	\$16.00	\$16.00	\$16.00	1,081.6	6000 SF	1 Bid	
		018 - 20180508018	Calumet	\$16.00	\$16.00	\$16.00	560.9	8000 SF	1 Bid	
		028 - 20180313028	Fond Du Lac	\$13.75	\$13.75	\$13.75	581.6	9000 SF	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$15.96	\$15.96	\$15.96	1,398.4	6000 SF	2 Bids	
		034 - 20180313034	Outagamie Waupaca	\$16.93	\$20.50	\$16.00	665.3	4000 SF	6 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$14.50	\$14.50	\$14.50	1,215.3	7000 SF	4 Bids	
	06/13/2017	031 - 20170613031	Calumet	\$16.00	\$16.00	\$16.00	516.4	3000 SF	2 Bids	
	00/15/2017	032 - 20170613032	Brown	\$15.50	\$15.50	\$15.50	738.8	3000 SF	1 Bid	
	05/09/2017	021 - 20170509021	Outagamie	\$15.33	\$15.50	\$15.00	786.5	5000 SF	3 Bids	
	04/11/2017	024 - 20170411024	Sheboygan	\$16.00	\$16.00	\$16.00	540.4	3000 SF	1 Bid	
	03/14/2017	018 - 20170314018	Sheboygan	\$15.17	\$15.50	\$15.00	872.3	8000 SF	3 Bids	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$15.37	\$17.00	\$15.25	593.3	4000 SF	15 Bids	
	12/13/2016	016 - 20161213016	Brown, Outagamie	\$17.00	\$17.00	\$17.00	1,351.6	3000 SF	3 Bids	
	l	021 - 20161213021	Winnebago	\$15.00	\$15.00	\$15.00	928.6	3000 SF	3 Bids	

Item 🔺	Description	Average	Hi	igh	Low	Unit	Bid	Count
	026 - 20161213026 Sheb	gan \$16.01	\$17.00	\$15.50	578.3	8000 SF	7 Bids	
	028 - 20161213028 Outa	nie \$15.50	\$15.50	\$15.50	507.1	9000 SF	6 Bids	
				Total Quantity:	21,473.24	000 SF		

Copyright @ 2019, Info Tech, Inc. All rights reserved.

Wred = \$16.10

Bid Express Secure Internet Bidding

Þ

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	642.5401 Ø Smart Item Search	Date 7 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	1	2
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Ť

ſ

Export (csv) | Export (tab)

ltem 🔺	Desci	ription		Avera	ge	High		Low	Unit	Bid (Count
642.5401	Field	Office Type D		\$13,790.	07	\$80,000.00	\$4	,500.00	EACH	57	Bids
	Letting Date	Proposal	County		Proposa Average	· · · · · · · · · · · · · · · · · · ·	Proposal Low	Qua	ntity	Proposal Bid Count	
	05/14/2019	023 - 20190514023	Fond Du La	c	\$7,100.00	\$7,100.00	\$7,100.00	1.0000	00 EACH	1 Bid	
	03/14/2019	024 - 20190514024	Calumet		\$7,900.00	\$7,900.00	\$7,900.00	1.0000	00 EACH	1 Bid	
	03/12/2019	035 - 20190312035	Brown		\$8,000.00	\$10,000.00	\$6,500.00	1.0000	00 EACH	3 Bids	
	03/13/2018	029 - 20180313029	Calumet, W	innebago	\$22,500.00	\$35,000.00	\$10,000.00	1.0000	00 EACH	2 Bids	
	12/12/2017	001 - 20171212001	Outagamie		\$15,276.67	\$20,830.00	\$10,000.00	1.0000	00 EACH	3 Bids	
	12/12/2017	019 - 20171212019	Winnebago		\$11,215.80	\$15,150.00	\$7,629.00	1.0000	00 EACH	5 Bids	
	11/14/2017	020 - 20171114020	Winnebago		\$13,519.75	\$25,000.00	\$9,000.00	1.0000	00 EACH	4 Bids	
	11/14/2017	041 - 20171114041	Outagamie		\$6,625.00	\$7,250.00	\$6,000.00	1.0000	00 EACH	2 Bids	
	08/08/2017	010 - 20170808010	Winnebago		\$38,789.13	\$80,000.00	\$7,500.00	1.0000	00 EACH	5 Bids	
	06/13/2017	030 - 20170613030	Winnebago		\$13,750.00	\$20,000.00	\$10,000.00	1.0000	00 EACH	4 Bids	
	04/11/2017	024 - 20170411024	Sheboygan		\$10,500.00	\$10,500.00	\$10,500.00	1.0000	00 EACH	1 Bid	
	03/14/2017	018 - 20170314018	Sheboygan		\$8,166.67	\$8,500.00	\$8,000.00	1.0000	0 EACH	3 Bids	
		016 - 20161213016	Brown, Outa	agamie	\$11,808.12	\$13,264.37	\$10,160.00	1.0000	0 EACH	3 Bids	
		017 - 20161213017	Brown		\$12,500.00	\$12,500.00	\$12,500.00	1.0000	00 EACH	1 Bid	
	12/13/2016	021 - 20161213021	Winnebago		\$18,333.33	\$25,000.00	\$10,000.00	1.0000	0 EACH	3 Bids	
		024 - 20161213024	Brown		\$8,925.13	\$15,000.00	\$4,500.00	1.0000	0 EACH	8 Bids	
		027 - 20161213027	Fond Du La Winnebago	с,	\$9,315.63	\$12,500.00	\$4,900.00	1.0000	0 EACH	8 Bids	
							Total Quantity:	17.00000	EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

wred = \$13,800





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



Export (csv) | Export (tab)

				Î					Export (csv) Export
Item 🔺	Descr	iption			Average	High	Low	Unit	Bid	Count
643.0420	Traffic	Control Barricades T	ype III		\$0.62	\$1.00	\$0.40	DAY	79	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	,	Proposal Bid Count	
		036 - 20190312036	Outagamie	\$0.40	\$0.41	\$0.40	8,990.00000	DAY	5 Bids	
	03/12/2019	038 - 20190312038	Brown	\$0.40	\$0.40	\$0.40	15,516.00000	DAY	2 Bids	
		040 - 20190312040	Sheboygan	\$0.55	\$0.60	\$0.50	10,488.00000	DAY	2 Bids	
	11/13/2018	022 - 20181113022	Fond Du Lac	\$0.56	\$0.58	\$0.55	11,220.00000	DAY	4 Bids	
	05/08/2018	015 - 20180508015	Fond Du Lac	\$0.80	\$0.80	\$0.80	9,242.00000	DAY	1 Bid	
		028 - 20180313028	Fond Du Lac	\$0.55	\$0.55	\$0.55	7,680.00000	DAY	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$0.75	\$0.75	\$0.75	10,759.00000	DAY	2 Bids	
		001 - 20171212001	Outagamie	\$0.50	\$0.50	\$0.50	9,240.00000	DAY	3 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$0.60	\$0.60	\$0.60	17,784.00000) DAY	4 Bids	
		016 - 20171212016	Outagamie	\$0.50	\$0.50	\$0.50	19,125.00000	DAY	3 Bids	
		019 - 20171212019	Winnebago	\$0.59	\$0.64	\$0.55	12,793.00000	DAY	5 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$0.70	\$0.72	\$0.66	7,747.00000	DAY	4 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$0.54	\$0.55	\$0.50	18,132.00000	DAY	5 Bids	
	06/13/2017	030 - 20170613030	Winnebago	\$0.60	\$0.60	\$0.60	15,319.00000	DAY	4 Bids	
	04/11/2017	024 - 20170411024	Sheboygan	\$0.60	\$0.60	\$0.60	8,547.00000	DAY	1 Bid	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$0.52	\$0.62	\$0.50	16,193.00000	DAY	15 Bids	
		017 - 20161213017	Brown	\$1.00	\$1.00	\$1.00	11,319.00000	DAY	1 Bid	
		025 - 20161213025	Brown	\$0.75	\$0.75	\$0.75	17,988.00000	DAY	1 Bid	
	12/13/2016	026 - 20161213026	Sheboygan	\$0.79	\$1.00	\$0.75	8,694.00000	DAY	7 Bids	
		027 - 20161213027	Fond Du Lac, Winnebago	\$0.90	\$1.00	\$0.70	9,352.00000	DAY	8 Bids	
						Total Quantity:	246,128.00000	DAY		

Wsed = 50.60





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	643.0500	Date I From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	5	15
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descri	otion		Av	erage	High	Low	Uni	t Bid	Count
643.0500	Traffic Control Flexible Tubular Marker Posts				\$26.33	\$40.00	\$20.00	EAC	H 6	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Sector and the sector of the s	Quant	ity	Proposal Bid Count	
	05/14/2019	036 - 20190514036	Portage	\$20.00	\$20.00	\$20.00	11.00000	EACH	2 Bids	
	12/11/2018	032 - 20181211032	Sawyer	\$30.00	\$40.00	\$20.00	15.00000	EACH	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$29.00	\$29.00	\$29.00	5.00000	EACH	2 Bids	
						Total Quantity:	31.00000 1	EACH		

٦

Copyright © 2019, Info Tech, Inc. All rights reserved.

Used = 126





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	643.0600	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	5 15
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

									Export (cs	v) Export (
Item 🔺	Descri	ption			Average	High	Low	Unit	t Bid	Count
643.0600	Traffic	Control Flexible Tubu	lar Marker Bases		\$6.34	\$16.00	\$0.01	EACI	H 6	Bids
	Letting Date	Proposal	County	Proposa Averag	l Proposal e High	a second and a second second	Quanti	ity	Proposal Bid Count	
	05/14/2019	036 - 20190514036	Portage	\$7.0	\$7.00	\$7.00	11.000001	EACH	2 Bids	
	12/11/2018	032 - 20181211032	Sawyer	\$12.0	\$16.00	\$8.00	15.000001	EACH	2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$0.0	\$0.01	\$0.01	5.00000 1	EACH	2 Bids	
					14	Total Quantity:	31.00000 E	CACH		





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	643.0705 ☑ Smart Item Search	Date	Range: To: 10/17/2019
Description:	Any	Quanti	ty Range: To:
Proposal Items:	Any	13344	40032
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	Any	To: Any
Low Bidders:	Any]	
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descri	ption			Average	High	Low	Unit Bic	l Count
643.0705	Traffic	Control Warning Ligh	ts Type A		\$0.14	\$0.25	\$0.10	DAY 6	9 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	03/12/2019	038 - 20190312038	Brown	\$0.10	\$0.10	\$0.10	28,206.00000 D	AY 2 Bids	
	03/12/2019	040 - 20190312040	Sheboygan	\$0.15	\$0.20	\$0.10	14,829.00000 D	AY 2 Bids	
	11/13/2018	022 - 20181113022	Fond Du Lac	\$0.10	\$0.10	\$0.10	26,087.00000 D	AY 4 Bids	
	05/08/2018	015 - 20180508015	Fond Du Lac	\$0.15	\$0.15	\$0.15	17,398.00000 D	AY 1 Bid	
	05/08/2018	019 - 20180508019	Fond Du Lac	\$0.15	\$0.15	\$0.15	16,690.00000 D	AY 3 Bids	
		028 - 20180313028	Fond Du Lac	\$0.15	\$0.15	\$0.15	15,360.00000 D	AY 2 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$0.20	\$0.20	\$0.20	23,562.00000 D	AY 2 Bids	
		001 - 20171212001	Outagamie	\$0.10	\$0.10	\$0.10	18,480.00000 D	AY 3 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$0.10	\$0.10	\$0.10	25,660.00000 D	AY 4 Bids	
		016 - 20171212016	Outagamie	\$0.15	\$0.15	\$0.15	36,810.00000 D	AY 3 Bids	
		019 - 20171212019	Winnebago	\$0.16	\$0.21	\$0.10	14,420.00000 D	AY 5 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$0.13	\$0.20	\$0.10	14,995.00000 D	AY 4 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$0.16	\$0.20	\$0.15	22,191.00000 D	AY 5 Bids	
	06/13/2017	030 - 20170613030	Winnebago	\$0.10	\$0.10	\$0.10	29,558.00000 D	AY 4 Bids	
	04/11/2017	024 - 20170411024	Sheboygan	\$0.25	\$0.25	\$0.25	17,094.00000 D	AY 1 Bid	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$0.10	\$0.10	\$0.10	27,280.00000 D	AY 15 Bids	
		017 - 20161213017	Brown	\$0.25	\$0.25	\$0.25	22,726.00000 D	AY 1 Bid	
	12/13/2016	025 - 20161213025	Brown	\$0.15	\$0.15	\$0.15	23,398.00000 D	AY 1 Bid	
		026 - 20161213026	Sheboygan	\$0.19	\$0.25	\$0.15	14,975.00000 D	AY 7 Bids	
						Total Quantity:	409,719.00000 DA	AY	





Wisconsin Department of Transportation Bid Tab Analysis Search

	643.0900 ⊠Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	22070	66209
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Bid Tab Analysis Search

z					,	- N.S.	d		Export (csv) Export
Item 🔺	Desc	ription		Av	erage	High	Low	Unit	Bid	Count
643.0900	00 Traffic Control Signs				\$0.55	\$1.00	\$0.40	DAY	21	Bids
	Letting Date	Proposal	County	Proposal Average	Proposa Higl		Quan	tity	Proposal Bid Count	e C
	03/12/2019	038 - 20190312038	Brown	\$0.40	\$0.4	\$0.40	26,053.00	0000 DAY	2 Bids	
	03/12/2019	041 - 20190312041	Sheboygan	\$0.50	\$0.5	\$0.50	22,968.00	0000 DAY	4 Bids	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$0.45	\$0.4	\$0.45	43,102.00	0000 DAY	2 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$0.55	\$0.5	\$0.55	42,370.00	0000 DAY	3 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$0.50	\$0.50	\$0.50	24,924.00	0000 DAY	5 Bids	
	06/13/2017	030 - 20170613030	Winnebago	\$0.70	\$0.70	\$0.70	34,382.00	0000 DAY	4 Bids	
	12/13/2016	017 - 20161213017	Brown	\$1.00	\$1.00	\$1.00	24,187.00	0000 DAY	1 Bid	
						Total Quantity:	217,986.00	000 DAY		

Bid Express

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab) Item 🔺 Description Average High Low Unit **Bid Count** \$13,187.10 5 Bids 643.5000 Traffic Control 001. 6190-15-71 \$23,500.00 \$1,030.00 EACH \$15,284.35 643,5000 Traffic Control \$750,000.00 \$476.00 EACH 180 Bids Proposal Proposal Letting Proposal Proposal Proposal County Quantity Bid Date Average High Low Count 022 - 20190514022 Calumet \$1,500.00 \$1,500.00 \$1,500.00 1.00000 EACH 1 Bid 023 - 20190514023 Fond Du Lac \$5,500.00 \$5,500.00 \$5,500.00 1.00000 EACH 1 Bid 024 - 20190514024 Calumet \$4 200 00 \$4,200.00 1 Bid \$4 200 00 1 00000 EACH 05/14/2019 026 - 20190514026 Calumet \$1,500.00 \$1,500.00 \$1,500.00 1.00000 EACH 1 Bid 027 - 20190514027 Winnebago \$3,011.13 \$4,772.25 \$1,250.00 1.00000 EACH 2 Bids 028 - 20190514028 Winnebago \$4,025.00 \$6,800.00 2 Bids \$1,250.00 1.00000 EACH 029 - 20190514029 Winnebago \$1,000.00 \$1,000.00 \$1,000.00 1.00000 EACH 3 Bids 016 - 20190409016 Fond Du Lac \$16,000.00 \$16,000.00 \$16,000.00 1.00000 EACH 2 Bids 04/09/2019 017 - 20190409017 Sheboygan \$36.875.00 \$44,200.00 2 Bids \$29,550.00 1.00000 EACH 020 - 20190409020 Brown \$2,075.00 \$5,000.00 \$1,100.00 1.00000 EACH 4 Bids 027 - 20190312027 Sheboygan \$2,500.00 \$2,500.00 \$2,500.00 1.00000 EACH 2 Bids 029 - 20190312029 Brown \$3,283,33 \$3,950.00 \$2,950.00 1.00000 EACH 3 Bids 030 - 20190312030 Brown \$6,138.75 \$12,555.00 \$4,000.00 1.00000 EACH 4 Bids 031 - 20190312031 Sheboygan \$1,950.00 \$1,950.00 \$1,950.00 1.00000 EACH 3 Bids 032 - 20190312032 Sheboygan \$1,333.33 \$2,000.00 \$1,000.00 1.00000 EACH 3 Bids 034 - 20190312034 Calumet \$1,100,00 \$1,100.00 \$1,100.00 1.00000 EACH 1 Bid 03/12/2019 035 - 20190312035 Brown \$5,033.33 \$5,100.00 \$5,000.00 1.00000 EACH 3 Bids 036 - 20190312036 Outagamie \$4,466.00 \$4,550.00 \$4,445.00 1.00000 EACH 5 Bids 037 - 20190312037 Winnebago \$4,075.00 \$8,800.00 \$2,500.00 1.00000 EACH 4 Bids 038 - 20190312038 Brown \$3,435.00 \$3,435.00 \$3,435.00 1.00000 EACH 2 Bids 040 - 20190312040 Sheboygan \$15,932,50 1.00000 EACH \$20,000,00 \$11,865.00 2 Bids 041 - 20190312041 Sheboygan \$2,430.00 \$2,430.00 \$2,430.00 1.00000 EACH 4 Bids 005 - 20190212005 Winnebago \$18,043.75 \$18,500.00 1.00000 EACH \$17,587.50 2 Bids 006 - 20190212006 Winnebago \$9,000.00 1.00000 EACH \$9,500.00 \$8,500.00 2 Bids 007 - 20190212007 Sheboygan \$1,500.00 \$2,700.00 \$1,100.00 1.00000 EACH 4 Bids 02/12/2019 009 - 20190212009 Brown \$2,000.00 \$5,000.00 \$1,250.00 1.00000 EACH 5 Bids 010 - 20190212010 Fond Du Lac \$1,946.67 \$3,080.00 \$1,380.00 1.00000 EACH 3 Bids 011 - 20190212011 Brown \$2,033.33 \$2,300.00 \$1,500.00 1.00000 EACH 3 Bids 018 - 20190115018 Winnebago \$3,800.00 \$4,700.00 \$2,000.00 1.00000 EACH 3 Bids 019 - 20190115019 Sheboygan \$2,033.33 \$2,100.00 \$2,000.00 1.00000 EACH 3 Bids 01/15/2019 020 - 20190115020 Outagamie \$3.000.00 \$3,000.00 \$3,000.00 1.00000 EACH 5 Bids 022 - 20190115022 Brown \$11,233.33 \$11,950.00 \$9,800.00 1.00000 EACH 3 Bids

10/24/2019

Item 🔺	Descript	ion	Average		High		Low	Unit		Bid Count
	12/11/2018	017 - 20181211017	Winnebago	\$1,000.00	\$1,000.00	\$1,000.00	1.00000	EACH	2 Bids	
	12/11/2018	018 - 20181211018	Sheboygan	\$26,519.50	\$50,000.00	\$6,000.00	1.00000	EACH	5 Bids	
		021 - 20181113021	Calumet	\$1,800.00	\$1,800.00	\$1,800.00	1.00000	EACH	1 Bid	
	11/13/2018	022 - 20181113022	Fond Du Lac	\$2,568.75	\$3,300.00	\$2,325.00	1.00000	EACH	4 Bids	
		023 - 20181113023	Calumet	\$4,740.17	\$15,836.00	\$2,500.00	1.00000) EACH	6 Bids	
		012 - 20180612012	Sheboygan	\$16,500.00	\$16,500.00	\$16,500.00	1.00000	EACH	1 Bid	
	06/12/2018	013 - 20180612013	Calumet	\$5,500.00	\$5,500.00	\$5,500.00	1.00000	EACH	1 Bid	
	00/12/2018	014 - 20180612014	Calumet	\$3,500.00	\$3,500.00	\$3,500.00	1.00000	EACH	1 Bid	
		015 - 20180612015	Winnebago	\$7,000.00	\$7,000.00	\$7,000.00	1.00000	EACH	1 Bid	
		014 - 20180508014	Brown Calumet Chippewa Douglas	\$1,575.00	\$1,850.00	\$1,300.00	1.00000	EACH	2 Bids	
		015 - 20180508015	Fond Du Lac	\$12,910.00	\$12,910.00	\$12,910.00	1.00000	EACH	1 Bid	
	05/08/2018	016 - 20180508016	Sheboygan	\$2,500.00	\$2,500.00	\$2,500.00	1.00000	EACH	1 Bid	
	05/08/2018	018 - 20180508018	Calumet	\$2,500.00	\$2,500.00	\$2,500.00	1.00000	EACH	1 Bid	
		019 - 20180508019	Fond Du Lac	\$14,000.00	\$14,000.00	\$14,000.00	1.00000	EACH	3 Bids	
		021 - 20180508021	Brown	\$2,456.25	\$6,825.00	\$1,000.00	1.00000	EACH	4 Bids	
	04/10/2018	012 - 20180410012	Fond Du Lac	\$3,340.00	\$3,600.00	\$2,600.00	1.00000	EACH	5 Bids	
		027 - 20180313027	Brown	\$196,219.39	\$750,000.00	\$10,000.00	1.00000	EACH	9 Bids	
	03/13/2018	028 - 20180313028	Fond Du Lac	\$15,000.00	\$15,000.00	\$15,000.00	1.00000	EACH	2 Bids	
		034 - 20180313034	Outagamie Waupaca	\$12,583.33	\$13,000.00	\$12,500.00	1.00000	EACH	6 Bids	
		014 - 20180213014	Sheboygan	\$1,200.00	\$1,500.00	\$1,000.00	1.00000	EACH	5 Bids	
	02/13/2018	015 - 20180213015	Sheboygan	\$1,639.69	\$3,558.75	\$1,000.00	1.00000	EACH	4 Bids	
	02/13/2018	016 - 20180213016	Sheboygan	\$1,225.00	\$1,300.00	\$1,200.00	1.00000	EACH	4 Bids	3
		019 - 20180213019	Brown	\$950.00	\$950.00	\$950.00	1.00000	EACH	4 Bids	
	01/09/2018	016 - 20180109016	Brown	\$500.00	\$500.00	\$500.00	1.00000	EACH	4 Bids	
		001 - 20171212001	Outagamie	\$23,661.67	\$23,665.00	\$23,655.00	1.00000	EACH	3 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$1,000.00	\$1,000.00	\$1,000.00	1.00000	EACH	4 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$12,000.00	\$12,000.00	\$12,000.00	1.00000	EACH	3 Bids	
		018 - 20171212018	Fond Du Lac	\$735.20	\$800.00	\$476.00	1.00000	EACH	5 Bids	
						Total Quantity:	60.00000	EACH		
543,5000	Traffic Cor	ntrol 01. 6446-00-71	\$700.00		\$1,500.00	0	\$500.00	EACH		5 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsel = \$16,000

Page 1 of 2



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search





Item 🔺	Desc	ription		Averag	e	High	Low	Unit	Bid C	Count
645.0120	Geote	extile Type HR		\$2.9	5	\$5.17	\$0.01	SY	75 E	Bids
	Letting Date	Proposal	County	I Proposal Average	Proposal High		Qu	antity	Proposal Bid Count	
	00/12/2010	003 - 20190813003	Dane	\$1.72	\$2.35	\$1.09	1,799	0.00000 SY	2 Bids	
	08/13/2019	009 - 20190813009	Iron	\$2.95	\$3.50	\$2.40	1,754	.00000 SY	2 Bids	
	07/00/2010	001 - 20190709001	Rock	\$3.15	\$3.33	\$2.96	1,920	0.00000 SY	2 Bids	
	07/09/2019	002 - 20190709002	Dane	\$2.69	\$3.25	\$2.13	1,707	.00000 SY	2 Bids	
	05/14/2019	021 - 20190514021	Oconto	\$2.29	\$2.59	\$2.00	1,942	2.00000 SY	2 Bids	
	03/12/2019	021 - 20190312021	Racine	\$3.46	\$4.00	\$2.92	1,495	5.00000 SY	2 Bids	
	03/12/2019	050 - 20190312050	Marathon	\$2.40	\$3.00	\$1.80	2,990	0.00000 SY	2 Bids	
	02/12/2019	028 - 20190212028	Taylor	\$4.58	\$5.17	\$4.00	1,130	0.00000 SY	2 Bids	
	01/15/2010	010 - 20190115010	Iowa	\$3.81	\$4.13	\$3.50	1,295	5.00000 SY	2 Bids	
	01/15/2019	029 - 20190115029	Trempealeau	\$2.34	\$2.34	\$2.34	1,425	5.00000 SY	2 Bids	
	10/11/2010	030 - 20181211030	Buffalo	\$2.13	\$2.13	\$2.13	1,303	.00000 SY	2 Bids	
	12/11/2018	034 - 20181211034	St Croix	\$1.50	\$3.00	\$0.01	1,605	5.00000 SY	2 Bids	
	11/13/2018	020 - 20181113020	Manitowoc	\$1.79	\$2.50	\$1.07	1,749	0.00000 SY	2 Bids	
	09/11/2018	008 - 20180911008	Walworth	\$4.07	\$5.00	\$3.13	1,179	0.00000 SY	2 Bids	
	0.010/0010	001 - 20180612001	Rock	\$3.85	\$3.90	\$3.80	1,925	5.00000 SY	2 Bids	
	06/12/2018	006 - 20180612006	Racine	\$3.17	\$4.00	\$2.34	1,583	3.00000 SY	2 Bids	
	05/22/2018	001 - 20180522001	Kenosha, Racine	\$3.02	\$3.25	\$2.80	2,179	0.00000 SY	2 Bids	
	05/22/2018	002 - 20180522002	Racine	\$2.40	\$2.79	\$2.00	2,125	5.00000 SY	2 Bids	
	03/13/2018	001 - 20180313001	Rock	\$3.33	\$3.66	\$3.00	2,600	0.00000 SY	2 Bids	
	01/09/2018	031 - 20180109031	Douglas	\$3.00	\$3.00	\$3.00	1,180	0.00000 SY	2 Bids	
		002 - 20171212002	Dane	\$3.00	\$3.00	\$3.00	3,090	0.00000 SY	2 Bids	
	12/12/2017	005 - 20171212005	Richland	\$2.80	\$2.80	\$2.80	2,183	3.00000 SY	2 Bids	
		026 - 20171212026	Jackson	\$2.92	\$3.00	\$2.85	1,060	0.00000 SY	2 Bids	
	11/14/2017	036 - 20171114036	Racine	\$1.92	\$2.00	\$1.84	1,287	.00000 SY	2 Bids	
	08/08/2017	003 - 20170808003	Dodge	\$4.75	\$5.00	\$4.50	1,310	0.00000 SY	2 Bids	

https://www.bidx.com/wi/btasearch

Item 🔺	Desc	ription		Average	Н	igh	Low	Unit	Bid	Count
	(004 - 20170808004	Dane	\$2.46	\$2.53	\$2.38	1,823	.60000 SY	2 Bids	
	07/11/2017	008 - 20170711008	La Crosse	\$2.74	\$3.00	\$2.48	1,759	.00000 SY	2 Bids	
	05/09/2017	007 - 20170509007	Waukesha	\$4.50	\$4.50	\$4.50	1,124	.00000 SY	2 Bids	
	03/09/2017	009 - 20170509009	Milwaukee	\$4.50	\$5.00	\$4.00	1,550	.00000 SY	2 Bids	
	04/11/2017	018 - 20170411018	Racine	\$2.54	\$2.64	\$2.43	1,228	.00000 SY	2 Bids	
	04/11/2017	038 - 20170411038	Waukesha	\$2.46	\$3.00	\$1.92	2,450	.00000 SY	2 Bids	
	03/14/2017	002 - 20170314002	Dane	\$3.00	\$3.00	\$3.00	1,107	.00000 SY	2 Bids	
	03/14/2017	014 - 20170314014	Waukesha	\$3.00	\$3.00	\$3.00	1,153	.00000 SY	2 Bids	
	02/14/2017	018 - 20170214018	Trempealeau	\$2.00	\$2.00	\$2.00	1,780	.00000 SY	2 Bids	
	02/14/2017	020 - 20170214020	Douglas	\$3.00	\$3.00	\$3.00	1,789	.00000 SY	2 Bids	
	10/10/001/	025 - 20161213025	Brown	\$3.00	\$3.00	\$3.00	1,898	.00000 SY	1 Bid	
	12/13/2016	042 - 20161213042	Bayfield	\$3.75	\$4.00	\$3.50	1,728	00000 SY	2 Bids	
	11/08/2016	030 - 20161108030	Washington	\$2.08	\$2.22	\$1.94	1,125	.00000 SY	2 Bids	
					į	Total Quantity:	64,329.0	50000 SY		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Used = 13





Wisconsin Department of Transportation Bid Tab Analysis Search





Export (csv) | Export (tab)

Item 🔺	Descript	ion		A	verage		High	Low	Uni	it I	Bid Count
646.3020	Marking I	Line Epoxy 8-Inch			\$2.06		\$6.60	\$0.54	LF	and a second data	92 Bids
	Letting Date	Proposal	County	Propos Averag	al Prope ge H	osal ligh	Proposal Low	Quantity	7	Proposal Bid Count	
		003 - 20190514003	Juneau	\$2.5	50 \$2	2.50	\$2.50	310.00000) LF	1 Bid	
		007 - 20190514007	Vernon	\$1.3	39 \$	1.40	\$1.37	126.00000) LF	2 Bids	
	05/14/2019	018 - 20190514018	Milwaukee	\$6.2	20 \$	6.60	\$6.00	177.00000) LF	3 Bids	
		026 - 20190514026	Calumet	\$1.0)5 \$	1.05	\$1.05	285.00000) LF	1 Bid	
		028 - 20190514028	Winnebago	\$1.2	23 \$	1.25	\$1.20	170.00000) LF	2 Bids	
		006 - 20190409006	Dane	\$6.0	00 \$	6.00	\$6.00	200.00000) LF	1 Bid	
	04/00/2010	009 - 20190409009	Vernon	\$1.5	50 \$	1.50	\$1.50	106.00000) LF	1 Bid	1
	04/09/2019	012 - 20190409012	Milwaukee	\$3.9	93 \$4	4.00	\$3.80	120.00000) LF	3 Bids	
		027 - 20190409027	Marathon	\$3.4	19 \$ ⁴	4.20	\$1.75	222.00000) LF	4 Bids	
		007 - 20190312007	Crawford	\$1.2	20 \$	1.20	\$1.20	200.00000) LF	3 Bids	
	02/12/2010	012 - 20190312012	Rock	\$0.8	30 \$	0.80	\$0.80	215.00000) LF	2 Bids	
	03/12/2019	035 - 20190312035	Brown	\$3.0	01 \$	3.03	\$3.00	205.00000) LF	3 Bids	
		050 - 20190312050	Marathon	\$1.2	21 \$	1.25	\$1.20	237.00000) LF	5 Bids	
	02/12/2019	005 - 20190212005	Winnebago	\$2.3	37 \$2	2.73	\$2.00	220.00000) LF	2 Bids	
	01/15/2019	005 - 20190115005	Dodge	\$0.9	92 \$	1.50	\$0.80	248.00000) LF	6 Bids	
		012 - 20181211012	La Crosse	\$1.3	30 \$2	2.00	\$0.95	183.00000) LF	3 Bids	
	12/11/2018	027 - 20181211027	Dunn St Croix	\$2.4	40 \$3	2.40	\$2.40	132.00000) LF	3 Bids	
		017 - 20181113017	Milwaukee	\$1.0)9 \$	1.80	\$0.85	250.00000) LF	4 Bids	
	11/10/06110	020 - 20181113020	Manitowoc	\$3.5	50 \$:	3.50	\$3.50	250.00000) LF	4 Bids	
	11/13/2018	026 - 20181113026	Forest, Lincoln, Wood	\$4.8	30 \$	4.80	\$4.80	265.00000) LF	5 Bids	
	07/10/2018	017 - 20180710017	Adams	\$1.0	01 \$	1.08	\$0.95	190.00000) LF	3 Bids	
	06/12/2018	002 - 20180612002	Columbia	\$2.0	00 \$2	2.00	\$2.00	128.00000) LF	3 Bids	
	04/10/2018	009 - 20180410009	Waukesha	\$2.0	00 \$	2.00	\$2.00	168.00000) LF	4 Bids	

https://www.bidx.com/wi/btasearch

Item 🔺	Descript	ion		Avera	ige	High	Low	Unit	Bid Count
	(015 - 20180410015	Adams	\$0.75	\$0.80	\$0.54	190.00000	LF 5 Bids)
		011 - 20180313011	La Crosse	\$2.06	\$2.25	\$2.00	177.000001	LF 5 Bids	
	03/13/2018	034 - 20180313034	Outagamie Waupaca	\$0.76	\$0.80	\$0.75	264.00000	LF 6 Bids	
	02/13/2018	002 - 20180213002	Dodge	\$1.20	\$1.20	\$1.20	110.00000	LF 3 Bids	
	01/09/2018	022 - 20180109022	Wood	\$1.07	\$1.50	\$0.95	120.00000	LF 5 Bids	
						Total Quantity:	5,468.00000 1	LF	

Copyright © 2019, Info Tech, Inc. All rights reserved.

/

Wsed = 12.10





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description	1			A	verage	High	Low	Unit	Bid Count
646.3545	Marking Line	e Grooved Wet Ref C	ontrast Epoxy 8-1	nch **P**		\$4.74	\$6.25	\$3.50	LF	8 Bids
646.3545	Marking Line	e Grooved Wet Ref C	ontrast Epoxy 8-1	nch		\$4.59	\$11.00	\$3.00	LF	22 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Qua	ntity	Proposal Bid Count	
	08/13/2019	003 - 20190813003	Dane	\$4.98	\$9.87	\$4.00	5,153.	00000 LF	6 Bids	
	-06/11/2019	-005-20190611005-	Milwaukee	\$11.00	\$11.00	\$11.00	5,775 .	00000 LF		
	03/12/2019	019 - 20190312019	Milwaukee	\$4.38	\$5.00	\$3.75	7,691.	00000 LF	2 Bids	
	12/11/2018	027 - 20181211027	Dunn St Croix	\$4.80	\$4.80	\$4.80	7,950.	00000 LF	3 Bids	
	08/14/2018	001 - 20180814001	Iowa	\$3.65	\$3.65	\$3.65	8,290.	00000 LF	5 Bids	
	05/08/2018	034 - 20180508034	Douglas	\$5.20	\$5.20	\$5.20	13,218.	00000 LF	1 Bid	
	03/13/2018	014 - 20180313014	Waukesha	\$3.73	\$4.00	\$3.45	10,699.	00000 LF	2 Bids	
	02/13/2018	008 - 20180213008	Racine	\$3.00	\$3.00	\$3.00	7,528.0	00000 LF	2 Bids	
						Total Quantity:	66,304.0	0000 LF		

Average of Proposal Averages =
$$\frac{529.74}{7}$$
 = \$4.25
Nsed = \$4.20

Bid Tab Analysis Search



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

1 🔺	Description		Average	High	Low	Unit	Bid Count
.5020	Marking Arrow Epox	у	\$229.53	\$450.00	\$100.00	EACH	186 Bids
Letting Date	Proposal	County	Proposa Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
09/10/2019	004 - 20190910004	Racine	\$300.00	\$300.00	\$300.00	31.00000 EACH	4 Bids
08/13/2019	003 - 20190813003	Dane	\$265.58	\$343.46	\$250.00	40.00000 EACH	6 Bids
08/15/2019	005 - 20190813005	Washington	\$250.00	\$250.00	\$250.00	36.00000 EACH	3 Bids
07/09/2019	006 - 20190709006	Racine	\$265.00	\$265.00	\$265.00	18.00000 EACH	4 Bids
05/21/2019	051 - 20190521051	Milwaukee	\$358.88	\$370.65	\$353.00	27.00000 EACH	3 Bids
05/14/2019	015 - 20190514015	Milwaukee	\$405.00	\$405.00	\$405.00	20.00000 EACH	1 Bid
03/14/2019	046 - 20190514046	Washburn	\$300.00	\$300.00	\$300.00	15.00000 EACH	1 Bid
04/09/2019	015 - 20190409015	Kenosha	\$225.00	\$225.00	\$225.00	16.00000 EACH	2 Bids
04/09/2019	027 - 20190409027	Marathon	\$239.50	\$263.00	\$195.00	18.00000 EACH	4 Bids
	012 - 20190312012	Rock	\$190.00	\$190.00	\$190.00	22.00000 EACH	2 Bids
	021 - 20190312021	Racine	\$375.00	\$375.00	\$375.00	21.00000 EACH	3 Bids
	035 - 20190312035	Brown	\$251.00	\$253.00	\$250.00	18.00000 EACH	3 Bids
02/12/2010	040 - 20190312040	Sheboygan	\$265.00	\$265.00	\$265.00	34.00000 EACH	2 Bids
03/12/2019	050 - 20190312050	Marathon	\$227.20	\$236.00	\$225.00	32.00000 EACH	5 Bids
	052 - 20190312052	Shawano	\$285.00	\$285.00	\$285.00	31.00000 EACH	1 Bid
	055 - 20190312055	Bayfield, Sawyer	\$350.00	\$350.00	\$350.00	18.00000 EACH	1 Bid
	064 - 20190312064	Manitowoc	\$275.00	\$275.00	\$275.00	33.00000 EACH	1 Bid
02/12/2010	003 - 20190212003	Milwaukee	\$235.00	\$235.00	\$235.00	18.00000 EACH	4 Bids
02/12/2019	018 - 20190212018	Northwest Region Wid	le \$325.00	\$375.00	\$275.00	20.00000 EACH	2 Bids
	013 - 20190115013	Milwaukee	\$250.00	\$250.00	\$250.00	15.00000 EACH	2 Bids
01/15/2010		Milwaukee, Waukesha	\$385.00	\$385.00	\$385.00	17.00000 EACH	2 Bids
01/15/2019	016 - 20190115016	Racine	\$300.00	\$300.00	\$300.00	40.00000 EACH	4 Bids
	022 - 20190115022	Brown	\$245.00	\$245.00	\$245.00	15.00000 EACH	3 Bids
12/11/2018	002 - 20181211002	Grant	\$256.75	\$277.00	\$245.00	16.00000 EACH	4 Bids
	011 - 20181211011	Dane	\$155.00	\$155.00	\$155.00	38.00000 EACH	2 Bids

A	Description	Averag	ge	High	Lo	w Unit	Bid Count
(014 - 20181211014	Racine	\$300.00	\$300.00	\$300.00	43.00000 EACH	4 Bids
	015 - 20181211015	Milwaukee	\$229.00	\$285.00	\$145.00	16.00000 EACH	5 Bids
	031 - 20181211031	Jackson	\$185.00	\$185.00	\$185.00	28.00000 EACH	1 Bid
	036 - 20181211036	Kenosha	\$242.50	\$250.00	\$240.00	21.00000 EACH	4 Bids
11/13/2018	017 - 20181113017	Milwaukee	\$188.25	\$195.00	\$168.00	21.00000 EACH	4 Bids
11/15/2018	018 - 20181113018	Racine	\$308.33	\$325.00	\$275.00	20.00000 EACH	3 Bids
07/24/2018	001 - 20180724001	Milwaukee, Racine	\$260.63	\$285.00	\$236.25	26.00000 EACH	2 Bids
06/12/2018	005 - 20180612005	Racine	\$240.00	\$240.00	\$240.00	22.00000 EACH	1 Bid
	011 - 20180508011	Ozaukee	\$450.00	\$450.00	\$450.00	33.00000 EACH	1 Bid
05/08/2018	012 - 20180508012	Washington	\$220.00	\$220.00	\$220.00	20.00000 EACH	3 Bids
<u>22</u>	013 - 20180508013	Washington	\$210.35	\$211.76	\$210.00	42.00000 EACH	5 Bids
	007 - 20180410007	Racine Walworth Washington	\$214.94	\$265.00	\$198.25	31.00000 EACH	4 Bids
04/10/2018	018 - 20180410018	Barron	\$251.00	\$273.00	\$240.00	40.00000 EACH	3 Bids
	023 - 20180410023	Menominee	\$242.81	\$255.00	\$225.00	30.00000 EACH	4 Bids
	002 - 20180313002	Columbia	\$230.00	\$240.00	\$225.00	26.00000 EACH	3 Bids
-	014 - 20180313014	Waukesha	\$192.63	\$200.00	\$185.26	44.00000 EACH	2 Bids
-	016 - 20180313016	Milwaukee	\$155.00	\$155.00	\$155.00	16.00000 EACH	3 Bids
02/12/2010	023 - 20180313023	Waukesha	\$185.00	\$185.00	\$185.00	15.00000 EACH	2 Bids
03/13/2018	025 - 20180313025	Kenosha, Racine	\$186.50	\$210.00	\$163.00	38.00000 EACH	2 Bids
ditions	026 - 20180313026	Ozaukee	\$100.00	\$100.00	\$100.00	31.00000 EACH	2 Bids
secure post	040 - 20180313040	St Croix	\$175.00	\$175.00	\$175.00	23.00000 EACH	1 Bid
	044 - 20180313044	Barron	\$215.00	\$215.00	\$215.00	15.00000 EACH	5 Bids
00/10/0010	003 - 20180213003	Dane	\$242.27	\$250.00	\$225.00	28.00000 EACH	11 Bids
02/13/2018	010 - 20180213010	Racine	\$146.68	\$146.68	\$146.68	22.00000 EACH	2 Bids
man 1	009 - 20180109009	La Crosse	\$150.25	\$150.75	\$150.00	45.00000 EACH	3 Bids
01/09/2018	014 - 20180109014	Racine	\$185.38	\$210.00	\$175.00	41.00000 EACH	13 Bids
1.511	022 - 20180109022	Wood	\$147.00	\$160.00	\$140.00	21.00000 EACH	5 Bids
	013 - 20171212013	Waukesha	\$188.14	\$225.00	\$182.00	21.00000 EACH	7 Bids
12/12/2017	017 - 20171212017	Door	\$153.10	\$161.25	\$135.00	36.00000 EACH	6 Bids
	020 - 20171212020	Marinette	\$121.02	\$145.53	\$115.00	31.00000 EACH	6 Bids
					Total Quantity:	1,455.00000 EACH	





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



Export (csv) | Export (tab)

		6						Export (csv) Export
ltem 🔺	Des	scription		Average	High	Low	Unit	Bid Count
646.5120	Mar	king Word Epoxy		\$272.58	\$450.00	\$41.00	EACH	174 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
	09/10/2019	004 - 20190910004	Racine	\$300.00	\$300.00	\$300.00	17.00000 EACH	4 Bids
	08/13/2019	003 - 20190813003	Dane	\$267.26	\$353.57	\$250.00	18.00000 EACH	6 Bids
	08/15/2019	005 - 20190813005	Washington	\$250.00	\$250.00	\$250.00	7.00000 EACH	3 Bids
	07/09/2019	006 - 20190709006	Racine	\$310.00	\$310.00	\$310.00	8.00000 EACH	4 Bids
	05/21/2019	051 - 20190521051	Milwaukee	\$389.38	\$402.15	\$383.00	7.00000 EACH	3 Bids
		015 - 20190514015	Milwaukee	\$41.00	\$41.00	\$41.00	18.00000 EACH	1 Bid
	05/14/2019	022 - 20190514022	Calumet	\$375.00	\$375.00	\$375.00	7.00000 EACH	1 Bid
		044 - 20190514044	Northwest Region Wide	\$300.00	\$300.00	\$300.00	16.00000 EACH	1 Bid
	04/09/2019	016 - 20190409016	Fond Du Lac	\$325.00	\$325.00	\$325.00	6.00000 EACH	2 Bids
		006 - 20190312006	Rock	\$180.00	\$180.00	\$180.00	10.00000 EACH	1 Bid
		016 - 20190312016	Milwaukee	\$282.50	\$290.00	\$275.00	10.00000 EACH	2 Bids
		017 - 20190312017	Milwaukee	\$281.50	\$288.00	\$275.00	10.00000 EACH	2 Bids
		019 - 20190312019	Milwaukee	\$250.00	\$250.00	\$250.00	17.00000 EACH	2 Bids
		021 - 20190312021	Racine	\$375.00	\$375.00	\$375.00	13.00000 EACH	3 Bids
	03/12/2019	036 - 20190312036	Outagamie	\$267.00	\$275.00	\$250.00	7.00000 EACH	5 Bids
		038 - 20190312038	Brown	\$275.00	\$275.00	\$275.00	7.00000 EACH	2 Bids
		045 - 20190312045	Oneida	\$288.00	\$288.00	\$288.00	9.00000 EACH	2 Bids
		050 - 20190312050	Marathon	\$293.00	\$305.00	\$290.00	8.00000 EACH	5 Bids
		052 - 20190312052	Shawano	\$325.00	\$325.00	\$325.00	6.00000 EACH	1 Bid
		064 - 20190312064	Manitowoc	\$320.00	\$320.00	\$320.00	12.00000 EACH	1 Bid
		003 - 20190212003	Milwaukee	\$270.00	\$270.00	\$270.00	13.00000 EACH	4 Bids
	02/12/2019	018 - 20190212018	Northwest Region Wide	\$330.00	\$375.00	\$285.00	6.00000 EACH	2 Bids
	01/15/2019	013 - 20190115013	Milwaukee	\$275.00	\$275.00	\$275.00	9.00000 EACH	2 Bids
	12/11/2018	011 - 20181211011	Dane	\$210.00	\$210.00	\$210.00	12.00000 EACH	2 Bids

https://www.bidx.com/wi/btasearch

Item 🔺	Des	cription	Av	rerage	High	ı I	low Unit	Bid Co	unt
	[014 - 20181211014	Racine	\$325.00	\$325.00	\$325.00	10.00000 EACH	4 Bids	
		031 - 20181211031	Jackson	\$195.00	\$195.00	\$195.00	9.00000 EACH	1 Bid	
		032 - 20181211032	Sawyer	\$290.00	\$295.00	\$285.00	9.00000 EACH	2 Bids	
		036 - 20181211036	Kenosha	\$267.50	\$320.00	\$250.00	7.00000 EACH	4 Bids	
		001 - 20181113001	Dane	\$250.00	\$250.00	\$250.00	17.00000 EACH	3 Bids	
	11/13/2018	018 - 20181113018	Racine	\$325.00	\$325.00	\$325.00	7.00000 EACH	3 Bids	
		023 - 20181113023	Calumet	\$297.67	\$400.00	\$275.00	7.00000 EACH	6 Bids	
	00/11/2018	005 - 20180911005	Racine	\$250.00	\$250.00	\$250.00	12.00000 EACH	2 Bids	
	09/11/2018	007 - 20180911007	Walworth	\$270.33	\$271.00	\$270.00	8.00000 EACH	3 Bids	
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$310.63	\$385.00	\$236.25	14.00000 EACH	2 Bids	
		005 - 20180612005	Racine	\$280.00	\$280.00	\$280.00	11.00000 EACH	1 Bid	
	06/12/2018	006 - 20180612006	Racine	\$268.00	\$275.00	\$254.00	10.00000 EACH	3 Bids	
		010 - 20180612010	Milwaukee	\$250.00	\$250.00	\$250.00	13,00000 EACH	1 Bid	
		011 - 20180508011	Ozaukee	\$450.00	\$450.00	\$450.00	12.00000 EACH	1 Bid	
	05/09/2019	012 - 20180508012	Washington	\$260.00	\$260.00	\$260.00	9.00000 EACH	3 Bids	
	05/08/2018	026 - 20180508026	Wood	\$280.00	\$280.00	\$280.00	10.00000 EACH	2 Bids	
		030 - 20180508030	Portage	\$70.67	\$72.00	\$70.00	14.00000 EACH	3 Bids	
		006 - 20180410006	Milwaukee, Waukesha	\$285.00	\$285.00	\$285.00	6.00000 EACH	2 Bids	
		007 - 20180410007	Racine Walworth Washington	\$259.75	\$295.00	\$248.00	12.00000 EACH	4 Bids	
	04/10/2018	013 - 20180410013	Lincoln	\$225.00	\$325.00	\$200.00	7.00000 EACH	5 Bids	
		018 - 20180410018	Barron	\$303.25	\$309.75	\$300.00	11.00000 EACH	3 Bids	
		023 - 20180410023	Menominee	\$265.63	\$275.00	\$250.00	8.00000 EACH	4 Bids	
		002 - 20180313002	Columbia	\$250.00	\$260.00	\$245.00	8.00000 EACH	3 Bids	
		015 - 20180313015	Milwaukee	\$249.00	\$255.00	\$230.00	6.00000 EACH	5 Bids	
	03/13/2018	020 - 20180313020	Milwaukee	\$275.00	\$275.00	\$275.00	12.00000 EACH	6 Bids	
		023 - 20180313023	Waukesha	\$232.00	\$232.00	\$232.00	6.00000 EACH	2 Bids	
		025 - 20180313025	Kenosha, Racine	\$209.00	\$245.00	\$173.00	14.00000 EACH	2 Bids	
		002 - 20180213002	Dodge	\$243.33	\$250.00	\$240.00	6.00000 EACH	3 Bids	
	02/13/2018	003 - 20180213003	Dane	\$267.73	\$275.00	\$265.00	13.00000 EACH	11 Bids	
	02/13/2010	009 - 20180213009	Racine	\$265.00	\$265.00	\$265.00	7.00000 EACH	3 Bids	
		010 - 20180213010	Racine	\$197.52	\$197.52	\$197.52	9.00000 EACH	2 Bids	
	01/09/2018	003 - 20180109003	Crawford	\$240.00	\$240.00	\$240.00	9.00000 EACH	3 Bids	
	01/09/2018	009 - 20180109009	La Crosse	\$275.46	\$276.38	\$275.00	6.00000 EACH	3 Bids	
	12/12/2017	007 - 20171212007	Monroe	\$298.79	\$311.00	\$295.00	11.00000 EACH	5 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$275.00	\$275.00	\$275.00	17.00000 EACH	3 Bids	
						Total Quantity:	600.00000 EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

usel = 1270





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Letting Date Proposal County Proposal Average Proposal High Proposal Low Quantity 09/10/2019 002 - 20190910002 Milwaukee \$13.61 \$15.00 \$13.15 901.00000 LF 08/13/2019 003 - 20190813003 Dane \$7.36 \$14.13 \$6.00 905.00000 LF 08/13/2019 003 - 20190514015 Milwaukee \$11.20 \$11.20 1,372.00000 LF 022 - 20190514022 Calumet \$15.25 \$15.25 \$15.25 1,220.00000 LF 05/14/2019 032 - 20190514032 Shawano North Central Region Wide \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$8.00 \$10.000 \$80.0000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$8.00 \$10.000 \$8.00 \$10.000 LF 04/09/2019 015 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$32.00000 LF 03/12/2019 019 - 20190312004 Sau	99 Bids Proposal Bid Count 4 Bids 6 Bids 1 Bid
Letting Date Proposal County Proposal Average Proposal High Proposal Low Quantity 09/10/2019 002 - 20190910002 Milwaukee \$13.61 \$15.00 \$13.15 901.00000 LF 08/13/2019 003 - 20190813003 Dane \$7.36 \$14.13 \$6.00 905.00000 LF 08/13/2019 003 - 20190514015 Milwaukee \$11.20 \$11.20 1,372.00000 LF 022 - 20190514022 Calumet \$15.25 \$15.25 \$15.25 1,220.00000 LF 05/14/2019 032 - 20190514032 Shawano North Central Region Wide \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$8.00 \$10.000 \$80.0000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$8.00 \$10.000 \$8.00 \$10.000 LF 04/09/2019 015 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$32.00000 LF 03/12/2019 019 - 20190312004 Sau	Bid Count 4 Bids 6 Bids
08/13/2019 003 - 20190813003 Dane \$7.36 \$14.13 \$6.00 905.00000 LF 015 - 20190514015 Milwaukee \$11.20 \$11.20 \$11.20 1,372.00000 LF 022 - 20190514022 Calumet \$15.25 \$15.25 \$15.25 1,220.00000 LF 05/14/2019 032 - 20190514022 Calumet \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$80.00 \$89.00000 LF 04/09/2019 015 - 2019040901 Southwest Region Wide \$9.00 \$10.00 \$80.00 \$80.00000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$7.40 \$8.00 \$10.0000 LF 016 - 20190409015 Kenosha \$11.00 \$11.00 \$11.00 \$107.00000 LF 016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$13.00 \$32.00000 LF 03/12/2019 019 - 20190312004 Sauk \$13.00 \$13.00 \$8.00 950.00000 LF 03/12/2019 019 - 20190312	6 Bids
015 - 20190514015 Milwaukee \$11.20 \$11.20 \$11.20 1,372.00000 LF 022 - 20190514022 Calumet \$15.25 \$15.25 \$15.25 1,220.00000 LF 032 - 20190514032 Shawano North Central Region Wide \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$10.00 \$889.00000 LF 04/09/2019 015 - 20190409015 Senosha \$7.40 \$7.40 \$8.00 \$10.000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$7.40 \$20.00000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$7.40 \$20.00000 LF 016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 1,017.00000 LF 0312/2019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 031/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 \$50.00000 LF 031/12/2019 Milwaukee \$9.00 \$10.00 \$8.00	
05/14/2019 022 - 20190514022 Calumet \$15.25 \$15.25 \$15.25 1,220,0000 LF 032 - 20190514032 Shawano North Central Region Wide \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$10.00 \$80.00 \$89.00000 LF 04/09/2019 01 - 20190409001 Southwest Region Wide \$9.00 \$10.00 \$80.00 \$80.00000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$8.00 \$10.0000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$8.00 \$10.000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$8.00 \$10.000 LF 016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 \$11.00 \$10.00 \$32.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 \$950.00000 LF 03/12/2019 Shawano \$12.00 \$12.00 \$12.00 \$00.00000 LF	1 Bid
05/14/2019 032 - 20190514032 Shawano North Central Region Wide \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$10.00 \$10.00 \$89.00000 LF 001 - 20190409001 Southwest Region Wide \$9.00 \$10.00 \$8.00 \$10.00000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$8.00 \$10.00000 LF 04/09/2019 015 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 1,017.00000 LF 016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 \$10.00 \$32.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 \$50.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 \$50.00000 LF 050- 20190312050 Pierce \$7.00 <td></td>	
032 - 20190514032 Snawano Notifi Central Region Wide \$14.88 \$16.00 \$14.00 705.00000 LF 034 - 20190514034 Vilas \$10.00 \$10.00 \$10.00 \$10.00 \$89.00000 LF 001 - 20190409001 Southwest Region Wide \$9.00 \$10.00 \$8.00 \$10.00000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$7.40 \$20.00000 LF 04/09/2019 015 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 1,017.00000 LF 04/09/2019 015 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 \$10.00 \$32.00000 LF 04/09/2019 Milwaukee \$9.00 \$10.00 \$13.00 \$32.00000 LF 016 - 20190312004 Sauk \$13.00 \$13.00 \$32.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 \$950.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 \$950.00000 LF 01/15/2019 005 - 20190312052 Shawano	1 Bid
001 - 20190409001 Southwest Region Wide \$9.00 \$10.00 \$8.00 810.00000 LF 04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$7.40 \$20.00000 LF 016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 1,017.00000 LF 004 - 20190312004 Sauk \$13.00 \$13.00 \$13.00 \$32.00000 LF 017 - 20190312019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 03/12/2019 O19 - 20190312019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 03/12/2019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 052 - 20190312052 Shawano \$12.00 \$12.00 \$00.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$80.00000 LF 011/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 \$05.00000 LF 016 - 20190115016 Racine \$10.00 \$10.00 \$65.0 \$6.50 \$6.50 \$6.	5 Bids
04/09/2019 015 - 20190409015 Kenosha \$7.40 \$7.40 \$7.40 \$20.0000 LF 016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 1,017.00000 LF 004/09/2019 016 - 20190312004 Sauk \$13.00 \$13.00 \$13.00 532.00000 LF 03/12/2019 019 - 20190312019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 03/12/2019 019 - 20190312052 Shawano \$12.00 \$12.00 \$10.00 \$80.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$80.00000 LF \$00.00000 LF 01/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 \$05.00000 LF 01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$65.00000 LF 01/15/2018 031 - 20181211031 Jackson \$6.50 \$6.50 \$6.50 \$20.00000 LF	2 Bids
016 - 20190409016 Fond Du Lac \$11.00 \$11.00 \$11.00 1,017.00000 LF 004 - 20190312004 Sauk \$13.00 \$13.00 \$13.00 \$32,00000 LF 019 - 20190312019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 052 - 20190312052 Shawano \$12.00 \$12.00 \$12.00 \$00.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$80.00000 LF 011/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 \$05.00000 LF 016 - 20190115016 Racine \$10.00 \$10.00 \$65.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 \$12.00	2 Bids
004 - 20190312004 Sauk \$13.00 \$13.00 \$13.00 532.00000 LF 03/12/2019 019 - 20190312019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 052 - 20190312052 Shawano \$12.00 \$12.00 \$12.00 \$00.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$80.00000 LF 011/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 \$05.00000 LF 01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$65.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 \$6.50 1,250.00000 LF	2 Bids
03/12/2019 019 - 20190312019 Milwaukee \$9.00 \$10.00 \$8.00 950.00000 LF 052 - 20190312052 Shawano \$12.00 \$12.00 \$12.00 \$00.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$7.00 \$80.00000 LF 01/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 \$505.00000 LF 01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$655.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 \$6.50 1,250.00000 LF	2 Bids
03/12/2019 052 - 20190312052 Shawano \$12.00 \$12.00 \$12.00 500.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$7.00 \$880.00000 LF 01/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 \$505.00000 LF 01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$655.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 \$6.50 1,250.00000 LF	1 Bid
052 - 20190312052 Shawano \$12.00 \$12.00 \$12.00 500.00000 LF 060 - 20190312060 Pierce \$7.00 \$7.00 \$7.00 880.00000 LF 01/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 505.00000 LF 01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$10.00 685.00000 LF 12/11/2018 031 - 20181211031 Jackson \$6.50 \$6.50 1,250.00000 LF	2 Bids
01/15/2019 005 - 20190115005 Dodge \$7.21 \$7.25 \$7.00 505.00000 LF 01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$10.00 685.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 \$6.50 1,250.00000 LF	1 Bid
01/15/2019 016 - 20190115016 Racine \$10.00 \$10.00 \$10.00 685.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 1,250.00000 LF 12/11/2018	1 Bid
016 - 20190115016 Racine \$10.00 \$10.00 \$10.00 685.00000 LF 031 - 20181211031 Jackson \$6.50 \$6.50 \$6.50 1,250.00000 LF 12/11/2018 \$6.50 \$6.50 \$6.50 \$1,250.00000 LF	6 Bids
12/11/2018	4 Bids
	1 Bid
036 - 20181211036 Kenosha \$9.75 \$12.00 \$9.00 661.00000 LF	4 Bids
005 - 20180911005 Racine \$8.75 \$8.75 \$.75 1,262.0000 LF	2 Bids
	3 Bids
008 - 20180710008 Milwaukee \$10.00 \$10.00 \$10.00 G03.00000 LF	2 Bids
	2 Bids
06/12/2018 009 - 20180612009 Columbia \$7.45 \$7.45 \$7.45 491.00000 LF	2 Bids
05/08/2018 009 - 20180508009 Southeast Region Wide \$9.50 \$9.50 \$9.50 500.00000 LF	- Diab

\$7.00

\$7.00

\$7.00

664.00000 LF

1 Bid

https://www.bidx.com/wi/btasearch

015 - 20180508015 Fond Du Lac

Item 🔺	Des	scription		Average		High	Low Uni	t Bid Cou	nt
	(036 - 20180508036	Eau Claire	\$7.35	\$7.35	\$7.35	955.00000	LF 1 Bid	
		002 - 20180410002	Southwest Region Wide	\$6.00	\$6.50	\$5.50	753.00000	LF 2 Bids	
		004 - 20180410004	Jefferson	\$6.20	\$6.25	\$6.00	665.00000	LF 5 Bids	
	04/10/2018	007 - 20180410007	Racine Walworth Washington	\$5.94	\$10.25	\$4.50	645.00000	LF 4 Bids	
		013 - 20180410013	Lincoln	\$5.60	\$8.00	\$5.00	753.00000	LF 5 Bids	
	02/12/2010	002 - 20180313002	Columbia	\$7.67	\$8.00	\$7.50	650.00000	LF 3 Bids	
	03/13/2018	025 - 20180313025	Kenosha, Racine	\$6.15	\$8.30	\$4.00	941.00000	LF 2 Bids	
		008 - 20180213008	Racine	\$7.50	\$7.50	\$7.50	560.00000	LF 2 Bids	
	02/13/2018	010 - 20180213010	Racine	\$5.59	\$5.59	\$5.59	589.00000	LF 2 Bids	
		020 - 20180213020	Vilas	\$7.55	\$9.20	\$7.00	887.00000	LF 4 Bids	
	01/09/2018	003 - 20180109003	Crawford	\$7.75	\$7.75	\$7.75	721.00000	LF 3 Bids	
		007 - 20171212007	Monroe	\$8.61	\$8.97	\$8.50	666.00000	LF 5 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$8.25	\$8.25	\$8.25	504.00000	LF 3 Bids	
						Total Quantity:	29,253.00000	LF	





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



.

			}		- used							
Item 🔺	D	escription		Average	Hi	gh 🛛	Low Unit	Bid Coun				
646.8120	М	arking Curb Epoxy	Č	\$7.00	\$10.	.50 \$	3.00 LF	37 Bids				
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count				
	04/09/2019	002 - 20190409002	Southwest Region Wide	\$4.75	\$5.50	\$4.00	555.00000 LF	2 Bids				
		001 - 20190312001	Rock	\$5.00	\$5.00	\$5.00	435.00000 LF	2 Bids				
	03/12/2019	006 - 20190312006	Rock	\$5.65	\$5.65	\$5.65	585.00000 LF	1 Bid				
		036 - 20190312036	Outagamie	\$5.62	\$7.25	\$4.00	390.00000 LF	2 Bids				
	02/12/2019	029 - 20190212029	Kewaunee	\$8.00	\$8.00	\$8.00	810.00000 LF	1 Bid				
	01/15/2019	005 - 20190115005	Dodge	\$9.00	\$10.50	\$7.50	427.00000 LF	2 Bids				
		001 - 20181211001	Rock	\$5.00	\$5.00	\$5.00	607.00000 LF	1 Bid				
		002 - 20181211002	Grant	\$9.05	\$9.50	\$8.60	1,003.00000 LF	2 Bids				
	12/11/2018	015 - 20181211015	Milwaukee	\$10.00	\$10.00	\$10.00	1,143.00000 LF	2 Bids				
		031 - 20181211031	Jackson	\$6.00	\$6.00	\$6.00	390.00000 LF	1 Bid				
		036 - 20181211036	Kenosha	\$6.00	\$6.00	\$6.00	689.00000 LF	2 Bids				
	11/13/2018	006 - 20181113006	Jefferson	\$9.75	\$9.75	\$9.75	1,133.00000 LF	2 Bids				
	11/15/2018	018 - 20181113018	Racine	\$8.00	\$8.00	\$8.00	442.00000 LF	2 Bids				
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$7.65	\$9.00	\$6.30	1,052.00000 LF	2 Bids				
	07/10/2018	010 - 20180710010	Waukesha	\$9.75	\$9.75	\$9.75	460.00000 LF	2 Bids				
	05/08/2018	028 - 20180508028	Marathon	\$5.50	\$5.50	\$5.50	570.00000 LF	1 Bid				
	03/00/2010	031 - 20180508031	Northwest Region Wide	\$8.50	\$8.50	\$8.50	780.00000 LF	1 Bid				
	04/10/2018	013 - 20180410013	Lincoln	\$3.00	\$3.00	\$3.00	706.00000 LF	2 Bids				
	04/10/2010	018 - 20180410018	Barron	\$7.00	\$7.00	\$7.00	918.00000 LF	2 Bids				
	03/13/2018	010 - 20180313010	La Crosse	\$8.00	\$10.50	\$5.50	551.00000 LF	2 Bids				
	55/15/2010	042 - 20180313042	Chippewa	\$5.15	\$5.30	\$5.00	515.00000 LF	2 Bids				
	02/13/2018	025 - 20180213025	Barron Chippewa	\$5.00	\$5.00	\$5.00	400.00000 LF	1 Bid				
						Total Quantity:	14,561.00000 LF					





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Des	scription		Average	Hig	gh	Low Unit	Bid Count
646.8220	Ma	king Island Nose Epo	ху	\$181.73	\$350.0	00 \$	90.68 EACH	56 Bids
	Letting Date	Proposal	County	Proposa Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count
	08/13/2019	003 - 20190813003	Dane	\$146.34	\$303.03	\$115.00	16.00000 EACH	6 Bids
	07/09/2019	005 - 20190709005	Racine	\$350.00	\$350.00	\$350.00	20.00000 EACH	4 Bids
	05/14/2019	022 - 20190514022	Calumet	\$275.00	\$275.00	\$275.00	12.00000 EACH	1 Bid
	03/14/2019	044 - 20190514044	Northwest Region Wi	de \$225.00	\$225.00	\$225.00	27.00000 EACH	1 Bid
	04/09/2019	016 - 20190409016	Fond Du Lac	\$215.00	\$215.00	\$215.00	15.00000 EACH	2 Bids
		006 - 20190312006	Rock	\$125.00	\$125.00	\$125.00	21.00000 EACH	1 Bid
		019 - 20190312019	Milwaukee	\$162.50	\$175.00	\$150.00	22.00000 EACH	2 Bids
	03/12/2019	038 - 20190312038	Brown	\$175.00	\$175.00	\$175.00	19.00000 EACH	2 Bids
		040 - 20190312040	Sheboygan	\$175.00	\$175.00	\$175.00	20.00000 EACH	2 Bids
		064 - 20190312064	Manitowoc	\$175.00	\$175.00	\$175.00	29.00000 EACH	1 Bid
	01/15/2019	016 - 20190115016	Racine	\$200.00	\$200.00	\$200.00	14.00000 EACH	4 Bids
	12/11/2018	011 - 20181211011	Dane	\$125.00	\$125.00	\$125.00	20.00000 EACH	2 Bids
	12/11/2018	015 - 20181211015	Milwaukee	\$219.00	\$275.00	\$135.00	26.00000 EACH	5 Bids
	11/13/2018	005 - 20181113005	Dane	\$250.00	\$250.00	\$250.00	12.00000 EACH	2 Bids
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$205.00	\$210.00	\$200.00	17.00000 EACH	2 Bids
	06/12/2018	005 - 20180612005	Racine	\$135.00	\$135.00	\$135.00	12.00000 EACH	1 Bid
	05/08/2018	031 - 20180508031	Northwest Region Wie	le \$175.00	\$175.00	\$175.00	24.00000 EACH	1 Bid
	04/10/2018	018 - 20180410018	Barron	\$161.67	\$185.00	\$150.00	27.00000 EACH	3 Bids
	02/13/2018	010 - 20180213010	Racine	\$90.68	\$90.68	\$90.68	11.00000 EACH	2 Bids
	02/15/2018	020 - 20180213020	Vilas	\$138.25	\$163.00	\$130.00	13.00000 EACH	4 Bids
	01/09/2018	003 - 20180109003	Crawford	\$125.00	\$125.00	\$125.00	14.00000 EACH	3 Bids
	12/12/2017	007 - 20171212007	Monroe	\$136.87	\$143.00	\$135.00	12.00000 EACH	5 Bids
						Total Quantity:	403.00000 EACH	5

Nsed = \$180

https://www.bidx.com/wi/btasearch

10/25/2019





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



				ŕ		K W.	reA	Ex	sport (csv) Expor	
Item 🔺	Descrip	otion			Average	High	Low	Unit	t Bid Count	
646.9010	Marking	Removal Line Water	Blasting 4-Inch		\$6.10	\$10.00	\$1.00	LF	15 Bids	
	Letting Date	Proposal	County	l. Proposal Average	Proposal High	Proposal Low	Quantity	Prop Bi Co		
	02/12/2010	010 - 20190312010	Rock	\$5.00	\$5.00	\$5.00	495.00000	LF 1E	Bid	
	03/12/2019	064 - 20190312064	Manitowoc	\$4.00	\$4.00	\$4.00	620.00000	LF 1 E	Bid	
	01/15/2019	013 - 20190115013	Milwaukee	\$5.50	\$5.50	\$5.50	265.00000	LF 2B	ids	
	12/11/2018	029 - 20181211029	Eau Claire St Croix	\$6.75	\$10.00	\$3.50	405.00000	LF 2B	ids	
	09/11/2018	007 - 20180911007	Walworth	\$5.00	\$5.00	\$5.00	311.00000	LF 3B	ids	
	05/08/2018	002 - 20180508002	Dane	\$5.50	\$10.00	\$1.00	408.00000	LF 2 B	ids	
	04/10/2018	009 - 20180410009	Waukesha	\$8.00	\$8.00	\$8.00	260.00000	LF 4 B	ids	
						Total Quantity:	2,764.00000 1	LF		

Bid Tab Analysis Search



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	646.9110 Ø Smart Item Search	Date 5	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	83	249
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

					1			Exp	ort (csv) Export (ta
Item 🔺	Description				Avera	ge H	ligh Low	Unit	Bid Count
646.9110	Marking Rem	oval Line Water Blast	ing 8-Inch		\$5.	29 \$1	0.00 \$2.00	LF	9 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	03/12/2019	010 - 20190312010	Rock	\$3.00	\$3.00	\$3.00	98.00000 LF	1 Bid	
	12/11/2018	023 - 20181211023	Wood	\$6.52	\$10.00	\$2.00	155.00000 LF	5 Bids	
	09/11/2018	007 - 20180911007	Walworth	\$4.00	\$4.00	\$4.00	166.00000 LF	3 Bids	
						Total Quantity:	419.00000 LF		

Bid Tab Analysis Search



646.9210

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Marking Removal Line Water Blasting Wide

Bid Tab Analysis Search

46.9210	Marking	Removal Line Water Blasting Wide 01. 18-Inch	\$10.00	\$10.00	\$10.00	LF	3 Bids
em 🔺	Descript	ion	Average	High	Low	Unit	Bid Count
			1	4 VI	sel	Expo	ort (csv) Export (ta
					earch	J [`	
Low I	Bidders:	Any			earch	1 [7	Clear
	Unit:	Any		Any		To: Any	
	County:	Any]	Price	Range:	
Proposa	al Items:	Any		12		36	
Desc	cription:	Any			Quanti	ity Range To:	
		☑ Smart Item Search		10/17/20	016	10/17	/2019
	Item:	646.9210		From:	Date	Range: To:	

Copyright © 2019, Info Tech, Inc. All rights reserved.

\$10.00

\$10.00

\$10.00

LF

1 Bid





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Desc	ription		Averag	e	High	Low	Unit	Bid Co	unt
646.9310	Mark	ing Removal Special	Marking Water Blasting	\$227.9	5 \$7	36.00	\$100.00 EACH		16 Bid	ls
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Onar	ntity	Proposal Bid Count	
	07/09/2019	017 - 20190709017	North Central Region Wide	\$250.00	\$250.00	\$250.00	6.0000	0 EACH	2 Bids	
	05/21/2019	051 - 20190521051	Milwaukee	\$643.00	\$736.00	\$550.00	3.0000	0 EACH	-2 Bids	
	03/12/2019	001 - 20190312001	Rock	\$100.00	\$100.00	\$100.00	3.0000	0 EACH	2 Bids	
	12/11/2018	023 - 20181211023	Wood	\$115.00	\$130.00	\$100.00	5.0000	0 EACH	2 Bids	
	07/24/2018	001 - 20180724001	Milwaukee, Racine	\$140.62	\$150.00	\$131.25	8.0000	0 EACH	2 Bids	
	05/22/2018	001 - 20180522001	Kenosha, Racine	\$200.00	\$200.00	\$200.00	5.0000	0 EACH	2 Bids	
	04/10/2018	008 - 20180410008	Milwaukee	\$250.00	\$250.00	\$250.00	8.0000	0 EACH	2 Bids	
	02/13/2018	034 - 20180213034	Kenosha, Racine	\$125.00	\$125.00	\$125.00	4.0000	0 EACH	2 Bids	
						Total Quantity:	42.00000	EACH		

Removed outlier Project Copyright @ 2019, Info Tech, Inc. All rights reserved.

https://www.bidx.com/wi/btasearch





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

tem 🔺	em Description			A	verage		High	Low	Unit	Bid Coun
649.0150	Те	mporary Marking Lin	e Removable Tape 4-Inch		\$0.99		\$2.00	\$0.72	LF	51 Bids
	Letting Date	Proposal	County	Propos Averaș	al Prop je l	oosal High	Proposal Low	Qu	antity	Proposal Bid Count
	07/09/2019	015 - 20190709015	Wood	\$1.0	0 5	\$1.00	\$1.00	1,49	5.00000 LF	2 Bids
	05/14/2010	034 - 20190514034	Vilas	\$0.8	0 5	\$0.80	\$0.80	1,98	0.00000 LF	2 Bids
	05/14/2019	050 - 20190514050	Bayfield	\$0.8	0 5	\$0.80	\$0.80	74	5.00000 LF	1 Bid
	02/12/2010	006 - 20190312006	Rock	\$1.2	0 5	\$1.20	\$1.20	1,30	0.00000 LF	1 Bid
	03/12/2019	012 - 20190312012	Rock	\$1.0	0 5	\$1.00	\$1.00	90	0.00000 LF	2 Bids
	02/12/2010	003 - 20190212003	Milwaukee	\$0.8	2 5	\$0.82	\$0.82	77	0.00000 LF	2 Bids
	02/12/2019	020 - 20190212020	Pierce	\$0.8	5 5	\$0.85	\$0.85	95	6.00000 LF	2 Bids
		014 - 20190115014	Milwaukee, Waukesha	\$0.1	2 5	\$0.72	\$0.72	1,08	0.00000 LF	2 Bids
	01/15/2019	019 - 20190115019	Sheboygan	\$1.0	0 5	\$1.00	\$1.00	1,52	5.00000 LF	2 Bids
		021 - 20190115021	Oconto	\$1.0	5 \$	\$1.05	\$1.05	1,28	0.00000 LF	1 Bid
		023 - 20190115023	Oneida	\$0.8	0 5	\$0.80	\$0.80	1,60	0.00000 LF	2 Bids
	10/11/2010	002 - 20181211002	Grant	\$1.1	0 5	\$1.20	\$1.00	1,05	7.00000 LF	2 Bids
	12/11/2018	029 - 20181211029	Eau Claire St Croix	\$1.2	5 \$	\$1.25	\$1.25	1,59	0.00000 LF	2 Bids
	11/13/2018	006 - 20181113006	Jefferson	\$1.0	0 5	\$1.00	\$1.00	96	0.00000 LF	2 Bids
	09/11/2018	008 - 20180911008	Walworth	\$0.9	5 5	\$0.96	\$0.95	1,17	5.00000 LF	2 Bids
	07/10/2018	013 - 20180710013	Waupaca	\$0.8	0 5	60.80	\$0.80	1,50	0.00000 LF	2 Bids
	06/12/2018	001 - 20180612001	Rock	\$1.0	2 \$	\$1.05	\$1.00	1,50	9.00000 LF	2 Bids
		013 - 20180508013	Washington	\$1.0	0 \$	\$1.00	\$1.00	80	0.00000 LF	2 Bids
	05/08/2018	014 - 20180508014	Brown Calumet Chippewa Douglas	\$1.7	5 \$	\$2.00	\$1.50	1,05	0.00000 LF	2 Bids
		025 - 20180508025	Marquette, Waushara	\$1.0	2 \$	61.05	\$1.00	98	0.00000 LF	2 Bids
		034 - 20180508034	Douglas	\$0.8	0 5	60.80	\$0.80	1,32	0.00000 LF	1 Bid
	04/10/2018	007 - 20180410007	Racine Walworth Washington	\$1.0	0 \$	\$1.00	\$1.00	92	5.00000 LF	2 Bids
	03/13/2018	019 - 20180313019	Milwaukee	\$1.0	0 \$	\$1.00	\$1.00	1,67	4.00000 LF	2 Bids
	02/13/2018	026 - 20180213026	Douglas, Washburn	\$1.2	5 \$	\$1.25	\$1.25	2,00	0.00000 LF	1 Bid

tem 🔺	D	escription		Avera	ge	High	Low	Unit	Bid Count
(01/09/2018	004 - 20180109004	Dodge	\$0.90	\$0.90	\$0.90	1,120	0.00000 LF	2 Bids
		001 - 20171212001	Outagamie	\$1.00	\$1.00	\$1.00	880	0.00000 LF	2 Bids
	12/12/2017	024 - 20171212024	Dunn	\$1.00	\$1.00	\$1.00	1,700	.00000 LF	2 Bids
		029 - 20171212029	Chippewa	\$0.95	\$1.10	\$0.80	1,400	.00000 LF	2 Bids
						Total Quantity:	35,271.	00000 LF	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = 11




Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descrip	otion		Α	verage	High	Low	Unit	Bid	Count
650.4500	Construe	ction Staking Subgrad	e		\$0.32	\$9.00	\$0.00	LF	47	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity		Proposal Bid Count	
	08/13/2019	003 - 20190813003	Dane	\$0.01	\$0.01	\$0.01	21,680.0000	00 LF	2 Bids	
	11/12/2010	005 - 20181113005	Dane	\$0.06	\$0.10	\$0.01	19,242.0000	00 LF	2 Bids	
	11/13/2018	030 - 20181113030	St Croix	\$0.01	\$0.01	\$0.01	38,159.0000	00 LF	2 Bids	
	09/11/2018	005 - 20180911005	Racine	\$0.01	\$0.01	\$0.01	16,373.0000	0 LF	2 Bids	
	-05/08/2018-	030 - 20180508030	Portage	\$7.14	\$9.00	\$5.29		0 LF	2 Bids-	
	02/13/2018	003 - 20180213003	Dane	\$0.01	\$0.01	\$0.01	16,172.0000	0 LF	2 Bids	
	02/15/2018	021 - 20180213021	Waupaca	\$0.01	\$0.01	\$0.01	22,750.0000	0 LF	2 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$0.01	\$0.01	\$0.01	21,015.0000	0 LF	2 Bids	
	12/12/2017	008 - 20171212008	Crawford	\$0.01	\$0.01	\$0.00	32,246.0000	0 LF	2 Bids	
	11/14/2017	038 - 20171114038	Walworth	\$0.01	\$0.01	\$0.01	19,170.0000	0 LF	2 Bids	
	09/12/2017	005 - 20170912005	Milwaukee	\$0.01	\$0.01	\$0.01	16,094.0000	0 LF	2 Bids	
	07/11/2017	004 - 20170711004	Dane	\$0.01	\$0.01	\$0.01	33,837.0000	0 LF	2 Bids	
	06/13/2017	021 - 20170613021	Iowa	\$0.01	\$0.01	\$0.01	44,545.0000	0 LF	2 Bids	
		018 - 20170411018	Racine	\$0.01	\$0.01	\$0.01	21,211.0000	0 LF	2 Bids	
	04/11/2017	037 - 20170411037	Douglas	\$0.01	\$0.01	\$0.01	15,910.0000	0 LF	2 Bids	
		038 - 20170411038	Waukesha	\$0.01	\$0.01	\$0.01	32,778.0000	0 LF	2 Bids	
	03/14/2017	014 - 20170314014	Waukesha	\$0.01	\$0.01	\$0.01	25,919.0000	0 LF	2 Bids	
	03/14/2017	017 - 20170314017	Racine	\$0.01	\$0.01	\$0.01	16,406.0000	0 LF	2 Bids	
	01/10/2017	014 - 20170110014	Dunn	\$0.01	\$0.01	\$0.01	17,991.0000	0 LF	2 Bids	
		002 - 20161213002	La Crosse	\$0.01	\$0.01	\$0.01	35,737.0000	0 LF	2 Bids	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$0.01	\$0.01	\$0.01	27,693.0000	0 LF	2 Bids	
		044 - 20161213044	Douglas	\$0.20	\$0.40	\$0.01	-24,538.0000	0 LF	-2 Bids	
	11/08/2016	003 - 20161108003	Dane	\$0.01	\$0.01	\$0.01	18,360.0000	0 LF	1 Bid	
	l	030 - 20161108030	Washington	\$0.01	\$0.01	\$0.01	23,090.0000	0 LF	2 Bids	

Item 🔺	Description	Average	High	Low	Unit	Bid Count
			Total Quantity:	579,823.000	00 LF	
		(Quantity:	.,		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wred = \$0.01





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Anal	ysis Search
--------------	-------------

	650,5000 ⊠ Smart Item Search	Date Range From: To: 10/17/2016 10/17	:: 17/2019
Description:	Any	Quantity Ran	ge:
Proposal Items:	Any	2067 619	7
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range	:
Unit:	Any	Any To:	,
Low Bidders:	Any]	
		Search	Clear

1

7

Export (csv) | Export (tab)

Item ▲	Desc	ription		Avera	ge	High	Low	Unit	Bid (Count
650.5000	Const	truction Staking Base		\$0.	39	\$0.82	\$0.10	LF	33	Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High		Qu	ntity	Proposal Bid Count	
	04/00/2010	016 - 20190409016	Fond Du Lac	\$0.10	\$0.10	\$0.10	5,836	.00000 LF	2 Bids	
	04/09/2019	017 - 20190409017	Sheboygan	\$0.50	\$0.50	\$0.50	5,305	.00000 LF	2 Bids	
	03/12/2019	030 - 20190312030	Brown	\$0.18	\$0.40	\$0.10	2,961	.00000 LF	4 Bids	
	01/15/2019	019 - 20190115019	Sheboygan	\$0.63	\$0.65	\$0.58	3,470	.00000 LF	3 Bids	
	11/13/2018	022 - 20181113022	Fond Du Lac	\$0.43	\$0.82	\$0.30	5,138	.00000 LF	4 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$0.45	\$0.45	\$0.45	4,229	.00000 LF	4 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$0.45	\$0.46	\$0.45	4,517	.00000 LF	4 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$0.50	\$0.50	\$0.50	2,290	.00000 LF	5 Bids	
	05/09/2017	024 - 20170509024	Brown	\$0.10	\$0.10	\$0.10	2,780	.00000 LF	2 Bids	
	12/13/2016	016 - 20161213016	Brown, Outagamie	\$0.35	\$0.35	\$0.35	3,042	.00000 LF	3 Bids	
						Total Quantity:	39,568.0	00000 LF		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$0.40



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	650.5500 ☑ Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quanti From:	ty Range: To:
Proposal Items:	Any	2881	8643
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		Lease in the second
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descri	ption			Average	High	Low	Unit Bic	l Count
650.5500	Constru	ction Staking Curb Gu	utter and Curb & Gutter	r	\$0.69	\$1.25	\$0.45	LF 2	3 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	02/12/2019	011 - 20190212011	Brown	\$0.47	\$0.47	\$0.47	3,081.000001	LF 3 Bids	
	03/13/2018	034 - 20180313034	Outagamie Waupaca	\$0.58	\$0.60	\$0.57	4,398.000001	LF 6 Bids	
	11/14/2017	019 - 20171114019	Brown	\$0.45	\$0.45	\$0.45	3,987.000001	LF 3 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$0.51	\$0.52	\$0.50	6,236.000001	LF 4 Bids	
	08/08/2017	010 - 20170808010	Winnebago	\$1.25	\$1.25	\$1.25	3,845.000001	LF 5 Bids	~
	05/09/2017	024 - 20170509024	Brown	\$0.75	\$0.75	\$0.75	8,279.000001	LF 2 Bids	
						Total Quantity:	29,826.00000 1	F	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = 10.70





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descripti	on			Average	High	ı Low	Unit	Bid Count
650.7000	Construction	on Staking Concrete P	avement		\$1.28	\$4.50	\$0.01	LF	26 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	11/13/2018	030 - 20181113030	St Croix	\$0.75	\$0.75	\$0.75	20,631.00000 LF	3 Bids	
	07/10/2018	010 - 20180710010	Waukesha	\$1.39	\$1.55	\$1.22	34,230.00000 LF	2 Bids	
	05/08/2018	030 - 20180508030	Portage	\$0.53	\$0.55	\$0.52	17,530.00000 LF	3 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$1.00	\$1.00	\$1.00	21,785.00000 LH	3 Bids	
	11/14/2017	022 - 20171114022	Dunn	\$0.50	\$0.50	\$0.50	45,885.00000 LF	5 Bids	
	· 07/11/2017	-004 - 20170711004	Dane	\$3.31	\$4.50	\$0.92			
	-12/13/2016-	-002-20161213002-	La Crosse	\$1.60	\$2.09	\$0.01	21,946.00000 LI	7_Bids	
						Total Quantity:	181,690.00000 LF	r	

Copyright © 2019, Info Tech, Inc. All rights reserved.





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
650.8500	Construction Staking Electrical Installations (project) 01. 4190-16-71	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
650.8500	Construction Staking Electrical Installations (project) 01. 9266-11-01	\$852.61	\$1,000.00	\$705.22	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4650-08-71	\$2,566.36	\$2,566.36	\$2,566.36	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 001. 6190-15-72	\$1,200.00	\$1,200.00	\$1,200.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4992-00-57	\$300.00	\$300.00	\$300.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4996-25-71	\$900.00	\$900.00	\$900.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 001. 1150-54-71	\$1,700.00	\$1,700.00	\$1,700.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 6430-07-71	\$1,000.00	\$1,000.00	\$1,000.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4996-01-79	\$2,985.00	\$3,000.00	\$2,970.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 6240-26-71	\$2,500.00	\$2,500.00	\$2,500.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4630-05-71	\$800.00	\$800.00	\$800.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 6110-05-70	\$500.00	\$500.00	\$500.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4682-01-73	\$983.00	\$1,000.00	\$966.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 03. 4630-30-60	\$448.00	\$448.00	\$448.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 1500-44-71	\$800.00	\$800.00	\$800.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4085-42-71	\$539.00	\$728.00	\$350.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4984-01-74	\$3,500.00	\$3,500.00	\$3,500.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 001. 6190-15-71	\$3,100.00	\$3,100.00	\$3,100.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 1430-18-73	\$750.00	\$750.00	\$750.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4516-07-71	\$400.00	\$400.00	\$400.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4659-15-71	\$928.65	\$928.65	\$928.65	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4986-00-22	\$250.00	\$250.00	\$250.00	LS	2 Bids
650.8500	Construction Staking Electrical Installations (project) 01. 4987-02-65	\$2,208.00	\$2,208.00	\$2,208.00	LS	2 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

Average =
$$\frac{131710.62}{23}$$
 = 51378.72
search Used = \$900

https://www.bidx.com/wi/btas

10/25/2019



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

								1770	
Item 🔺	Descript	ion			Average	High	Low	Unit	Bid Count
650.9920	Constructi	ion Staking Slope Stal	kes		\$0.51	\$0.67	\$0.31	LF	12 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	12/12/2017	001 - 20171212001 017 - 20161213017	Outagamie Brown	\$0.67 \$0.31		\$0.67 \$0.31	21,015.00000 I 29,260.00000 I		
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$0.48		\$0.48	28,313.00000 1		
						Total Quantity:	78,588.00000 L	F	

r

7

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = 10.50



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search





Export (csv) | Export (tab)

Item 🔺	Descript	tion		Average	H	ligh	Low	Unit	E	id Count
654.0102	Concrete	Bases Type 2		\$808.34	\$97	5.00	\$680.00	EACH		49 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity		Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$975.00	\$975.00	\$975.00	4.00000 E	ACH	2 Bids	
	01/15/2019	022 - 20190115022	Brown	\$835.00	\$875.00	\$815.00	1.00000 E.	ACH	3 Bids	
	11/13/2018	023 - 20181113023	Calumet	\$889.33	\$924.00	\$875.00	1.00000 E	ACH	6 Bids	
		001 - 20171212001	Outagamie	\$743.33	\$775.00	\$680.00	4.00000 E	ACH	3 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$775.00	\$775.00	\$775.00	2.00000 E	ACH	4 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$732.50	\$750.00	\$725.00	4.00000 EA	ACH	4 Bids	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$800.00	\$800.00	\$800.00	2.00000 EA	ACH	15 Bids	
		020 - 20161213020	Winnebago	\$775.00	\$775.00	\$775.00	2.00000 EA	ACH	4 Bids	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$807.21	\$822.53	\$700.00	4.00000 EA	ACH	8 Bids	
						Total Quantity:	24.00000 EA	СН		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nsed = \$ 810



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descr	iption		Average	High	1	Low Unit	Bid	Coun		
654.0105	Concre	ete Bases Type 5		\$669.44	\$750.00) \$	625.00 EACH	9	Bids		
	Letting Date	Proposal	L_ County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count			
	02/12/2019	006 - 20190212006	Winnebago	\$750.00	\$750.00	\$750.00	3.00000 EACH	2 Bids			
	12/12/2017	014 - 20171212014	Brown, Oconto	\$625.00	\$625.00	\$625.00	3.00000 EACH	4 Bids			
	12/13/2016	016 - 20161213016	Brown, Outagami	e \$675.00	\$675.00	\$675.00	4.00000 EACH	3 Bids			
						Total Quantity:	10.00000 EACH				

-1

r

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$670



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search





-

2

Export (csv) | Export (tab)

Item 🔺	Descrip	tion		Averag	e	High	Low	Unit Bi	d Count
654.0217	Concrete	Control Cabinet Base	s Type 9 Special	\$1,259.79 \$		\$1,430.01	\$1,200.00	EACH 4	48 Bids
	Letting Date	Proposal	County	l Proposal Average	Proposa Higi	· · · · · · · · · · · · · · · · · · ·	Quantity	Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$1,250.00	\$1,250.00	\$1,250.00	1.00000 EAC	H 2 Bids	
	01/15/2019	022 - 20190115022	Brown	\$1,316.67	\$1,375.00	\$1,200.00	1.00000 EAC	H 3 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$1,200.00	\$1,200.00	\$1,200.00	2.00000 EAC	H 2 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$1,200.00	\$1,200.00	\$1,200.00	1.00000 EAC	H 3 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$1,200.00	\$1,200.00	\$1,200.00	2.00000 EAC	H 4 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$1,215.00	\$1,250.00	\$1,200.00	1.00000 EAC	H 4 Bids	
	05/09/2017	016 - 20170509016	Winnebago	\$1,200.00	\$1,200.00	\$1,200.00	1.00000 EAC	H 3 Bids	
	01/10/2017	008 - 20170110008	Fond Du Lac	\$1,250.00	\$1,250.00	\$1,250.00	1.00000 EAC	H 15 Bids	
		020 - 20161213020	Winnebago	\$1,200.00	\$1,200.00	\$1,200.00	2.00000 EAC	H 4 Bids	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$1,401.26	\$1,430.01	\$1,200.00	1.00000 EAC	H 8 Bids	
						Total Quantity:	13.00000 EAC	н	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wrel = \$1260





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descript	ion		Average		High	Low	Unit	Bid Count
654.0224	Concrete	Control Cabinet Bases	s Type L24	\$1,351.48	\$2,5	500.00	\$1,000.00	EACH	21 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposa Bid Count	I
	03/12/2019	037 - 20190312037	Winnebago	\$1,212.50	\$1,250.00	\$1,200.00	1.00000 EAC	CH 4 Bids	
	03/13/2018	034 - 20180313034	Outagamie Waupaca	\$1,155.83	\$1,335.00	\$1,000.00	1.00000 EAC	CH 6 Bids	
	12/12/2017	001 - 20171212001	Outagamie	\$1,066.67	\$1,100.00	\$1,000.00	2.00000 EAC	CH 3 Bids	
	12/13/2016	024 - 20161213024	Brown	\$1,674.50	\$2,500.00	\$1,200.00	1.00000 EAC	CH 8 Bids	
						Total Quantity:	5.00000 EAC	н	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wred = \$1350





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descrip	tion			Average	High	Low U	Jnit I	Bid Count
655.0305	Cable Ty	pe UF 2-12 AWG Gro	ounded		\$0.95	\$1.25	\$0.80	LF	13 Bids
	Letting Date	Proposal	County	I. Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$1.25	\$1.25	\$1.25	1,290.00000 L	F 2 Bids	-
	12/12/2017	014 - 20171212014	Brown, Oconto	\$0.80	\$0.80	\$0.80	1,440.00000 L	F 4 Bids	
	05/09/2017	016 - 20170509016	Winnebago	\$1.00	\$1.00	\$1.00	1,658.00000 L	F 3 Bids	
	12/13/2016	020 - 20161213020	Winnebago	\$0.90	\$0.90	\$0.90	1,110.00000 L	F 4 Bids	
						Total Quantity:	5,498.00000 LI	দ	

-1

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$1



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid	Tab	Analysis	Search
-----	-----	----------	--------



1-

-'i

Export (csv) | Export (tab)

Item 🔺	Descript	ion			Average	High	Low	Unit	Bid Count
655.0610	Electrical	Wire Lighting 12 AW	′G		\$0.55	\$0.60	\$0.50	LF	26 Bids
	Letting Date	Proposal	County	Propos Avera	al Propos: ge Hig	and the second sec	Quantity	Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$0.	60 \$0.6	0 \$0.60	702.00000	LF 2 Bids	-
	03/12/2019	030 - 20190312030	Brown	\$0.	56 \$0.6	0 \$0.55	1,500.00000	LF 4 Bids	
	03/12/2019	035 - 20190312035	Brown	\$0.	55 \$0.5	6 \$0.55	1,200.00000	LF 3 Bids	
	02/12/2019	006 - 20190212006	Winnebago	\$0.	50 \$0.5	0 \$0.50	1,320.00000	LF 2 Bids	
	12/12/2017	016 - 20171212016	Outagamie	\$0.	55 \$0.5	5 \$0.55	963.00000	LF 3 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$0.	56 \$0.5	7 \$0.55	600,00000	LF 4 Bids	
	06/13/2017	030 - 20170613030	Winnebago	\$0.	50 \$0.5	0 \$0.50	990.00000	LF 4 Bids	
	12/13/2016	020 - 20161213020	Winnebago	\$0.	55 \$0.5	5 \$0.55	900.00000	LF 4 Bids	
						Total Quantity:	8,175.00000 1	LF	

Copyright © 2019, Info Tech, Inc. All rights reserved.





Wisconsin Department of Transportation Bid Tab Analysis Search





r

-i

Export (csv) | Export (tab)

Item 🔺	Descr	iption		Ave	erage		High	Low	Unit	Bid	Cou
655.0615	Electri	cal Wire Lighting 10	AWG		\$0.79		\$1.70	\$0.59	LF	39	Bids
	Letting Date	Proposal	County	Proposa Average		• posal High	Proposal Low	Quar	ntity	Proposal Bid Count	
	05/14/2019	019 - 20190514019	Milwaukee	\$1.03	1	\$1.03	\$1.03	940.0	0000 LF	3 Bids	
	03/12/2019	018 - 20190312018	Milwaukee	\$1.38	3	\$1.70	\$1.05	480.0	0000 LF	2 Bids	
	12/11/2018	036 - 20181211036	Kenosha	\$0.80	i :	\$1.00	\$0.81	1,000.0	0000 LF	4 Bids	
	07/10/2018	010 - 20180710010	Waukesha	\$0.73		\$0.75	\$0.71	603.0	0000 LF	2 Bids	
	08/08/2017	001 - 20170808001	Rock	\$0.70) :	\$0.70	\$0.70	972.0	0000 LF	3 Bids	
	06/13/2017	006 - 20170613006	Racine	\$0.70) :	\$0.80	\$0.69	550.0	0000 LF	8 Bids	
	05/09/2017	007 - 20170509007	Waukesha	\$0.82		\$0.82	\$0.82	970.0	0000 LF	2 Bids	
		016 - 20161213016	Brown, Outagamie	\$0.60) :	\$0.60	\$0.60	1,155.0	0000 LF	3 Bids	
	12/13/2016	039 - 20161213039	Clark, Marathon, Taylor	\$0.59		\$0.59	\$0.59	1,170.0	0000 LF	1 Bid	
	11/08/2016	026 - 20161108026	Winnebago	\$1.02	. :	\$1.03	\$1.00	786.0	0000 LF	2 Bids	
	11/06/2010	030 - 20161108030	Washington	\$0.69		\$0.80	\$0.65	500.0	0000 LF	9 Bids	
							Total Quantity:	9,126.00	000 LF		

Copyright © 2019, Info Tech, Inc. All rights reserved.





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid '	Tab	Analy	sis	Search
-------	-----	-------	-----	--------



Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. STH 29 & CTH EA	\$903.33	\$910.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. (WIS 44 & Douglas ST)	\$906.74	\$907.70	\$900.00	LS	8 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. USH 10 & CTH AP (S08-0304)	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. USH 45 & STH 96 Intersection	\$1,165.33	\$1,282.00	\$1,100.00	LS	6 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. CB1	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. USH 10 & Manitowoc	\$900.00	\$900.00	\$900.00	LS	4 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 04. MBMIN01	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 03. STH 42 and 26th St Lighting	\$988.26	\$1,500.00	\$902.97	LS	7 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 002. USH 41 SB & CTH B	\$900.00	\$900.00	\$900.00	LS	4 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 03 NB IH 41 & STH 55	\$966.67	\$1,100.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. MB4101	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. 15th Street Signal Cabinet	\$1,230.00	\$1,260.00	\$1,200.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. STH 55 & STH 96	\$966.67	\$1,100.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. STH 42 and North Ave Lighting	\$988.26	\$1,500.00	\$902.97	LS	7 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 03. USH 10 & STH 441 NB	\$1,000.00	\$1,000.00	\$1,000.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 001. USH 41 NB & CTH B	\$900.00	\$900.00	\$900.00	LS	4 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 002. CB200	\$1,400.00	\$2,000.00	\$1,250.00	LS	5 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. Tellulah	\$1,000.00	\$1,000.00	\$1,000.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. USH 10 & STH 114	\$900.00	\$900.00	\$900.00	LS	4 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 06. MBV01	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 03. MBU01	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. Oneida	\$1,000.00	\$1,000.00	\$1,000.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. 4190-16-73	\$903.75	\$915.00	\$900.00	LS	4 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. 15th Street Lighting Cabinet	\$1,230.00	\$1,260.00	\$1,200.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 05. MBS01	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. MBJ01	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. Cormier Rd & Holmgren Way	\$1,193.33	\$1,340.00	\$900.00	LS	3 Bids

.

Item 🔺	Description	Average	High	Low	Unit	Bid Count
656.0200	Electrical Service Meter Breaker Pedestal (location) 001. Sta 1335+40FNE RT	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. CB 100	\$1,500.00	\$1,500.00	\$1,500.00	LS	15 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 001. CB300	\$916.59	\$954.45	\$900.00	LS	5 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 02. SB IH 41 & STH 55	\$966.67	\$1,100.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. Station 108+44.0, 36.5' RT	\$934.75	\$1,000.00	\$900.00	LS	8 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 002. (CB-800)	\$900.00	\$900.00	\$900.00	LS	3 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. STH 42 & North Ave Signals	\$988.26	\$1,500.00	\$902.97	LS	7 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 001. CB100	\$1,400.00	\$2,000.00	\$1,250.00	LS	5 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. CTH VV & Private Driveway	\$1,500.00	\$1,500.00	\$1,500.00	LS	15 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 04. USH 10 & STH 441 SB	\$1,000.00	\$1,000.00	\$1,000.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. CB	\$1,125.00	\$1,500.00	\$1,000.00	LS	4 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. STH 23 & CTH VVV	\$1,500.00	\$1,500.00	\$1,500.00	LS	2 Bids
656.0200	Electrical Service Meter Breaker Pedestal (location) 01. (STH 21 & STH 116)	\$858.00	\$876.00	\$850.00	LS	4 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

. .

Wred = \$1030





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid	Tab	Analysi	s Search
-----	-----	---------	----------



Item 🔺	Descrip	tion	A	verage	Hig	gh	Low Un	it I	Bid Count
657.0100	Pedestal	Bases		\$170.06	\$225.0	00	\$130.00 EAC	Н	39 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$206.00	\$206.00	\$206.00	4.00000 EACH	H 2 Bids	-
	03/12/2019	038 - 20190312038	Brown	\$195.00	\$195.00	\$195.00	8.00000 EACH	I 2 Bids	
	03/12/2019	040 - 20190312040	Sheboygan	\$205.00	\$210.00	\$200.00	4.00000 EACH	H 2 Bids	
	01/15/2019	022 - 20190115022	Brown	\$221.67	\$225.00	\$220.00	9.00000 EACH	I 3 Bids	
		001 - 20171212001	Outagamie	\$150.00	\$160.00	\$145.00	6.00000 EACH	I 3 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$145.00	\$145.00	\$145.00	9.00000 EACH	I 4 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$131.25	\$134.00	\$130.00	4.00000 EACH	I 4 Bids	
		020 - 20161213020	Winnebago	\$140.00	\$140.00	\$140.00	9.00000 EACH	I 4 Bids	
	10/10/2016	026 - 20161213026	Sheboygan	\$202.42	\$202.82	\$200.00	10.00000 EACH	I 7 Bids	
	12/13/2016	027 - 20161213027	Fond Du Lac, Winnebago	\$152.93	\$154.78	\$140.00	4.00000 EACH	I 8 Bids	
						Total Quantity:	67.00000 EACH	t	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wren = \$170





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid	Tab	Anal	ysis	Search
-----	-----	------	------	--------



Export (csv) | Export (tab)

Item 🔺	Descripti	on			Average	High	Low	Unit	Bid Count
657.0255	Transform	er Bases Breakaway 1	1 1/2-Inch Bolt Circl	e	\$314.81	\$485.00	\$280.00	EACH	27 Bids
	Letting Date	Proposal	County	Proposa Average	l Proposal e High		Quantity	Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$485.00	\$485.00	\$485.00	4.00000 EACI	H 2 Bids	
	02/12/2019	006 - 20190212006	Winnebago	\$295.00	\$295.00	\$295.00	3.00000 EACI	H 2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$280.00	\$280.00	\$280.00	3.00000 EACH	H 4 Bids	
	11/14/2017	020 - 20171114020	Winnebago	\$295.50	\$300.00	\$290.00	4.00000 EACI	H 4 Bids	
		016 - 20161213016	Brown, Outagamie	\$280.00	\$280.00	\$280.00	2.00000 EACH	H 3 Bids	
	12/13/2016	020 - 20161213020	Winnebago	\$285.00	\$285.00	\$285.00	2.00000 EACH	H 4 Bids	
		027 - 20161213027	Fond Du Lac, Winnebago	\$332.22	\$339.69	\$280.00	4.00000 EACI	H 8 Bids	
						Total Quantity:	22.00000 EACH	ł	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$315





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	657.0315 🖾 Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range:
Proposal Items:	Any] [1]]
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Descript	tion	Avera	ge	High		Low U	Jnit	Bid Count
657.0315	Poles Typ	pe 4	\$1,231.	11	\$1,850.00	\$	1,000.00 EA	ACH	9 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposa Bid Count	1
	04/09/2019	016 - 20190409016	Fond Du Lac	\$1,850.00	\$1,850.00	\$1,850.00	2.00000 EAC	H 2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$1,095.00	\$1,095.00	\$1,095.00	2.00000 EAC	H 4 Bids	
	05/09/2017	016 - 20170509016	Winnebago	\$1,000.00	\$1,000.00	\$1,000.00	2.00000 EAC	H 3 Bids	
						Total Quantity:	6.00000 EAC	H	

į.

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsel = \$1230





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descri	ption		Average	Hig	h	Low	Unit	Bid	Count
657.0322	Poles T	ype 5-Aluminum		\$1,097.49	\$1,595.0	0 \$	196.00	EACH	156	5 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quan	tity	Proposal Bid Count	
	08/13/2019	002 - 20190813002	Dane	\$1,265.00	\$1,480.00	\$1,050.00	2.0000	0 EACH	2 Bids	
	07/00/2010	002 - 20190709002	Dane	\$1,221.20	\$1,403.00	\$1,100.00	1.0000	0 EACH	5 Bids	
	07/09/2019	005 - 20190709005	Racine	\$1,160.75	\$1,160.75	\$1,160.75	2.0000	0 EACH	4 Bids	
	04/09/2019	013 - 20190409013	Milwaukee	\$1,115.00	\$1,115.00	\$1,115.00	1.0000	0 EACH	1 Bid	
	03/12/2019	001 - 20190312001	Rock	\$975.00	\$975.00	\$975.00	1.0000	0 EACH	2 Bids	
		001 - 20181211001	Rock	\$1,595.00	\$1,595.00	\$1,595.00	5.0000	0 EACH	1 Bid	
	12/11/2018	014 - 20181211014	Racine	\$1,205.52	\$1,205.52	\$1,205.52	1.0000	0 EACH	4 Bids	
		032 - 20181211032	Sawyer	\$1,248.85	\$1,297.70	\$1,200.00	4.0000	0 EACH	2 Bids	
	11/10/2010	001 - 20181113001	Dane	\$1,363.67	\$1,503.00	\$1,085.00	2.0000	0 EACH	3 Bids	
	11/13/2018	018 - 20181113018	Racine	\$1,340.00	\$1,340.00	\$1,340.00	1.0000	0 EACH	3 Bids	
	07/10/2018	013 - 20180710013	Waupaca	\$994.33	\$1,005.00	\$975.00	1.0000	0 EACH	3 Bids	
	0.6/10/0010	001 - 20180612001	Rock	\$1,250.00	\$1,250.00	\$1,249.98	1.0000	0 EACH	4 Bids	
	06/12/2018	005 - 20180612005	Racine	\$1,115.00	\$1,115.00	\$1,115.00	4.0000	0 EACH	1 Bid	
	05/00/2010	012 - 20180508012	Washington	\$1,177.22	\$1,210.00	\$1,155.00	4.0000	0 EACH	3 Bids	
	05/08/2018	030 - 20180508030	Portage	\$198.00	\$202.00	\$196.00	2.0000	0 EACH	3 Bids	
	02/13/2018	007 - 20180213007	Milwaukee	\$1,111.00	\$1,111.00	\$1,111.00	2.0000	0 EACH	4 Bids	
	01/00/0012	001 - 20180109001	Dane	\$1,186.91	\$1,299.31	\$850.00	1.0000	0 EACH	4 Bids	
	01/09/2018	014 - 20180109014	Racine	\$1,261.52	\$1,360.00	\$1,253.25	2.0000	0 EACH	13 Bids	
		002 - 20171212002	Dane	\$1,017.51	\$1,287.55	\$925.00	2.0000	0 EACH	5 Bids	
	10/10/0015	010 - 20171212010	Waukesha	\$1,209.00	\$1,209.00	\$1,209.00	1.0000	0 EACH	7 Bids	
	12/12/2017	014 - 20171212014	Brown, Ocon	to \$945.00	\$945.00	\$945.00	3.0000	0 EACH	4 Bids	
		021 - 20171212021	Portage	\$1,303.50	\$1,303.50	\$1,303.50	1.0000	0 EACH	1 Bid	
	09/12/2017	011 - 20170912011	Milwaukee	\$1,041.58	\$1,067.40	\$971.64	5.0000	0 EACH	8 Bids	
	08/08/2017	001 - 20170808001	Rock	\$1,256.00	\$1,256.00	\$1,256.00	1.0000	0 EACH	3 Bids	
	07/11/2017	001 - 20170711001	Rock	\$820.00	\$820.00	\$820.00	3.0000	0 EACH	4 Bids	

Item 🔺	Descri	ption	Ave	rage	Hig	gh	Low Unit	Bid Count
	(010 - 20170711010	Racine	\$1,130.77	\$1,205.00	\$1,095.39	2.00000 EACH	7 Bids
		018 - 20170711018	Chippewa	\$1,238.75	\$1,275.00	\$1,202.50	4.00000 EACH	2 Bids
	05/09/2017	008 - 20170509008	Waukesha	\$1,091.00	\$1,091.00	\$1,091.00	3.00000 EACH	3 Bids
	04/11/2017	015 - 20170411015	Milwaukee	\$1,135.28	\$1,154.55	\$1,116.00	5.00000 EACH	6 Bids
		002 - 20170314002	Dane	\$710.00	\$710.00	\$710.00	1.00000 EACH	5 Bids
	02/14/2017	014 - 20170314014	Waukesha	\$1,040.21	\$1,040.21	\$1,040.21	3.00000 EACH	5 Bids
	03/14/2017	015 - 20170314015	Milwaukee	\$1,058.86	\$1,088.00	\$1,020.00	5.00000 EACH	7 Bids
		035 - 20170314035	Polk	\$1,328.00	\$1,328.00	\$1,328.00	2.00000 EACH	6 Bids
	01/10/2017	005 - 20170110005	Rock	\$885.00	\$885.00	\$885.00	5.00000 EACH	2 Bids
	12/13/2016	016 - 20161213016	Brown, Outagamie	\$885.00	\$885.00	\$885.00	2.00000 EACH	3 Bids
		001 - 20161108001	Dane	\$1,005.33	\$1,416.00	\$790.00	1.00000 EACH	9 Bids
		002 - 20161108002	Columbia	\$1,060.00	\$1,060.00	\$1,060.00	5.00000 EACH	2 Bids
	11/08/2016	003 - 20161108003	Dane	\$830.00	\$830.00	\$830.00	1.00000 EACH	1 Bid
		027 - 20161108027	Price	\$994.25	\$1,050.00	\$950.00	4.00000 EACH	4 Bids
						Total Quantity:	96.00000 EACH	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nred = \$1100

Bid Express

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

657.0351 Poles Type 10- over Height Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
657.0356	Poles Type 12-Over Height	\$15,450.00	\$15,450.00	\$15,450.00	EACH	2 Bids-
657.1450	Install Poles Over Height Type 10	\$783.59	\$1,200.00	\$561.17	EACH	6 Bids
-657.1455	Install Poles Over Height Type 12	\$1,591.50	\$2,188.00	\$995.00	EACH	
-657.1460	-Install Poles Over Height Type-13	\$1,497.41	\$1,659.00	\$1,400.00	EACH	
-SPV:0060	-Special 02. Poles Over Height Type-13	\$8,572.80	\$9,525.00	\$8,200.00	EACH	5-Bids
SPV.0060	Special 104. Install Poles Over Height Type 10	\$1,550.00	\$1,600.00	\$1,500.00	EACH	2 Bids
-SPV.0060	-Special 50. Black Paint Poles Over Height Type 13	\$99.40	\$106.00	\$90.00	EACH	5 Bids
-SPV:0060	-Special 07. Install Poles Over Height Type 12	\$1,402.10	\$1,500.00	\$1,364.69	EACH_	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nsel = \$ 1200



Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$1500

https://www.bidx.com/wi/btasearch





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search



Export (csv) | Export (tab)

Item 🔺	Descripti	on			Aver	age		High	Low	Un	it B	id Count
657.0420	Traffic Sig	mal Standards Alumin	um 13-FT		\$426	6.64	\$	598.46	\$289.00	EAG	CH	120 Bids
	Letting Date	Proposal	County	Prop Aver		Propos Hig		Proposal Low	Quantity	7	Proposal Bid Count	
	04/09/2019	013 - 20190409013	Milwaukee	\$33	5.00	\$335.0	00	\$335.00	7.00000 E	ACH	1 Bid	
	03/12/2019	021 - 20190312021	Racine	\$57	7.23	\$577.2	23	\$577.23	8.00000 E	ACH	3 Bids	
	02/12/2019	002 - 20190212002	Dane	\$48	3.29	\$500.0	00	\$460.00	4.00000 E	ACH	7 Bids	
	01/15/2019	013 - 20190115013	Milwaukee	\$49	7.00	\$497.0	00	\$497.00	4.00000 E	ACH	2 Bids	
		011 - 20181211011	Dane	\$38	5.00	\$385.0	00	\$385.00	4.00000 E	ACH	2 Bids	
	12/11/2018	014 - 20181211014	Racine	\$53	9.62	\$539.0	62	\$539.62	4.00000 E	ACH	4 Bids	
		015 - 20181211015	Milwaukee	\$33	9.00	\$339.0	00	\$339.00	6.00000 E	ACH	5 Bids	
		006 - 20181113006	Jefferson	\$39	8.00	\$472.0	00	\$350.00	4.00000 E	ACH	5 Bids	
	11/13/2018	018 - 20181113018	Racine	\$44	5.00	\$445.0	00	\$445.00	8.00000 E	ACH	3 Bids	
		019 - 20181113019	Manitowoc	\$35	0.00	\$350.0	00	\$350.00	4.00000 E	ACH	1 Bid	
	09/11/2018	005 - 20180911005	Racine	\$38	5.00	\$385.0	00	\$385.00	5.00000 E	ACH	2 Bids	
	07/10/2010	010 - 20180710010	Waukesha	\$37	5.44	\$450.0	00	\$300.88	5.00000 E	ACH	2 Bids	
	07/10/2018	013 - 20180710013	Waupaca	\$38	7.67	\$395.0	00	\$384.00	6.00000 E	ACH	3 Bids	
	04/10/2018	018 - 20180410018	Barron	\$55	9.49	\$598.4	46	\$540.00	4.00000 E	ACH	3 Bids	
	02/12/0010	023 - 20180313023	Waukesha	\$42	5.00	\$425.0	00	\$425.00	3.00000 E	ACH	2 Bids	
	03/13/2018	038 - 20180313038	Eau Claire	\$43	0.00	\$430.0	00	\$430.00	3.00000 E	ACH	2 Bids	
	02/13/2018	008 - 20180213008	Racine	\$41	4.12	\$414.1	14	\$414.10	3.00000 E	ACH	2 Bids	
	01/00/2010	004 - 20180109004	Dodge	\$43	7.61	\$448.0	05	\$435.00	4.00000 E	ACH	5 Bids	
	01/09/2018	014 - 20180109014	Racine	\$48	9.90	\$530.0	00	\$486.52	5.00000 E	ACH	13 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$30	5.00	\$305.0	00	\$305.00	4.00000 E	ACH	4 Bids	
	11/14/2017	005 - 20171114005	Columbia	\$41	0.00	\$410.0	00	\$410.00	3.00000 E	ACH	4 Bids	
	09/12/2017	011 - 20170912011	Milwaukee	\$32	6.56	\$480.7	70	\$289.00	5.00000 E	ACH	8 Bids	
		008 - 20170411008	Dane	\$45	0.00	\$480.0	00	\$435.00	4.00000 E	ACH	3 Bids	
	04/11/2017	017 - 20170411017	Racine	\$38	1.37	\$429.2	29	\$335.60	8.00000 E	ACH	4 Bids	
		027 - 20170411027	Marathon	\$45	9.20	\$470.4	40	\$448.00	3.00000 E	ACH	2 Bids	

Item 🔺	Descripti	on		Aver	age	High	Low	Unit	Bid Count
	03/14/2017	014 - 20170314014	Waukesha	\$503.31	\$503.31	\$503.31	4.00000 EA	CH 5 Bids	;]
		004 - 20161213004	Monroe	\$320.00	\$330.00	\$315.00	3.00000 EA	CH 3 Bids	R.
		014 - 20161213014	Walworth	\$414.71	\$430.00	\$323.00	5.00000 EA	CH 7 Bids	
	12/13/2016	020 - 20161213020	Winnebago	\$295.00	\$295.00	\$295.00	3.00000 EA	.CH 4 Bids	
	12/10/2010	025 - 20161213025	Brown	\$295.00	\$295.00	\$295.00	3.00000 EA	.CH 1 Bid	
		027 - 20161213027	Fond Du Lac, Winnebago	\$484.52	\$511.59	\$295.00	3.00000 EA	CH 8 Bids	
						Total Quantity:	139.00000 EA	СН	

Copyright © 2019, Info Tech, Inc. All rights reserved.

wsel = 1430





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	657.0520 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

								-	
Item 🔺	Descriptio	Description		Average	Н	ligh	Low	Unit	Bid Count
657.0520	Monotube A	rms 20-FT	\$	3,549.60	\$3,68	7.00	\$3,000.00	EACH	5 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	02/12/2019	003 - 20190212003	Milwauke	e \$3,687.00	\$3,687.00	\$3,687.00	1.00000 EACH	H 4 Bids	
	12/11/2018	001 - 20181211001	Rock	\$3,000.00	\$3,000.00	\$3,000.00	2.00000 EACH	H 1 Bid	
						Total Quantity:	3.00000 EACH	ł	

-

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsel = \$3550





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

	657.0530 ☑ Smart Item Search	Date 5 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit	y Range: To:
Proposal Items:	Any	1	5
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

		1					Exp	ort (csv) Export (tab	
Item 🔺	Descriptio	n	Average		High		Low	Unit	Bid Count
657.0530	Monotube A	Arms 30-FT	\$3	,248.05	\$5,10	1.00	\$1,415.23	EACH	26 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	09/10/2019	004 - 20190910004	Racine	\$2,922.85	\$2,922.85	\$2,922.85	1.00000 EAC	H 4 Bids	
	08/13/2019	002 - 20190813002	Dane	\$2,700.00	\$3,000.00	\$2,400.00	1.00000 EAC	H 2 Bids	
	05/14/2019	017 - 20190514017	Milwaukee	\$4,741.17	\$4,855.51	\$4,684.00	4.00000 EAC	H 3 Bids	
	03/14/2017	018 - 20190514018	Milwaukee	\$1,463.49	\$1,560.00	\$1,415.23	1.00000 EAC	H 3 Bids	
	03/12/2019	064 - 20190312064	Manitowoc	\$5,101.00	\$5,101.00	\$5,101.00	1.00000 EAC	H 1 Bid	
	02/12/2019	003 - 20190212003	Milwaukee	\$4,238.00	\$4,238.00	\$4,238.00	2.00000 EAC	H 4 Bids	
		001 - 20181211001	Rock	\$3,700.00	\$3,700.00	\$3,700.00	4.00000 EAC	H 1 Bid	
	12/11/2018	011 - 20181211011	Dane	\$2,400.00	\$2,400.00	\$2,400.00	2.00000 EAC	H 2 Bids	
	12/11/2018	014 - 20181211014	Racine	\$2,962.45	\$2,962.45	\$2,962.45	2.00000 EAC	H 4 Bids	
		032 - 20181211032	Sawyer	\$3,170.50	\$3,200.00	\$3,141.00	1.00000 EAC	H 2 Bids	
						Total Quantity:	19.00000 EAC	H	

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$3250





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	657.0555 ⊠ Smart Item Search	Date 5 From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	1	5
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

							where the second s		· / 1
Item 🔺	Description	1		Average		High	Low	Unit	Bid Count
657.0555	Monotube A	rms 55-FT		\$10,880.45	\$14,300.00		\$9,692.02	EACH	7 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
		001 - 20181211001	Rock	\$14,300.00	\$14,300.00	\$14,300.00	4.00000 EACH	1 Bid	
	12/11/2018	014 - 20181211014	Racine Eau	\$9,692.03	\$9,692.06	\$9,692.02	2.00000 EACH	4 Bids	
		029 - 20181211029	Claire St Croix	t \$11,547.50	\$12,120.00	\$10,975.00	1.00000 EACH	2 Bids	
						Total Quantity:	7.00000 EACH		

-

1-

Copyright © 2019, Info Tech, Inc. All rights reserved.

W504 = \$10,880





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	657.0710 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Descriptio	n			Average	High	Low	Unit	Bid Count
657.0710	Luminaire Arms Truss Type 4 1/2-Inch Clamp 12-FT				\$315.53	\$376.00	\$255.00	EACH	15 Bids
	Letting Proposal Date		County	Proposa Average	l Proposal e High		Quantity	Proposal Bid Count	
	07/09/2019	001 - 20190709001	Rock	\$345.60	\$376.00	\$300.00	2,00000 EACH	1 5 Bids	
	07/11/2017	001 - 20170711001	Rock	\$290.00	\$290.00	\$290.00	1.00000 EACH	4 Bids	
	0//11/2017	004 - 20170711004	Dane	\$360.00	\$360.00	\$360.00	1.00000 EACH	I 3 Bids	
	12/13/2016	016 - 20161213016	Brown, Outagamie	\$255.00	\$255.00	\$255.00	2.00000 EACH	I 3 Bids	
						Total Quantity:	6.00000 EACH	[

1

7

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsel = \$320





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	657.0812 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	1 10
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

								Exp	ort (csv) Export
Item 🔺	Description	1		Averag	e	High	Low	Unit	Bid Count
657.0812	Luminaire A	Luminaire Arms Steel 12-FT			\$908.36 \$1,210.00		\$450.00	EACH	7 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	07/09/2019	001 - 20190709001	Rock	\$1,066.00	\$1,210.00	\$850.00	4.00000 EACH	5 Bids	
	12/11/2018	032 - 20181211032	Sawyer	\$514.25	\$578.50	\$450.00	1.00000 EACH	2 Bids	
						Total Quantity:	5.00000 EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

used = \$910





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

0444512004001100	659.1115 Ø Smart Item Search	Date From: 10/17/2016	Range: To: 10/17/2019
Description:	Any	Quantit From:	y Range: To:
Proposal Items:	Any	1	5
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descrip	otion		Average	Н	igh	Low	Unit	Bi	d Count
659.1115	Luminai	res Utility LED A		\$354.15	\$52	0.00	\$200.00	EACH	I 2	20 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quanti	ty	Proposal Bid Count	
	07/09/2019	001 - 20190709001	Rock	\$215.60	\$226.00	\$200.00	4.000001	EACH	5 Bids	
	12/11/2018	032 - 20181211032	Sawyer	\$333.00	\$350.00	\$316.00	3.000001	EACH	2 Bids	
	11/14/2017	031 - 20171114031	Adams, Juneau	\$398.00	\$400.00	\$394.00	2.000001	EACH	3 Bids	
	03/14/2017	035 - 20170314035	Polk	\$390.00	\$390.00	\$390.00	2.000001	EACH	6 Bids	
	11/08/2016	027 - 20161108027	Price	\$451.23	\$520.00	\$425.00	4.00000 1	EACH	4 Bids	
						Total Quantity:	15.00000 E	ACH		

1

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nsed = \$350





Wisconsin Department of Transportation Bid Tab Analysis Search

	2 	
	658.0173 Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any .	Quantity Range:
Proposal Items:	Any	11 32
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

-

Bid Tab Analysis Search

Export (csv) | Export (tab)

									Export (03	
Item 🔺	Desci	iption		Average	Hig	gh	Low	Unit	Bid	Count
658.0173	Traffic Signal Face 3S 12-Inch		ch	\$491.97	\$690.	00 \$	375.00	EACH	15	Bids
	Letting Date	Proposal	County	Proposa Average	l Proposal e High	Proposal Low	Qua	ntity	Proposal Bid Count	
	04/09/2019	016 - 20190409016	Fond Du Lac	\$525.00	\$525.00	\$525.00	12.000	00 EACH	2 Bids	
	03/12/2019	038 - 20190312038	Brown	\$485.00	\$485.00	\$485.00	12.000	00 EACH	2 Bids	
	03/12/2019	040 - 20190312040	Sheboygan	\$502.25	\$514.50	\$490.00	12.000	00 EACH	2 Bids	
	01/15/2019	022 - 20190115022	Brown	\$601.67	\$690.00	\$425.00	13.000	00 EACH	3 Bids	
	03/13/2018	029 - 20180313029	Calumet, Winnebago	\$375.00	\$375.00	\$375.00	29.000	00 EACH	2 Bids	
	12/12/2017	014 - 20171212014	Brown, Oconto	\$450.00	\$450.00	\$450.00	18.000	00 EACH	4 Bids	
						Total Quantity:	96.0000) EACH		

-

Copyright © 2019, Info Tech, Inc. All rights reserved.

N2.54 = 2200

https://www.bidx.com/wi/btasearch





Wisconsin Department of Transportation Bid Tab Analysis Search





Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
658.5069	Signal Mounting Hardware (location) 01. 15th Street	\$3,536.25	\$3,622.50	\$3,450.00	LS	2 Bids
658.5069	Signal Mounting Hardware (location) 002. USH 10 & STH 441 SB	\$1,975.00	\$1,975.00	\$1,975.00	LS	2 Bids
658.5069	Signal Mounting Hardware (location) 04. STH 125 & Lynndale	\$2,484.57	\$3,733.72	\$1,860.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 02. USH 10 & CTH AP	\$3,400.00	\$3,400.00	\$3,400.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 001. USH 41 NB & CTH B	\$1,925.00	\$1,925.00	\$1,925.00	LS	4 Bids
658.5069	Signal Mounting Hardware (location) 01. USH 10 & CTH LP	\$711.50	\$739.00	\$700.00	LS	6 Bids
658,5069	Signal Mounting Hardware (location) 05. STH 125 & Perkins	\$1,819.14	\$2,097.41	\$1,680.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 002. USH 41 SB & CTH B	\$1,425.00	\$1,425.00	\$1,425.00	LS	4 Bids
658.5069	Signal Mounting Hardware (location) 03. STH 42 & CTH J/CTH DL	\$1,910.45	\$2,000.00	\$1,895.52	LS	7 Bids
658.5069	Signal Mounting Hardware (location) 02. STH 125 & Bluemound	\$3,060.93	\$3,622.79	\$2,780.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 01. Cormier Rd & Oneida St	\$4,586.67	\$4,780.00	\$4,200.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 001. USH 10 & STH 441 NB	\$2,250.00	\$2,250.00	\$2,250.00	LS	2 Bids
658,5069	Signal Mounting Hardware (location) 03. STH 125 & Lilas	\$1,819.14	\$2,097.41	\$1,680.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 01. STH 125 & Westhill/Kools	\$1,819.14	\$2,097.41	\$1,680.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 01. USH 10 & STH 114	\$2,425.00	\$2,425.00	\$2,425.00	LS	4 Bids
658.5069	Signal Mounting Hardware (location) 01. STH 55 & STH 96	\$2,683.33	\$2,800.00	\$2,625.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 01. CTH VV & Private Driveway	\$3,500.00	\$3,500.00	\$3,500.00	LS	15 Bids
658.5069	Signal Mounting Hardware (location) 05. STH 32 and Vanderperren Way	\$1,525.00	\$1,525.00	\$1,525.00	LS	1 Bid
658.5069	Signal Mounting Hardware (location) 06. STH 32 and Hansen Road	\$1,300.00	\$1,300.00	\$1,300.00	LS	1 Bid
658.5069	Signal Mounting Hardware (location) 04. STH 32 and Pilgrim Way	\$1,250.00	\$1,250.00	\$1,250.00	LS	1 Bid
658,5069	Signal Mounting Hardware (location) 01. (STH 44 and Douglas St)	\$1,348.26	\$1,383.73	\$1,100.00	LS	8 Bids
658.5069	Signal Mounting Hardware (location) 02. USH 10 & Manitowoc	\$2,530.00	\$2,530.00	\$2,530.00	LS	4 Bids
658,5069	Signal Mounting Hardware (location) 02. STH 32 and Potts Avenue	\$1,250.00	\$1,250.00	\$1,250.00	LS	1 Bid
658.5069	Signal Mounting Hardware (location) 01. STH 42 & North Ave	\$3,694.80	\$3,727.27	\$3,500.00	LS	7 Bids
658.5069	Signal Mounting Hardware (location) 01. Oneida St & Valley Rd	\$3,700.00	\$3,700.00	\$3,700.00	LS	3 Bids
658.5069	Signal Mounting Hardware (location) 01. (STH 21 & STH 116)	\$1,009.25	\$1,030.00	\$1,000.00	LS	4 Bids
658.5069	Signal Mounting Hardware (location) 02. Cormier Rd & Holmgren Way	\$4,698.33	\$4,835.00	\$4,425.00	LS	3 Bids

Item 🔺	Description	Average	High	Low	Unit	Bid Count
658.5069	Signal Mounting Hardware (location) 01. University Ave & Webster Ave	\$3,955.00	\$3,955.00	\$3,955.00	LS	2 Bids
658.5069	Signal Mounting Hardware (location) 03. STH 32 & Cormier Rd	\$1,470.00	\$1,605.00	\$1,200.00	LS	3 Bids
658,5069	Signal Mounting Hardware (location) 01. STH 32 and Lombardi Avenue	\$1,250.00	\$1,250.00	\$1,250.00	LS	1 Bid
658.5069	Signal Mounting Hardware (location) 03. STH 32 and Cormier Road	\$1,375.00	\$1,375.00	\$1,375.00	LS	1 Bid
658.5069	Signal Mounting Hardware (location) 01. STH 23 & CTH VVV	\$3,000.00	\$3,000.00	\$3,000.00	LS	2 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

Nred = 12300





Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	690.0250 ☑ Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	Any	Quantity Range: From: To:
Proposal Items:	Any	6 17
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Desci	ription	А	verage	High	ı Le	ow Unit	Bid	Count	
690.0250	Sawin	g Concrete		\$7.24	\$35.00	\$2	.85 LF	14	Bids	
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count		
	05/14/2019	027 - 20190514027	Winnebago	\$6.48	\$10.00	\$2.95	6.00000 LF	2 Bids		
	03/13/2018	034 - 20180313034	Outagamie Waupaca	\$4.13	\$10.00	\$2.95	10.00000 LF	6 Bids		
	05/09/2017	020 - 20170509020	Fond Du Lac	\$4.64	\$10.00	\$2.85	13.00000 LF	4 Bids		
	05/09/2017	022 - 20170509022	Calumet	\$22.50	\$35.00	\$10.00	15.00000 LF	2 Bids		
						Total Quantity:	44.00000 LF			

-,

÷---

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$7.30



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

	T	tem: Any							From:	Date Range: To:	
			rt Item Search						10/17/2016	10/17/	/2019
	Descript	ion: recon	nect underdrain						Qu From:	antity Range To:	:
	Proposal Ite	ems: Any							1	10	
	Cou	nty: Any] F	rice Range:	
	U	Init: Any							Any	To: Any	
	Low Bidd	ers: Any									
									Search		Clear
						i	-14	- Nsed		Expo	ort (csv) Export (tab)
Iten	1 🔺	Descripti	on			Aver	age	High	Low	Unit	Bid Count
SPV	7.0060	Special 05.	Reconnect Underdrain	ı		\$75	0.00	\$750.00	\$750.00	EACH	1 Bid
		Letting Date	Proposal	County	•	oosal rage	Proposal High		Quantity	Proposal Bid Count	
		11/13/2018	019 - 20181113019	Manitowoc	\$7	50.00	\$750.00	\$750.00	1.00000 EACH	1 Bid	
								Total Quantity:	1.00000 EACH		

Copyright © 2019, Info Tech, Inc. All rights reserved.

10/28/2019

SPV.0060.02 & SPV.0060.03





Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation

Bid Tab Analysis Search

Storm Sewer Pipe to Existing Inlet Culvert connect "

Bid Tab Analysis Search

Item:	Any Smart Item Search	Date Range: From: To: 10/17/2016 10/17/2019
Description:	connect storm sewer	Quantity Range:
Proposal Items:	Any	1 5
County:	Any	Price Range:
Unit:	Any	From: To: Any Any
Low Bidders:	Any	
		Search Clear

Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
SPV:006) Special 001. Reconnect Storm Sewer Laterals	\$1,004.56	\$2,000.00	\$491.26	EACH_	5 Bids
SPV.006	Special 01. Connect Storm Sewer Manhole To Existing Storm Sewer Pipe	\$716.67	\$950.00	\$500.00	EACH	3 Bids
-SPV.006) Special 0003. Reconnect Storm Sewer Laterals	\$411.25	\$895.00	\$250,00	EACH	4 Bids
SPV.006	Special 001. Connect Storm Sewer to Existing Manhole	\$940.00	\$2,000.00	\$500.00	EACH	7 Bids
-SPV.006		\$1,013.13	\$1,500.00	\$350.00	EACH	
- SPV.006		\$252.61	\$471.00	\$150.00	EACH_	7-Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

WSEA = 1830





Wisconsin Department of Transportation **Bid Tab Analysis Search**

Logout

Bid Tab Analysis Search

Item:	Any ⊠ Smart Item Search	Date From: 10/17/2016	Range: ^{To:} 10/17/2019
Description:	Class HE-IV	Quantit	ty Range: To:
Proposal Items	Any	38	114
County:	Any] Price	Range:
Unit:	Any	Any	To: Any
Low Bidders:	Any		·
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
528 2414	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 14x23-Inch	\$152.96	\$295.00	\$100.00	LF	7 Bids
522.2419	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 19x30-Inch	\$118.32	\$184.00	\$66.58	LP	20 Bids
522.2424	Culvert Ripe Reinforced Concrete Horizontal Elliptical Class HE- IV 24x38-Inch	\$155.80	\$272.00	\$97.76	LF	14 Bids
522.2429	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 29x45-Inch	\$186.63	\$511.00	\$101.11	LF	13 Bids
522.2434	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 34x53-Inch	\$177.21	\$177.21	\$177.21	LF	2 Bids
523.0414	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 14x23-Inch	\$87.05	\$103.00	\$60.57	LF	22 Bids
523.0419	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 19x30-Inch	\$105.92	\$140.00	\$83.16	LF	17 Bids
523.0424	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 24x38-Inch	\$112.36	\$140.00	\$86.10	LF	30 Bids
523.0429	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 29x45-Inch	\$143.11	\$190.00	\$110.00	LF	25 Bids
523.0434	Culvert Pipe Reinforced Concrete Horizontal Elliptical Class HE- IV 34x53-Inch	\$155.00	\$167.00	\$143.00	LF	2 Bids
608.2414	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class HE-IV 14x23-Inch	\$93.63	\$150.00	\$71.82	LF	15 Bids
608.2419	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class HE-W 19x30-Inch	\$114.84	\$160.00	\$94.00	LF	17 Bids
608.2424	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class HE-IV 24x38-Inch	\$159.22	\$200.00	\$111.86	LF	4 Bids
.608.2429		\$146.61	\$224.00	\$126.77	LF	13 Bids

https://www.bidx.com/wi/btasearch

Item 🔺	Description		Avera	ige Hig	h Low	Unit (Bid Count
	Storm Sewer Pipe Reinforced Concre HE-IV 29x45-Inch	e Horizontal Elliptical C	llass				/
610.0414	Storm Sewer Pipe Reinforced Concre HE-IV 14x23 Inch	e Horizontal Elliptical C	Class \$79	.00 \$83.0	0 \$75.00	LF	2 Bids
610.0419	Storm Sewer Pipe Reinforced Concre HE-IV 19x30-Inch	e Horizontal Elliptical C	lass \$91	.62 \$104.0	0 \$79.29	LF	6 Bids
SPV.0090	Special 01. Storm Sewer Pipe Reinfor Elliptical Class HE-IV 38x60	ced Concrete Horizontal	\$231	.32 \$280.0	0 \$174.70	LF	6 Bids
SPV.0090	Special 01. Culvert Pipe Reinforced C Class HE-IV 48x76-Inch	oncrete Horizontal Ellip	tical \$470	.80 \$545.0	\$419.00	LF :	5 Bids
SPV.0090	Special 051. Storm Sewer Pipe Reinf. Class HE-IV-53x83-Inch	Concrete Horiz. Elliptic	al \$334	.76 \$350.0	\$311.80	LF 3	3 Bids
SPV.0090	Special 04. Culvert Pipe Reinforced C Class HE-IV 38x60-Inc	oncrete Horizontal Ellip	tical \$258	.02 \$509.5	4 \$153.25	THE .	5 Bids
SPV:0090	Special 02. Culvert Pipe Reinforced C Class HE-IV 87x136-Inch	oncrete Horizontal Ellip	tical	.00 \$2,730.0	0-\$2,070.00-	LF	1-Bids
SPV.0090	Special 068. Culvert Pipe Reinforced Elliptical Class HE-IV 43x68-In	Concrete Horizontal	\$310	.42 \$438.0	\$230.00	LF :	3 Bids
	tting Proposal Coun te	Proposal High	Proposal Low	Quantity	Proposa Bid Count		
05.	05/22/2018 001 - 20180522001 Kenosha, Racine \$310.42			\$230.00	48.00000 LF	3 Bids	
		F		Total Quantity:	48.00000 LF		

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsel = 1320

Bid Express® Secure Internet Bidding

 \Rightarrow

Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation **Bid Tab Analysis Search**

Bid Tab Analysis Search

Item:	Any Ø Smart Item Search	Date Range: From: To: 10/17/2016 10/1	7/2019
Description:	remove traffic signal	Quantity Rang	ge:
Proposal Items:	Any	1 2	
County:	Outagamie, Brown, Winnebago, Sheboygan, Calumet, Fond du Lac	Price Range	:
Unit:	Any	From: To: Any Any	
Low Bidders:	Any		
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Description	Average	High	Low	Unit	Bid Count
SPV.0105	Special 03. Remove Traffic Signals, Cormier Rd & Holmgren Way	\$2,553.33	\$2,580.00	\$2,500.00	LS	3 Bids
SPV.0105	Special 451. Remove Traffic Signal (USH 10 & STH 441 SB)	\$2,500.00	\$2,500.00	\$2,500.00	LS	2 Bids
SPV.0105	Special 01. Remove Traffic Signal - Lombardi	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
SPV.0105	Special 02. Remove Traffic Signal (STH 125 & Westhill/Kools)	\$2,342.15	\$4,526.46	\$1,250.00	LS	3 Bids
SPV.0105	Special 001. Remove Traffic Signal (USH 41 NB & CTH B)	\$1,500.00	\$1,500.00	\$1,500.00	LS	4 Bids
SPV.0105	Special 06. Remove Traffic Signal - Hansen	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
SPV.0105	Special 03. Remove Traffic Signal (STH 125 & Bluemound)	\$2,342.15	\$4,526.46	\$1,250.00	LS	3 Bids
SPV.0105	Special 02. Remove Traffic Signal - McCarthy	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
SPV.0105	Special 03. Remove Traffic Signal (USH 10 & Manitowoc)	\$2,500.00	\$2,500.00	\$2,500.00	LS	4 Bids
SPV.0105	Special 05. Remove Traffic Signal Vanderperren	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
SPV.0105	Special 02. Remove Traffic Signal (USH 10 & STH 114)	\$2,500.00	\$2,500.00	\$2,500.00	LS	4 Bids
SPV.0105	Special 03. Remove Traffic Signal - Cormier	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
SPV.0105	Special 05. Remove Traffic Signal (STH 125 & Lynndale)	\$2,378.72	\$4,636.15	\$1,250.00	LS	3 Bids
SPV.0105	Special 06. Remove Traffic Signal (STH 125 & Perkins)	\$2,342.15	\$4,526.46	\$1,250.00	LS	3 Bids
SPV.0105	Special 04. Remove Traffic Signal (STH 21 & STH 116)	\$2,523.50	\$2,575.00	\$2,500.00	LS	4 Bids
SPV.0105	Special 450. Remove Traffic Signal (Oneida St and Midway Rd)	\$2,500.00	\$2,500.00	\$2,500.00	LS	3 Bids
SPV.0105	Special 04. Remove Traffic Signal - Pilgrim	\$2,500.00	\$2,500.00	\$2,500.00	LS	1 Bid
SPV.0105	Special 13. Remove Traffic Signals STH 42 & CTH J / DL	\$2,169.02	\$3,500.00	\$1,947.19	LS	7 Bids
SPV.0105	Special 04. Remove Traffic Signal (STH 125 & Lilas)	\$2,342.15	\$4,526.46	\$1,250.00	LS	3 Bids
SPV.0105	Special 10. Remove Traffic Signals (Webster Avenue and University Avenue)	\$2,500.00	\$2,500.00	\$2,500.00	LS	2 Bids
SPV.0105	Special 450. Remove Traffic Signal (USH 10 & STH 441 NB)	\$2,500.00	\$2,500.00	\$2,500.00	LS	2 Bids
SPV.0105	Special 451. Remove Traffic Signals (Oneida Street & W Valley Rd)	\$2,500.00	\$2,500.00	\$2,500.00	LS	3 Bids
SPV.0105	Special 002. Remove Traffic Signal (USH 41 SB & CTH B)	\$1,500.00	\$1,500.00	\$1,500.00	LS	4 Bids
SPV.0105	Special 02. Remove Traffic Signals, Cormier Rd & Oneida St	\$3,526.67	\$4,690.00	\$1,200.00	LS	3 Bids

Copyright © 2019, Info Tech, Inc. All rights reserved.

Average = \$58019.84 24 Wred = \$2400 10/2

https://www.bidx.com/wi/btasearch

10/28/2019



Welcome alan.farrell@dot.wi.gov! Logout



Wisconsin Department of Transportation Bid Tab Analysis Search

Bid Tab Analysis Search

Item:	Any Smart Item Search	Date 1 From: 10/17/2016	Range: To: 10/17/2019
Description:	shot rock	Quantit	y Range: To:
Proposal Items:	Any	630	1890
County:	Any		Range:
Unit:	Any	From: Any	To: Any
Low Bidders:	Any	L	
		Search	Clear

Export (csv) | Export (tab)

Item 🔺	Descrip	otion		Ave	rage	High	Low	Unit	Bid Count
SPV.0035	Special (03. Shot Rock		\$	12.15	\$20.00	\$6.75	СҮ	5 Bids
	Letting Date	Proposal	County	Proposal Average	Proposal High	Proposal Low	Quantity	Proposal Bid Count	
	06/13/2017	021 - 20170613021	Iowa	\$12.15	\$20.00	\$6.75	840.00000 CY	7 5 Bids	-
						Total Quantity:	840.00000 CY	<i>t</i>	

-

i"

Copyright © 2019, Info Tech, Inc. All rights reserved.

Wsed = \$13

Estimate 1146-75-73

Estimated Cost:\$564,499.30 Contingency: 0.00% Estimated Total: \$564,499.30

Design ID 1146-75-00

Base Date: 03/09/17

Spec Year: 03 Unit System: E Work Type: Structures Highway Type: Urban/Rural Type: Season: Summer County: Outagamie Latitude of Midpoint: 0 Longitude of Midpoint: 0 District: NE Federal Project Number: State Project Number: *Prepared by user*

Estimate: 1146-75-73					WisDOT			
Line # Item Number		Quantity	<u>Units</u>	Unit Price	Extension			
<u>Description</u> Supplemental Description	n							
Supplemental Description	<u>m</u>							
Group 0090: C-44-121								
1120 203.0200		1.00	LS	\$5,000.000	\$5,000.00			
Removing Old Structure (statio								
bidx price for removing culverts 1130 206.2000	avg a \$5000	1.00	LS	\$10,000.000	\$10,000.00			
Excavation for Structures Culve	erts (structure)							
bidx price was approx \$10000- 1140 210.2500		s. 10k resp 3,020.00		\$21.500	\$64,930.00			
Backfill Structure Type B		5,020.00	TON	ψ21.000	φ0 4 ,330.00			
	for last two years.	Used prices	for bid iter	ns 210.1500 and 210.2500 since there's limited data	a			
available. Outagamie data for 210.2500 ł	nigh outlier (\$26.43),	, Oconto also	o had a hig	gh outlier (\$52.27) , so used adjusted average.				
1150 311.0115		150.00		\$23.000	\$3,450.00			
Breaker Run			a atata in	the last 2 years (limited data for surrounding as until				
	Dok average from Bi			the last 2 years (limited data for surrounding countie	·			
1160 504.0100 Concrete Masonry Culverts	Why does this a	201.00		\$502.300 sion price and the comments for	\$100,962.30			
-				based on the last 2 years of data?				
Rounded regression price 1170 505.0400		3,160.00	<u> </u>	\$0.800	\$26,528.00			
Bar Steel Reinforcement HS S	tructures							
Bid Express didn't have any da The average for similar quantit	ta available for simi	lar quantities	s in Outga	mie county.				
1180 505.0600		1,910.00		\$1.150	\$2,196.50			
Bar Steel Reinforcement HS C	oated Structures							
Rounded regression price was 1200 516.0500	used	100.00	SY	\$24.000	\$2,400.00			
Rubberized Membrane Waterp	roofing	100.00	51	\$24.000	φ2,400.00			
Average BidX price for statewide was taken for the last two years (limited data for surrounding counties).								
1210 606.0100		75.00	CY	\$56.220	\$4,216.50			
Riprap Light			•	····	•••,=•••••			
Rounded regression price used	ł		<u></u>	450.000	4 0,000,00			
1220 606.0300 Riprap Heavy		55.00	CY	\$58.600	\$3,223.00			
Rounded regression price used	1							
1230 645.0105		465.00	SY	\$2.450	\$1,139.25			
Geotextile Fabric Type C								
Out of regression, BidX price fr 1240 645.0120	om state average fo	or similar qua 130.00		\$3.000	\$390.00			
Geotextile Type HR		100.00	01	\$0.000	φ000.00			
BidX, used prices across state	for similiar quantitie							
1250 SPV.0195 Coarse Aggregate size no. 1 fo	r aon hox culvert	60.00	TON	\$60.000	\$3,600.00			
				Total for Group 0090:\$	6228,035.55			
				•				
Group 0100: C-44-122								
1260 203.0200		1.00	LS	\$5,000.000	\$5,000.00			
Removing Old Structure (statio								
bidx price for removing culverts 1270 206.2000	avg'd ~\$5000	1.00	LS	\$10,000.000	\$10,000.00			
Excavation for Structures Culve	erts (structure)	1.00	L3	φτο,000.000	φ10,000.00			
bidx price was approx \$10000-		s. 10k resp	ecively.					
12:12:02PM								
Tuesday, October 22, 2019					Page 2 of 4			

Tuesday, October 22, 2019

Estimate: 1146-75-73				WisDOT			
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	Unit Price	<u>Extension</u>			
1280 210.2500 Backfill Structure Type B	1,724.00	TON	\$21.500	\$37,066.00			
Used price for same quantity from 210.0100 to a 1290 311.0115 Breaker Run	ssemble cost 106.00		cost for 3208 cy = \$66045/6416 ton = \$10.3/ton \$23.000	\$2,438.00			
Fell out of the bid regression, looked at surrounding counties for the last 2 years. Prices were averaging around \$37 for much smaller quantities. Average for larger quantites around \$20.							
1310 504.0100	124.00		\$502.300	\$62,285.20			
Concrete Masonry Culverts	Why is the se needs to be le		00-1500 CY? The total CY on this project is 439 CY so the qua	antity range			
bidx price last 2 years for 1000-1500 cy = \$517 1320 505.0400 Bar Steel Reinforcement HS Structures	31,500.00		\$0.800	\$25,200.00			
1330 505.0600 Bar Steel Reinforcement HS Coated Structures	800.00	LB	\$1.150	\$920.00			
1340 516.0500 Rubberized Membrane Waterproofing	23.00	SY	\$24.000	\$552.00			
1350 606.0300 Riprap Heavy	18.00	CY	\$58.600	\$1,054.80			
1360 606.0400 Riprap Extra-Heavy	425.00	CY	\$60.000	\$25,500.00			
BidX average price for similar quantities across t 1370 645.0105 Geotextile Fabric Type C	he state. 365.00	SY	\$2.450	\$894.25			
1380 645.0120 Geotextile Type HR	485.00	SY	\$3.000	\$1,455.00			
			Total for Group 0100:\$172,	365.25			
Group 0110: c-44-123							
1390 203.0200 Removing Old Structure (station)	1.00	LS	\$5,000.000	\$5,000.00			
bidx price for removing culverts avg'd ~5000							
1400 206.2000 Excavation for Structures Culverts (structure)	1.00		\$10,000.000	\$10,000.00			
bidx price was approx \$10000-15000 for new bo 1410 210.2500 Backfill Structure Type B	xes. 10k resp 1,696.00		\$21.500	\$36,464.00			
Used price for same quantity from 210.0100 to a 1420 311.0115 Breaker Run	ssemble cost 200.00		cost for 3208 sy = \$66045/6416 ton = \$10.3/ton \$23.000	\$4,600.00			
Fell out of the bid regression, looked at surrounding counties for the last 2 years. Prices were averaging around \$37 for much smaller quantities. Average for larger quantites around \$20.							

Estimate: 1146-75-73				WisDOT
Line # Item Number Description Supplemental Description	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
1430 504.0100 Concrete Masonry Culverts bidx price last 2 years for 1000-1500 cy = \$517	needs to b	search for e lowered.	\$502.300 1000-1500 CY? The total CY on this project is 439 CY	
1440 505.0400 Bar Steel Reinforcement HS Structures	400.00	LB	\$0.800	\$320.00
1450 505.0600 Bar Steel Reinforcement HS Coated Structures	22,055.00	LB	\$1.150	\$25,363.25
1460 516.0500 Rubberized Membrane Waterproofing	27.00	SY	\$24.000	\$648.00
1470 606.0300 Riprap Heavy	33.00	CY	\$58.600	\$1,933.80
1475 606.0400 Riprap Extra-Heavy bidx price for similar quantities last 2 years = \$ 4	327.00 7.8 used \$48	CY	\$60.000	\$19,620.00
1480 611.0642 Inlet Covers Type MS		EACH	\$370.000	\$740.00
BidX prices from Manitowoc and Fond Du Lac co 1490 645.0105 Geotextile Fabric Type C	ounty in the la 405.00		rs, adjusted with regression price (on edge of 25%). \$2.450	\$992.25
1500 645.0120 Geotextile Type HR	385.00	SY	\$3.000	\$1,155.00

Total for Group 0110:\$164,098.50